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Q6. _________ is the synonym of "CONSENT" 
 

A. Disagreement B. Approval 

C. Fight D. Rejection 

 

Q7. _________ is the antonym of "DISAGREEMENT". 
 

A. Animosity B. Strife 

C. Refusal D. Understanding 

 

Q8. Identify the meaning of the idiom, "bump into". 
 

A. To meet someone who has met with an 

accident 

B. To meet someone by chance 

C. To accidentally push someone D. To fall because someone accidentally pushed 

you 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
The person to who Reshma sell her house is an English professor. 

 

A. who Reshma sold B. which Reshma sells 

C. whom Reshma sold D. who Reshma was selling 

 

Q10. Complete the sentence by choosing the correct verb form of the word given in brackets 
and complete the sentence. 
Last evening, we ____________ (go) to the mangroves by boat, when we found a rare 
seagull. 

 

A. were going B. went 

C. have been going D. have gone 

 

Q11. How many times has India hosted the Commonwealth games? 
 

A. Once B. Twice 

C. Three times D. Has not hosted till date 
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Q11. 1?�र/�!ल �OलK �ी /O�-?0I .?1, 0O ��,0I -?1 �ी AP? 
 

A. ए� -?1 B. .K -?1 

C. ,I0 -?1 D. ए� -?1 .I 09 K 
 

Q12. National Farmers Day is celebrated on 23rd December to commemorate the birth 
anniversary of ___________. 

 

A. Shri V. P. Singh B. Choudhary Charan Singh 

C. Shri Morarji Desai D. Shri P.V. Narasimha Rao 

Q12. 1?�रI0 ��@?0 �?=@ 23 �?@�-1 �K ___________ �ी �0�,I �O  
=@1 +1 /0?0? �?,? AP। 
 

A. ्䵦I =I +I 9 K9 B. �L/1  �1+ 9 K9 

C. ्䵦I /K1?1�I .O ?� D. ्䵦I +I.=I. 019 म⹍9? 1?= 

 

Q13. In which state of India can you find the Gulf of Mannar Marine National Park? 
 

A. Kerala B. Tamil Nadu 

C. Telangana D. Karnataka 

Q13. .?1, �O  ��@ 1?जᱍ0 /O /m0?1 �ी �?)I @/J�I 1?�रI0 �p?0 �-?, AP? 
 

A. �O 1ल B. ,9/ल0?!I  

C. ,OलK�?0? D. �0??�� 

 

Q14. Which of the following factors does NOT have any direct effect on Inflation? 
 

A. Income Potential or Money B. Production and Supply of materials 

C. Fuel Price D. Literacy rate 

Q14. �0म⹍0�ल��, /O @O ��@ �?1� �? /J�?-,ी�, +1 @I/? �.?= नही䀂 +),? AP? 
 

A.  K.?==, �0 0? +P ? B.  ?/�I �? �त⑍+?.0 �1 �+}ू,? 

C. ࠂई/0 �I �I/, D.  ?�1,? .1 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 26, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 4 of 32 

 

Q15. _____________ is the current (as on 1-December-2019) Chief justice of India. 
 

A. Shri Ranjan Gogoi B. Shri Dipak Misra 

C. Shri Sharad Arvind Bobde D. Shri Jagdish Singh Khehar 

Q15. =,-/?0 (1-�?@�-1-2019 ,�) /O _____________ .?1, �O  /J_0 m0?0?/I> Aै䠂। 
 

A. ्䵦I 1K�0 �K�K� B. ्䵦I . +� 9/्䵦? 

C. ्䵦I >1. 
1==K. -K-डO D. ्䵦I ��. > 9 K9 �O91 
 

Q16. Chaudhary Bansi Lal is best known as __________________. 
 

A. Favourite Chief Minister of Haryana B. Iron Man of Haryana 

C. Father of Haryana D. Haryana Kesari 

Q16. �L/1I -�@Iल?ल �K __________________ �O  z+ /O �?0? �?,? AP। 
 

A. 9910?+? �O  + K. .? /I_0/K्䵔I B. 9910?+? �? लL9 +Iरぁ? 

C. 9910?+? �O  =+,? D. 9910?+? �O  1  
 

Q17. When was Ambala established as a Military cantonment? 
 

A. 1811 B. 1843 

C. 1856 D. 1901 

Q17. 
�-?ल? �K @Pm0 �?=0I �O  z+ /O �- -??�+, ��0? �0? ??? 
 

A. 1811 B. 1843 

C. 1856 D. 1901 

 

Q18. Olympic medal winner, Haryana's Pride, Sakshi Malik is connected to which sport? 
 

A. Badminton B. Swimming 

C. Wrestling D. Boxing 
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Q18. �ल��+� +?� �=�O,?, Aर10?+? �ी >?0, @?�I /�ल� ��@ �Oल @O �J)I Aै䠂? 
 

A. -P!9/K�0 B. ,P1?�I 

C. �I �,I D. /I]�O -?जI 
 

Q19. Darshan Lal Jain from Haryana received the prestigious Padma Bhushan award in 2019 
for ______________ 

 

A. Technology B. Medicine 

C. Literature D. Social work 

Q19. Aर10?+? �O  ?>-0 ल?ल �P0 �K 2019 /O ______________ �O  �ल� ��,�?, +o-.K?+ +J1-�?1 �/ल?। 
 

A. ्䵚Lद♍0K���I B. .=? 

C.  ?99त⑍0 D.  ?/?��� �?0? 
 

Q20. One of the following Pradhan Mantri Rashtriya Bal Puraskar winner 2019 is from 
Haryana. Please identify. 

 

A. Kartik Kumar Goyal B. Arunima Sen 

C. Shivangi D. Dev Dushyant Kumar Joshi 

Q20. �0म⹍0�ल��, /O @O �� ‘�/?0 /�}I 1?�रI0 -?ल +J1-�?1 2019' �O  �=�O,? Aर10?+? @O AP। =K Aै䠂: 
 

A. �?},?� �I /?1 �K0ल B. 
रぁ++/?  O0 

C. 9>=?K�I D. .O= .I�0K, �I /?1 �K>I 
 

Q21. Haryana secured _________ position in medal tally, in the Khelo India Games, 2019, 
organised in Pune. 

 

A. First B. Second 

C. Third D. Fourth 

Q21. Aर10?+? 0O +J+O /O �0K��, �OलK ���!0? �Oम⹍@, 2019 /O +?� ,?�ल�? /O _________ -??0 A?�@ल ��0?। 
 

A. +9ल? B. . ू1? 

C. ,I 1? D. �L-? 
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Q22. The two major and significant industrial corridors that pass-through Haryana are DMIC 
and AKIC. While DMIC stands for Delhi Mumbai Industrial Corridor, AKIC stands for 
__________. 

 

A. Ahmedabad Kanyakumari Industrial Corridor B. Ambala Kanyakumari Industrial Corridor 

C. Amritsar Kolkata Industrial Corridor D. Aurangabad Kohima Industrial Corridor 

Q22. Aर10?+? @O �J�10O =?लO ?K �/J� �1 /Aत⑍=+K+- �pK��� ��ल0?1O DMIC �1 AKIC Aै䠂। �A?� DMIC �? /,ल- �?ल㉍लI /J�-� 
��!�-र0ल �Qर1!K1 AP �1 AKIC �? /,ल- __________ AP। 

 

A. 
9/.?-?. �m0?�I /?1  �K!�9ि0ल �I91!K1 (
9/.?-?. 

�m0?�I /?1  �द♍0K��� �9ल0?1?) 
B. 
म⹍-?ल? �m0?�I /?1  �K!�9ि0ल �I91!K1 (
K-?ल? 
�m0?�I /?1  �द♍0K��� �9ल0?1?) 

C. 
/,ृ 1 �Kल�?,? �K!�9ि0ल �I91!K1 (
/,ृ 1 �Kल�?,? 
�द♍0K��� �9ल0?1?) 

D. �1K�?-?. �K99/? �K!�9ि0ल �I91!K1 (�1K�?-?. �K99/? 
�द♍0K��� �9ल0?1?) 

 

Q23. Who is best known as "Haryana Kesari"? 
 

A. Ch Devi Lal B. Ch Bansi Lal 

C. Banwari Lal D. Pt. Neki Ram Sharma 

Q23. "Aर10?+? �O @1I" �O  0?/ @O ��@O �?0? �?,? AP? 
 

A. �L/1  .O=Iल?ल B. �L/1  -K Iल?ल 

C. -0=?1  ल?ल D. +K)!, 0O�I 1?/ >/?? 
 

Q24. The famous Haryanvi poet Dayachand Mayna was born in ________ village in Haryana. 
 

A. Dayachand B. Maina (Mayana) 

C. Bhalot D. Taimurpur 

Q24. ��@p Aर10?+=I ��= ?0?��? /00? �? �m/ Aर10?+? �O  ________ �??= /O Aु� ??। 
 

A. .0?�K. B. /P0? (/?0?0?) 

C. .?लK� D. ,P/1ू+I1 
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Q25. _____________ was honored the 'Surya Kavi' of Haryanvi music. 
 

A. Pandit Lakhmi Chand B. Uday Bhanu Hans 

C. Dayachand Mayna D. Jat Mehar Singh Dahiya 

Q25. _____________ �K Aर10?+=I @��I, �O  '@K0-��=' @O @म⹍/?�0, ��0? �0? ??। 
 

A. +K)!, ल�/I �K. B. �.0 .?0I 9K  

C. .0?�K. /00? D. �?� /O91 9 K9 .990? 
 

Q26. Which of the following river does not go through Haryana? 
 

A. Sarsuti B. Kaushalya 

C. Ganga D. Yamuna 

Q26. �0म⹍0�ल��, /O @O �L0 @I 0?I Aर10?+? @O AK�1 नही䀂 �?,I AP? 
 

A.  1 I,I B. �L>ल㉍0? 

C. �K�? D. 0/I0? 
 

Q27. Which is the largest natural lake in Haryana? 
 

A. Surajkund B. Sukhna 

C. Damdama D. Tilyar 

Q27. Aर10?+? �ी @-@O -)I �?�L �,� �Iल �L0 @I AP? 
 

A.  1ू��IK ! B.  I�0? 

C. ././? D. },ल0?1 
 

Q28. __________ is present between Haryana, Punjab and Himachal Pradesh 
 

A. Aravalli Range B. Shivalik Range 

C. Morni Hills D. Tipra Hills 

 

 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 26, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 8 of 32 

 

Q28. __________ Aर10?+?, +��?- �1 �A/?�ल �?O> �O  -I� �-?, AP। 
 

A. 
1?=ल  1े䜂� B. 9>=?9ल� 1े䜂� 

C. /K10I 99ल㉍  D. 9�+1? 99ल㉍  

 

Q29. How many seats are there in the current Haryana Legislative Assembly? 
 

A. 150 B. 90 

C. 105 D. 95 

Q29. =,-/?0 Aर10?+? �=/?0 @.? /O �J ल ��,0I @I�O Aै䠂? 
 

A. 150 B. 90 

C. 105 D. 95 

 

Q30. Childcare institutes run by state government in Haryana are renamed as ___________. 
 

A. Jagannath Ashram B. Bachpan Ashram 

C. Nutrition Centre D. Indira Ashram 

Q30. Aर10?+? /O 1?जᱍ0 @1�?1 ्䵛?1? @��?�ल, -?ल ?O�.?ल @�-??0K �? 0?/ -?ल�1 ___________ 1�? �0? AP। 
 

A. ��m0?- �्䵦/ B. -चᩍ�0 �्䵦/ 

C. +K?+ �े䜂 ्䵖 D. �K9.1? �्䵦/ 

 

Q31. Which of the following is a major Kharif crop grown in Haryana? 
 

A. Wheat B. Methi 

C. linseed D. Groundnut 

Q31. Aर10?+? /O �1I, �ी �/J� ,@ल �L0 @I AP? 
 

A. �O9ूK B. /O-I 

C. 
ल I �? -I� D. /ूK�,ल  
 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 26, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 9 of 32 

 

Q32. Which of the following soil types is NOT found in Haryana? 
 

A. Mountain soil B. Alluvial soil 

C. Red soil D. Black soil 

Q32. �0म⹍0�ल��, /O @O �L0 @I �/्䴾I Aर10?+? /O नही䀂 +?� �?,I AP? 
 

A. +=?, �I 9/टὍ�  B. ��?1 �I 9/टὍ�  

C. ल?ल 9/टὍ�  D. �?ल  9/टὍ�  
 

Q33. The famous Kurukshetra War (Mahabharat) was fought for the throne of ____________. 
 

A. Indraprastha B. Hastinapur 

C. Gandhar D. Yadu 

Q33. ��@p �J y�O} 0Jp (/A?.?1,) ____________ �O  �@�A?@0 �O  �ल� ल)? �0? ??। 
 

A. �K्䵖्䵚9- B. 9�9,0?+I1 

C. �K/?1 D. 0.I 
 

Q34. Haryanvi is a dialect of ________ Language 
 

A. Hindi B. Punjabi 

C. Gurmukhi D. Rajasthani 

Q34. Aर10?+=I ________ .??? �ी �� -KलI AP 
 

A. 99K.  B. +K�?-I 

C. �I1/I�I D. 1?�9-?0I 
 

Q35. Who is the leader of opposition in the present (as on 1-December-2019) Haryana 
legislative assembly? 

 

A. Shri Manohar Lal Khattar B. Shri Gian Chand Gupta 

C. Shri Bhupinder Singh Hooda D. Shri R. K. Nandal 
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Q35. =,-/?0 /O (1-�?@�-1-2019 ,�) Aर10?+? �=/?0@.? /O �=+� �O  0O,? �0म⹍0 /O @O �L0 Aै䠂? 
 

A. ्䵦I /0K91 ल?ल �टὍ�1 B. ्䵦I _?0 �K. �Io,? 

C. ्䵦I .+ूOm्䵖 9 K9 9Iड⅍!? D. ्䵦I �1.�O . 0K.ल 

 

Q36. What are the advantages of accessibility features in computers? 
 

A. Computer becomes very cost effective B. People with limited ability can use computers 

C. Computer becomes accessible for poor D. Computer works on its own 

Q36. �� प⩍0K�1 /O �]@O�@�-�ल�I ,ी�1 �O  ]0? ,?0?O Aै䠂? 
 

A. �K o0�ू1 -9I, ल?�, ्䵚.?=I 9K �?,? 9P। B.  I9/, �/,? =?लO लK� �K o0�ू1 �? �+0K� �1  �,O 9ै䠂। 

C. �K o0�ू1 �1 -ो䬂 �O  9लए  Iल. 9K �?,? 9P। D. �K o0�ू1 
+0O �+ �?/ �1,? 9P। 
 

Q37. Which of the following is a Command Line-Operating System? 
 

A. Windows 7 B. Windows 2000 

C. Unix D. IOS 10 

Q37. �0म⹍0�ल��, /O @O �L0 �� �/?�! ल?�0-�+1O���� �@-�/ AP? 
 

A. ==K!K� 7 B. ==K!K� 2000 

C. 0}ू0]  D. IOS 10 

 

Q38. USB refers to______________ 
 

A. a serial bus B. a processor 

C. a port type D. a storage device 

Q38. USB ______________ �K @�?�.-, �1,? AP 
 

A. ए�  I910ल -  B. ए� ्䵚K O 1 

C. ए� +K�? D. ए� 9�K1O� )!=?�  
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Q39. A __________ is a network security device designed to prevent unauthorized access to or 
from a private network 

 

A. Firewall B. Internet cable 

C. Repeater D. Modem 

Q39. ________ �� 0O�=�-  @J1�? �+�1+ AP ��@O ��@I �0�I 0O�=�-  @O 
0�/�L , +Aु?� �K 1K�0O �O  �ल� �!�?�0 ��0? �0? AP। 
 

A. फ?01=Iल B. �K�10O� �O -ल 

C. 91+I�1 D. /K!/ 

 

Q40. Pick the odd one out. 
Dispur, Itanagar, Shillong, Kohima, Dehradun 

 

A. Dispur B. Itanagar 

C. Kohima D. Dehradun 

Q40. �.m0 �K �J0O: 
�?@+J1, ��?0�1, �>ल?��, �K�A/?, ?OA1??K0 

 

A. 9. +I1 B. ��?0�1 

C. �K99/? D. .O91?.0ू 

 

Q41. ASPECT : TCPESA :: BEAUTY : ? 
 

A. YATEUB B. YTUABE 

C. YTAUEB D. YTUAEB 

Q41. ASPECT : TCPESA :: BEAUTY : ? 
 

A. YATEUB B. YTUABE 

C. YTAUEB D. YTUAEB 

 

Q42. Complete the series given below. 
Y, U, Q, M, _________ 

 

A. I B. N 

C. J D. H 
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Q42. �0म⹍0�ल��, श㙍L��ल? �K +K1? �1O: 
Y, U, Q, M,__________ 

 

A. I B. N 

C. J D. H 

 

Q43. If DOLPHIN is coded as NIHPLOE, how will WHALE be coded? 
 

A. ELAHW B. ELAHX 

C. ELAHV D. ELAHY 

Q43. ��@I @?��O �,� .??? /O 0�? DOLPHIN @O NIHPLOE -0,? AK ,K, WHALE @O ]0? -0O�?? 
 

A. ELAHW B. ELAHX 

C. ELAHV D. ELAHY 

 

Q44. Simplify: 

 
 

A. 12 B. 2 

C. 0 D. 4 

Q44. @1ल �ी���: 

 
 

A. 12 B. 2 

C. 0 D. 4 

 

Q45. A person sold a clock at Rs. 460 to earn 15% profit. What was his cost price? 
 

A. Rs. 391 B. Rs. 400 

C. Rs. 415 D. Rs. 385 
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Q45. �� }0�ि 0O 15% ल?. �/?0O �O  �ल� ��  )I 460 y+0O /O -O�I। �@�ी ल?�, /Kल㉍0 ]0? ?I? 
 

A. 391 रぁ+0O B. 400 रぁ+0O 

C. 415 रぁ+0O D. 385 रぁ+0O 
 

Q46. Calculate the interest Roshan will earn in 5 months, if he has lent a sum of Rs. 50,000 as 
loan to Radhika at 15% per year rate of interest. 

 

A. Rs. 7,500 B. Rs. 3,125 

C. Rs. 7,550 D. Rs. 625 

Q46. 1K>0 0O 1?�/�? �K �+ �O  z+ /O 50,000 y+0O १५% ��, =?- �ी बⱍ0?� ?1 +1 �/?1 �?0? AP। 1K>0 0O 5 /AI0O /O ��,0? बⱍ0?� 
�/?0? �@�ी �+0? �1O। 

 

A. 7,500 रぁ+0O B. 3,125 रぁ+0O 

C. 7,550 रぁ+0O D. 625 रぁ+0O 
 

Q47. In a classroom, the ratio between girls and boys is 2:5 and the total number of students is 
14. Find the number of girls and boys. 

 

A. 6 girls, 8 boys B. 2 girls, 12 boys 

C. 4 girls, 10 boys D. 5 girls, 9 boys 

Q47. �� ��? /O, ल)��0K �1 ल)�K �O  -I� �? 
0J+?, 2: 5 AP �1 �?}K �ी �J ल @�_0? 14 Aै䠂. ल)��0K �1 ल)�K �ी @�_0? 
्䵅/>� _________ AK�I। 

 

A. 6 लड��0?K, 8 लड�O  B. 2 लड��0?K, 12 लड�O  

C. 4 लड��0?K, 10 लड�O  D. 5 लड��0?K, 9 लड�O  
 

Q48. In SI System, the unit of measurement for distance is ____________ 
 

A. Foot B. Yard 

C. Miles D. Meter 
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Q48. SI �+?लI /O, ?K1I �O  �ल� /?+ �ी ��?� _____________ AP। 
 

A. ,I � B. 0?!? 

C. /?�ल㉍  D. /I�1 
 

Q49. Chemical formula for Boric acid is _____________ 
 

A. 3HBO3 B. H2BO4 

C. H3BO3 D. 2(BOH)3 

Q49. _____________ -Kर1� ��@! �O  �ल� 1?@?0�0� @K} AP। 
 

A. 3HBO3 B. H2BO4 

C. H3BO3 D. 2(BOH)3 

 

Q50. In plants, _____________ helps in Protein Synthesis. 
 

A. Mitochondria B. Ribosomes 

C. Dictyosomes D. Lysosomes 

Q50. +L/K /O, _____________ �K�I0 @�्䵨O?+ /O /?? �1,? AP। 
 

A. /?��K�I�mि0? B. 1?�-K K/ 

C. )!9�K K/O  D. ल?� K K/ 

 

Q51. Which of the following is NOT an example of fixed cost? 
 

A. Rent payments B. Utilities 

C. Cost of raw materials D. Insurance 

Q51. �0म⹍0 /O @O �L0@? �,]-! �Q-� (�0�ि, ल?�,) �? �??A1+ 0Aी䀂 AP? 
 

A. ��1?0? .I�,?0 B. �+0K��,?एK 

C. �चᩍ�O /?ल �I ल?�, D. -I/? 
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Q52. An entity, usually a government grants a concession to a private company to finance, build 
and operate a project. The company operates the project for a period of time (generally 20 
- 30 years) with the goal of recouping its investment, and then transfers control of the 
project to the government. Which type of contract is this? 

 

A. Turnkey project B. Design and Build project 

C. Build Operate Transfer D. Build Operate Own Transfer 

Q52. �� 
�-,त⑍=, 
�/�,1 @1�?1 �� �0�I �� +0I �K ��ल㉍+ �O  �ल� ��?-, �0/?-+ �1 @��?ल0 �O  �ल� र10?0, ?O,? AP| �� +0I �@ 

��ल㉍+ �K �� �?ल?=�/ (@?/?m0,: 20-30 @?ल) �O  �ल� �ल?,I AP, �@ �oO�0 @O �� �@�? �0=O> =?�+@ +? लO �1 �,1 ��ल㉍+ 
�? �00�}+ @1�?1 �K @ौ䰂+,I AP| 0A ��@ ��?1 �? 
0J-�/ AP? 

 

A. �0?�I ्䵚�ल㉍+ B. )!�?�0 �1 }0/??+ ्䵚�ल㉍+ 

C. }0/??+  K�?ल0 99,?K,1+ D. }0/??+  K�?ल0 9=?9/त⑍= 99,?K,1+ 

 

Q53. Which type of economy maintains private ownership and control of most of the means of 
production, but often under government regulation? 

 

A. Socialism B. Mixed economy 

C. Market economy D. Command economy 

Q53. ��@ ��?1 �ी 
?-}0=-?? �0�I -=?�/त⑍= 1�,I AP �1 �त⑍+??0 �O  
�/�,1 �र1� �00�}+, लO��0 
�/�,1 @1�?1I �00/0 �O  

�/0 1�,I AP| 

 

A.  /?�=?. B. 9/्䵦 
-?}0=9-? 

C. -?�?1 
-?}0=9-? D. >?9 , 
-?}0=9-? 
 

Q54. MS Swaminathan is regarded as the father of _____________ in India. 
 

A. Pink revolution B. Induced breeding 

C. White revolution D. Green revolution 

Q54. �/. �@. -=?/I0??0 �K .?1, /O _______ �? �+,? /?0? �?,? AP| 
 

A. �Iल?-I कᕍ?K}, B. ्䵚O91, ्䵚�00 

C.  ,O . कᕍ?K}, D. 991, कᕍ?K}, 
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Q55. If you purchase 100 shares of Reliance and sell them later before market closes then you 
have ____________ your buy position. 

 

A. traded B. squared off 

C. booked D. crashed by 

Q55. 0�? �+0O र1ल?0�@ �O  100 >O01 �1I?O �1 -?? /O -?�?1 -�? AK0O @O +AलO -O� �?� ,K �+0O �+�ी -?0 +K��>0 (�1I? �-?�,) 

________ �ी AP| 
 

A. िO!O! B. 9]=O!? ऑ, 

C. -I]! D. कᕍP �! -?0 

 

Q56. Which type of tax will be charged when an individual sells stocks? 
 

A. Income Tax B. Estate Tax 

C. Entitlement Tax D. Capital Gains Tax 

Q56. 0�? }0�ि -�Q]@ -O�,? AP ,K �L0@O ��?1 �? �1 ल?�K AK�?? 
 

A. �0�1 B.  K+=ि �1 

C. 9�.?1  �1 D. �P =+�ल �Om  (+ूK�I�, ल?.) �1 
 

Q57. Which type of audit is performed by Certified Public Accounting (CPA) firms? 
 

A. Internal audit B. External audit 

C. Internal Revenue Service (IRS) Audits D. External Revenue Service (ERS) Audits 

Q57. �L0@O ��?1 �? लO�? @��-,?�! +�बⱍल� 
�?��m�m� (�/?�+, @?=-��0� लO�?) (CPA) ,/-@ ्䵛?1? ��0? �?,? AP? 
 

A. �K,91� लO�? B. -?91  लO�? 

C. �K,91� 1?�9=  O=? (IRS) लO�? D. -?91  1?�9=  O=? (ERS) लO�? 
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Q58. There are certain important sampling techniques that can be adopted by an auditor. If in a 
payroll sample the auditor divide the sample in full-time working males, full-time working 
females, part-time working females, and part-time working females thus working out the 
percentage of sections in the population. 
Which audit sampling technique is referred here? 

 

A. Stratified Sampling B. Systematic Sampling 

C. Block Sampling D. Judgement 

Q58. �K � /Aत⑍=+K+- @Pम⹍+�लm� �O�]0]@ (0/K0? ,�0I�) AK,I AP ��@O लO�? +1I�� ्䵛?1? 
+0?0? �?,? AP| 0�? +O1Kल 0/K0O /O लO�? +1I�� 0O 
0/K0O �K +K+- �?ल �?/ �10O=?लO +Jy?, +K+- �?ल �?/ �10O=?लI /�Aल?�?, 
/- �?ल �?/ �10O=?लI /�Aल?�? �1 
/- �?ल �?/ 

�10O=?लO +Jy?K /O �=.?��, ��0? �1 �@ ,1A @O लK�@�_0? �O  �=.?� �? ��,>, �0�?ल?| 
0A?? +1 �L0 @O लO�? 0/K0? ,�0I� �K @�?�.-, ��0? AP? 

 

A. 9िP9�,?�!  Pम⹍+9लm� B. 9 9�O/P9��  Pम⹍+9लm� 

C. बⱍलI�  Pम⹍+9लm� D. ��/Om� 

 

Q59. Under the New/Revised Standards (Auditing, Review and Others), which of the following 
segments specifies about "Audit Conclusions and Reporting"? 

 

A. 200-299 B. 300-499 

C. 500-599 D. 700-799 

Q59. 0�/ @�>K�/, /?0�K (लO�?, @/I�? �1 
m0) �O  ,A, �0म⹍0 /O @O �L0@? �A-@?, "लO�? �0��?- �1 र1+K��?�" �K �0�?-� �1,? AP? 
 

A. 200-299 B. 300-499 

C. 500-599 D. 700-799 

 

Q60. A company produces bricks used in the construction of houses. The accountant will use 
which type of costing method for this type of production? 

 

A. Job costing method B. Process costing method 

C. Activity costing method D. Direct costing method 
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Q60. �� �� +0I �LA �0/?-+ �?0- /O ल�0O=?लI � ��K �? �त⑍+??0 �1,I AP| �@ ��?1 �O  �त⑍+??0 �O  �ल� लO�0I� �L0@O ��?1 �? �Q�-��� 
,1I�? �0K� �1O�?? 

 

A. �I- �I�9�K� (�?/ ल?�, /लू㉍0) ,1 �? B. ्䵚K O  �I�9�K� (्䵚�कᕍ0? ल?�, /लू㉍0) ,1 �? 

C. ए�]�==�  �I�9�K� (�},==/I ल?�, /लू㉍0) ,1 �? D. !?01O]� �I�9�K� (्䵚त⑍0� ल?�, /लू㉍0) ,1 �? 
 

Q61. Sushant runs a small toy manufacturing unit. The auditor is determining the direct labour 
costsin his business. 
Which of the following is NOT added while calculating the total direct labour costs? 

 

A. Factory overheads B. Wages 

C. Payroll taxes D. Pension and insurance 

Q61. @J>?�, ��लL0O -0?0O �? �K�? �त⑍+??0 ��?� �ल?,? AP| लO�0I� 0O �@�O  }0=@?0 �O  �ल� �त⑍0� श㙍/ ल?�, �0/?-र1, �ी| 
�J ल �त⑍0� श㙍/ ल?�, �ी ��0,I �1,O @/0 �0म⹍0 /O @O �L0@? नही䀂 �K!? �?��?| 

 

A. ,P ]�1  �=19O!  B. =O,0 

C. +O1Kल �1 D. }0=िृI =O,0 �1 -I/? 
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Q62. Match the valuation ratio with its indication. 

 
 

A. 1-A, 2-D, 3-C, 4-B B. 1-B, 2-C, 3-D, 4-A 

C. 1-C, 2-A, 3-B, 4-D D. 1-D, 2-C, 3-A, 4-B 
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Q62. /Kल㉍0?��0 
0J+?, �K �@�O  @��O , @O �/ल?�| 

 
 

A. 1-A, 2-D, 3-C, 4-B B. 1-B, 2-C, 3-D, 4-A 

C. 1-C, 2-A, 3-B, 4-D D. 1-D, 2-C, 3-A, 4-B 

 

Q63. The 4Ps make up a typical marketing mix: 
(1) Price 
(2) Product 
(3) Promotion 
(4) ? 
Which is the fourth P in the list given above? 

 

A. Profit B. Preferred Stock 

C. Policy D. Place 
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Q63. 4P �/ल�1 �=�>� �=++0 �/श㙍+ -0?,O AP: 
(1) �?�@ (�ी/,) 
(2) �Q!]� (�त⑍+??) 
(3) �/K>0 (@�=/-0) 
(4) ? 

�+1Kि @K�� /O �L?? P ]0? AP? 
 

A. ल?. B. =्䵚,!? 9�I� 

C. 0I}, D. oलO  (��9) 

 

Q64. Which amongst the following four controllable variable of marketing mix deals with 
physical attributes of the product and the benefits associated with use of that product? 

 

A. Product Mix B. Pricing Mix 

C. Promotion Mix D. Channel Mix 

Q64. �=++0 �/श㙍 +र1=,-0>Iल �O  �0म⹍0 �?1 �00�}� /O @O �L0@? �त⑍+?? �ी .L�,� �=>O?,?�? �1 �@ �त⑍+?? �O  �0K� @O @�-��/, ल?. �O  
@?? }0=A?1 �1,? AP? 

 

A. ्䵚I!]� 9/]  (�त⑍+?. 9/्䵦+) B. ्䵚?�9 K� 9/]  (�I/, 9/्䵦+) 

C. ्䵚/K>0 9/]  ( K=/?0 9/्䵦+) D. �P0Oल 9/]  (�P0ल 9/्䵦+) 

 

Q65. In the new Product Development cycle, which phase follows after Idea Generation, Idea 
Screening and Concept Development? 

 

A. Business Strategy Development B. Market Share Analysis 

C. Product Development D. Test Marketing 

Q65. 00? �त⑍+?? �=�@0 �्䵅 /O, �L0@O �1+ /O �ल㉍+0? @L�0, �ल㉍+0? -्䵅ी�0�� �1 @��ल㉍+0? �=�@0 AK,? AP? 
 

A. }0= ?0 1+0I}, ==� 0 B. -?�?1 >O01 ==�लO?+ 

C. �त⑍+?. ==� 0 D. -?�?1 +1 �+ 
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Q66. Dependra seeks to save Income Tax under Section 80C. He has a housing loan, what is the 
maximum deduction that Dependracan claim under section 80C of the Income Tax Act for 
housing loan repayment? 

 

A. Up to 1 lakh B. Up to 1.5 lakhs 

C. Up to 1.75 lakhs D. Up to 2 lakhs 

Q66. ?I+O� /?1? 80C �O  ,A, �0�1 -�?0? �?A,? AP| �@�O  +?@ �=?@I0 �+ AP ,K ?I+O� �=?@I0 �+ .J,�?0 �O  �ल� /?1? 80C 

�O  ,A, ��,0I 
�/�,/ �K � �0�1 @O +? @�,? AP? 
 

A. 1 ल?� ,� B. 1.5 ल?� ,� 

C. 1.75 ल?� ,� D. 2 ल?� ,� 

 

Q67. Organisations that come under EPF Act, 12 percent of an employee's basic salary and 
dearness allowance has to be invested in Employees provident Fund (EPF) and the 
employer needs to invest an equal sum.The contribution deducted from the employee's 
account is exempted from Income Tax up to Rs 1.5 lakh. This deduction is provided under 
section ____ of the Income Tax Act. 

 

A. 80C B. 80E 

C. 80D D. 87A 

Q67. EPF 
�/�00/, �O  ,A, �0O=?लO @�� 0K �K �0�O  �/-�?र10K �O  /Kल =O,0 �? 12 ��,>, �1 /A��?� .m?, �/-�?1I .�=�0�0/I 
(EPF) /O �0=O> �1,? +!,? AP �1 �/-�?1I �K .I �,0I AI 1�/ �0=O> �10I +!,I AP| �/-�?1I �O  �?,O @O �ल0? �0? 0K�??0 �K 
�0�1 @O Rs 1.5 ल?� ,� �ी �K � AP| 0A ��L,I �0�1 
�/�00/ �ी /?1? ________ �O  ,A, �??0 �ी �� AP| 

 

A. 80C B. 80E 

C. 80D D. 87A 

 

Q68. For salaried individuals and pensioners, the Medical Insurance Deduction for senior 
citizen parents, can be claimed up to Rs. _____ for FY 2019-20. 

 

A. 45000 B. 20000 

C. 25000 D. 50000 
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Q68. =O,0/?1I }0�ि �1 =L�m/?1�K �O  �ल�, =र1? 0?�र1� /?,?�+,?� � �O  �ल� ����त⑍@? -I/? ��L,I, �? ??=? FY 2019-20 �O  
�ल� Rs. _________ ,� ��0? �? @�,? AP| 

 

A. 45000 B. 20000 

C. 25000 D. 50000 

 

Q69. Observe the given stem-leaf plot. 

 
In the given stem-and-leaf display diagram, what do you infer about the values in the 
3rd row? 

 

A. The original values in the list will be 31, 37 and 

39 

B. The original values in the list will be any 3 

values between 31 and 39 

C. The original values in the list will have nine 

numbers ranging from 31to 39 

D. The original values in the list will have five 

numbers ranging from 30 to 39 
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Q69. ,0?-+mI �? ��} o0?0+K=-� ?O�O| 

 
�@ ,0?-+mI @�1O� /O, 3rd +��ि �? /Kल㉍0 ]0? AK�? �@? �+�? 
0J/?0 AP? 

 

A.  �ू� /े䜂 /लू /लू㉍0 9K�? 31, 37 �1 39 B.  �ू� /े䜂 /लू /लू㉍0 31 �1 39 �O  -I� �? �K� .I 3 /लू㉍0 

9K�? 

C.  �ू� /े䜂 /लू /लू㉍0 31  O 39 ,� �I 0L  K_0?एK 9ो䬂�I D.  �ू� /े䜂 /लू /लू㉍0 30  O 39 ,� �I +?K�  K_0?एK 9ो䬂�I 
 

Q70. __________ preference shares has a maturity date on which date the company will repay 
the capital amount to the preference shareholders and discontinue the dividend payment. 

 

A. Redeemable Preference Shares B. Convertible Preference Shares 

C. Accumulating Preference Shares D. Participating Preference Shares 

Q70. ___________ �O,1m@ >O0@- �ी /Pचᩍ0Jर1�I ,?1I� AK,I AP ��@ ,?1I� +1 �� +0I +K?�I 1�/ �O,1m@ .?�/?1�K �K लL�?��I �1 
ल?.?�> .J�,?0 -�? �1O�I| 

 

A. 91!I/O-ल ्䵚O,1m  >O0 ? B. �m=9�?-ल ्䵚O,1m  >O0 ? 

C. ए]0Iम⹍0IलO9�K� ्䵚O,1m  >O0 ? D. +?9�?9 +O9�K� ्䵚O,1m  >O0 ? 
 

Q71. __________ _______ system uses quantitative cost data that can be measured in monitory 
terms. 

 

A. Cost accounting B. Managerial accounting 

C. Advanced accounting D. Public accounting 
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Q71. __________ _________ �+?लI ]=?�m��O��= �Q-� !O�? (/?}?त⑍/� ल?�, !O�?) �? �0K� �1,I AP ��@O �=mI0 �ल0 /O 
��0? �? @�,? AP| 

 

A. �I9� 
�?�K 9�K� B. /P0O�O910ल 
�?�K 9�K� 

C. ए!=?m9! 
�?�K 9�K� D. +�बⱍल� 
�?�K 9�K� 

 

Q72. Surya works for Abhigyam Ltd. His annual salary is Rs. 7 lakhs. Sujatha is entitled to 6% 
of the company's profits, if the profits exceed 15 lakhs per annum. What can you say about 
Surya's position in the company? 

 

A. Surya is a partner in Abhigyam Ltd. B. Surya is not a partner in Abhigyam Ltd. 

C. The employment contract of Surya with 

Abhigyam Ltd. is not a valid one. 

D. Surya is a director of Abhigyam Ltd. 

Q72. @K0?- 
�._0?/ �ल. �O  �ल� �?/ �1,? AP| �@�? =?�?-� =O,0 Rs. 7 ल?� AP| @J�?,? �K �� +0I �O  ल?. @O 6% �/ल @�,? AP 0�? 
ल?. ��, =?- 15 ल?� @O 
�/� AK�?| @K0?- �ी �� +0I /O �-?�, �O  -?1O /O �+ ]0? �A @�,O AP? 

 

A.  0ू?? 
9._0?/ 9ल. /े䜂  ?�O.?1 9P| B.  0ू?? 
9._0?/ 9ल /े䜂  ?�O.?1 09 K 9P| 

C.  0ू?? �? 
9._0?/ 9ल. �O   ?- 0L�1  
0I-K/ =P/ 09 K 9P| D.  0ू?? 
9._0?/ 9ल. �? }0.O>� 9P| 
 

Q73. You have 400 oranges. Out of these 400 oranges, you decide to sell 150 oranges. To sell 
these 150 oranges, you will need to separate them from the 400 (larger set). Thus you 
specify 150 oranges from a larger group of unspecified oranges. These 150 oranges are 
now the __________ goods. 

 

A. Unascertained B. Ascertained 

C. Specific D. Contingent 

Q73. �+�O  +?@ 400 @�,1O AP| �0 400 @�,1K /O @O �+0O 150 @�,1O -O�0? ,0 ��0?| �0 150 @�,1K �K -O�0O �O  �ल� �+�K �mAO 
400 @�,1K @O (-!I @�_0?) @O 
ल� �10? +!O�?| 0?�0 �� �+�K 150 @�,1K �K -!O 
�0�?-� �J� @O �0�?-� �10? AK�?| 0A 150 

@�,1O 
- _________ /?ल AP| 
 

A.  B.  

C.  D.  
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Q74. Among 25 investment options, your option, which is Scheme B, is the third best 
investment option according to a survey. That means your investment option Scheme B is 
at the _________. 

 

A. 60th percentile B. 25th percentile 

C. 80th percentile D. 75th percentile 

Q74. 25 �0=O> �=�ल㉍+K @O, �+�? �=�ल㉍+, �K �� 0K�0? B AP, 0A @=O�+ �O  
0J@?1 ,I@1? @=Km/ �=�ल㉍+ AP| �@�? /,ल- AP �� 

�+�? �0=O> �=�ल㉍+ 0K�0? B _________ +1 AP| 
 

A. 60th + ेm�?�ल (्䵚},>,�) B. 25th + ेm�?�ल (्䵚},>,�) 

C. 80th + ेm�?�ल (्䵚},>,�) D. 75th + ेm�?�ल (्䵚},>,�) 

 

Q75. The number of trees in each avenue is: 
4.5, 6.5, 3.5, 5, 2.5, 10.5, 12, 8.5, 1.5, 5.5 
Calculate the Standard Deviation. 

 

A. 2.74 B. 3.24 

C. 5.02 D. 10.5 

Q75. A1 /?�- +1 +O!K �ी @�_0? AP: 
4.5, 6.5, 3.5, 5, 2.5, 10.5, 12, 8.5, 1.5, 5.5 

-�?!!- �!�=�>0 (/?0� �=�ल0) ��0O| 
 

A. 2.74 B. 3.24 

C. 5.02 D. 10.5 

 

Q76. What is Cash Reserve Ratio (CRR)? 
 

A. Is the mandatory fraction of the banks' total 

demand and time deposits to be maintained in the 

form of specified liquid assets. 

B. Is the ratio of money held by the public in 

currency to that they hold in bank deposits. 

C. Is the deposits that banks must maintain with 

the RBI. 

D. Is the proportion of the total deposits 

commercial banks keeps as reserveseither in cash 

or as deposits with the central bank. 
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Q76. �P > र1�=- 1O�>0K (�1��, 0�?I �0�/ 
0J+?,) (CRR) ]0? AP? 
 

A. � �? /,ल- 9P -ै䠂� �O  �I ल /?K� �1 
=�/ !O+I�जटὍ 

(}0�O+) �? 
K>, 9+O9 ,?�! 9ल�]=! 
 OटὍ  (}09.?�� ,1ल 

 K+=ि) �O  रぁ+ /े䜂 -0?ए 1�0?, 
}0=?0? 9P 

B. � �? /,ल- 9P �0,? �O  +?  ��,0? 0�. 9P � �O  
0I+?, 

/े䜂 �0�? +P ? -ै䠂� !O+I�जटὍ /े䜂 ल�? 9P| 

C. � �? /,ल- 9P -ै䠂�ो䬂 �K �K !O+I�जटὍ RBI �O  +?  -0?ए 

1�0O 9K,O 9P| 
D. � �? /,ल- 9P }0?+?1  -ै䠂� ��,0? �I ल !O+I�जटὍ 91�=? �O  
,L1 +1 0�.  /े䜂 0? !O+I�जटὍ �O  ,L1 +1 �े䜂 ्䵖 0 -ै䠂� /े䜂 � �? 

0I+?, 9P| 

 

Q77. The rate at which the Reserve Bank of India (RBI)lends money to commercial banks is 
called _______. 

 

A. Repo Rate B. Reverse Repo Rate 

C. Marginal Standing Facility Rate D. Bank Rate 

Q77. र1�=- -ै䠂� �, ��!I0? (RBI) ��1 ?1 @O }0?+?1I -ै䠂�K �K ��?- ?O,I AP �@O �A,O AP ________| 
 

A. 1O+K .1 B. 91= ? 1O+K .1 

C. /?��?0ल 9�K)! K� ,P 9 9ल�  .1 D. -ै䠂� .1 
 

Q78. A system to reduce the number of credit checks on financial transaction is known as 
___________. 

 

A. Adjustment Credit B. Amortization 

C. Credit Check D. Credit Netting 

Q78. �=mI0 }0=A?1 /O ्䵅O !I� �??� �ी @�_0?  �?0O �O  �ल� �K �+?लI AP �@O �A,O AP ________| 
 

A. 
!�9�/Om� कᕍO !I� B. 
/19�जO>0 

C. कᕍO !I� �O� (�?K�) D. कᕍO !I� 0O9�K� 

 

Q79. Which type of assets can be transferred as a part of an acquisition or merger deal? 
 

A. Tangible assets B. Intangible assets 

C. Long- term assets D. Current assets 
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Q79. ��]=��>0 (
�-0) �O  �A-@? 0? /�-1 !Iल (�=ल0 �? @L??) �O  ,L1 +1 �L0@O ��?1 �ी @�+�m A-,?�,र1, �ी �? @�,I AP? 
 

A. �K��-ल ( K )  K+=ि B. �0�K��-ल (
/,ू?)  K+=ि 

C. . रき?�?9ल�  K+=ि D. =,?/?0  K+=ि 

 

Q80. If the investor holds 50 shares of a company and the company declares 1.5:1 bonus offer. 
What will be his holding of shares? 

 

A. 125 B. 100 

C. 175 D. 200 

Q80. 0�? �0=O>� �O  +?@ �� +0I �O  50 >O0@- AP �1 �� +0I 0O 1.5:1 -K0@ �,1 �ी  K?+? �ी, ,K �@�O  +?@ ��,0O >O0@- AK�O? 
 

A. 125 B. 100 

C. 175 D. 200 

 

Q81. WIPs are considered to be a________ asset on the balance sheet. 
 

A. short - term B. intangible 

C. long - term D. current 

Q81. WIP �K -Pलm@ >I� (,Jल0 +}) /O _______ 
@O� /?0? �?,? AP| 
 

A. 
ल㉍+?=�/ B. 
/,ू? 

C. . रき?�?9ल� D. =,?/?0 

 

Q82. Equity shares are which type of source of finance? 
 

A. Long - term sourc B. Medium - term source 

C. Short - term source D. External source 

Q82. ��]=�I >O0@- �L0@O ��?1 �O  �=mI0 ኚ验K, AP? 
 

A. . रき?�?9ल� 9्䵔K, B. /o0/ 
=�/ ्䵨K, 

C. 
ल㉍+?=�/ 9्䵔K, D. -?91  9्䵔K, 
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Q83. Which proposals acceptance depends upon the acceptance of one or more other proposals 
during the capital budgeting procedure? 

 

A. Dependent proposals B. Independent proposals 

C. Contingent proposals D. Mutually exclusive proposals 

Q83. �P �+�ल -�O���� ��्䵅0? �O  ?L1?0 �L0@O �-,?= �ी -=I�L �,, 
m0 �� 0? 
�/� �-,?=K �ी -=I�L �, +1 �0.-1 �1,I AP? 
 

A. }0.?1 ्䵚9,?= B. 9=,K्䵔 ्䵚9,?= 

C. �K 9�K�े䜂� ्䵚9,?= D. म⹍0Iचᩍ0I
ल  ए] ]लI��= (+19+1 
0m0) ्䵚9,?= 

 

Q84. Which of the following is a medium-term source of finance? 
 

A. Debenture/Bonds B. Trade Credit 

C. Bill Discounting D. Venture Funding 

Q84. �0म⹍0 /O @O �L0@? /o0/ 
=�/ �=mI0 ኚ验K, AP? 
 

A. )!-Om� ? / -?K!  B. िO! कᕍO !I� (}0?+?1 �+) 

C. --ल )!9�?�K 9�K� (�ू�) D. =Om�1 ,K )! K� (}0?+?1 }0�/�1+) 

 

Q85. Which of the following is usually sent to a supervisor after an employee returns from a 
business venture? 

 

A. Trip Report memo B. Directive memo 

C. Response memo D. Report memo 

Q85. �- �/-�?1I }0=@?0 0?}? @O =?�+@ �,? AP ,K �0म⹍0 /O @O �L0@? 
�/�,1 @J+1=?0�1 (+0-=O��) �K .O�? �?,? AP? 
 

A. 9ि+ 91+K�? /O/K B. !?�1O�]�= /O/K 

C. 1O9+Im  /O/K D. 91+K�? /O/K 
 

Q86. Identify which amongst the following is NOT the correct way to improve any business 
communication. 

 

A. Eliminate assumptions B. Find a good place and time for all involved to 

talk 

C. Do not ask questions D. Pay attention to nonverbal messages 
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Q86. �0म⹍0 /O @O �L0@? }0?+?1 @�+�-  @J/?10O �? @AI ,1I�? नही䀂 AP? 
 

A. /?m0,?�K �K 9/�? .े䜂 B. -?,��, /े䜂  �म⹍/9ल, 9K0O=?लO  .I �I  9I9ल0,  O 
चᩍ�I 
��9 �1  /0 ,0 �1े䜂 

C. ्䵚�0 09 K +ूK�O  D. 
>?�बⱍ.�  K�O ,ो䬂 +1 o0?0 .े䜂 
 

Q87. Match the types of business communication and their examples. 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 
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Q87. }0?+?1 @�+�-  ��?1 �1 �0�O  �??A1+ �/ल?�?| 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 

 

Q88. Randeep Pratap runs a bread manufacturing unit in Jabalpur. If his investment in plant and 
machinery is 15.75lakhs, then, the unit is classified under: 

 

A. Micro Enterprise B. Small Enterprise 

C. Medium Enterprise D. Large Enterprise 

Q88. 1+?I+ �,?+ �-ल+K1 /O �� ्䵜O! �त⑍+??0 ��?� �ल?,? AP| 0�? �@�? �0=O> �?1�?0? �1 0�}K /O 15.75 ल?� AP, ,K ��?� �K 
_______श㙍O+I /O ��0? �?��?| 

 

A. /?0कᕍK एm�1्䵚?��( ूቌ䲚/ �द♍0/) B. 9/Lल एm�1्䵚?�� (�K�? �द♍0/) 

C. /o0/ एm�1्䵚?�� (/o0/ �द♍0/) D. ल?�? एm�1्䵚?�� (-!? �द♍0/) 
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Q89. Micro, Small, and Medium Enterprises can avail which loan for the expansion of 
businesses or for the set-up of new enterprises in just 59 minutes? 

 

A. MUDRA loans B. MSME business loans 

C. Quick Business Loans D. Credit Link Capital Subsidy Scheme 

Q89. /?0्䵅K, -/Lल �1 �/�!0/ �m�1�?0�O@ (@Kቌ䲚/, �K�O �1 /o0/ �p/) �K }0=@?0 �=-,?1 �O  �ल� 0? 00? �p/ >Jy �10O �O  �ल� 
�L0@? ��?- �@,-  59 �/0�K /O �/ल @�,? AP? 

 

A. MUDRA ��?? B. MSME }0?+?1 ��?? 

C. >I} }0?+?1 ��?? D. कᕍO !I� 9लK� �P =+�ल  -9 !I 9�I/ 

 

Q90. The market of music is an example of ___________. 
 

A. Monopoly B. Perfect Competition 

C. Oligopoly D. Monopolistic competition 

Q90. @��I, �? -?�?1 _______ �? �??A1+ AP| 
 

A. /K0K+Kल  (ए�?�/�?1) B. +1,O ]� �?K=+9�>0 (0K_0 ्䵚},0K��,?) 

C. �9ल�K+Kल  (
ल㉍+?�/�?1) D. /K0K+K9ल�9�� �?K=+9�>0 (ए�?�/�?1 ्䵚},0K��,?) 
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Q1. 
 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  
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Q6. The synonym of the word 'VINTAGE' is _______. 
 

A. fresh B. antique 

C. new D. hi-tech 

 

Q7. _________ is the antonym of 'EXPLICIT'. 
 

A. confused B. precise 

C. definite D. specific 

 

Q8. The idiom 'A change of heart' means_______. 
 

A. Change your opinion about someone or 

something. 

B. Find the hidden meaning. 

C. Say what you really mean. D. Pretend to be upset. 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
Raja has a light touch than any other musician. 

 

A. has a lightest B. has a lighter 

C. have a lighter D. is having a light 

 

Q10. Complete the sentence by choosing the correct word from the given options. 
This town, once a prosperous sea port, is now a _________. 

 

A. beautiful town B. vibrant town 

C. heap of ruins D. flourishing town 

 

Q11. Kumara sambhava was written by _____________. 
 

A. Kalidas B. Tulsidas 

C. Vyasa D. Valmiki 
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Q11. �J /?1 9म⹍.= _____________ �O  �?1? ;ि�? �0? .?। 
 

A. �?;ि/?9 B. -Iि9I/?9 

C. }0?9 D. =?ल㉍/I�� 

 

Q12. _______ is the founder of Sikhism. 
 

A. Guru Gobind B. Guru Bahadur Singh 

C. Bhai Mani Singh D. Guru Nanak Dev 

Q12. _______ ;9� 0/म �O  9�}.?+� :ै䠂। 
 

A. �Iy �K==?/ B. �Iy -:?/I1 ;9?: 

C. .?�/+? ;9?: D. �Iy1?1� /O= 
 

Q13. Shri. Uddhav Thackeray, the current Chief minister of Maharashtra, is from the _____. 
 

A. Nationalist Congress Party B. Indian National Congress 

C. Shiv Sena D. Bharatiya Janata Party 

Q13. ;िम⹍ि;ि;�- +?;�म0K /O 9O /:?1?�र �O  =-म/?ि /J_0/�}I ्䵦I �p=  ?�1O ;�9 +?�I 9O :ै䠂? 
 

A. 1?�र=?/I �??्䵇O9 +?�I B. .?1-I0 1?�रI0 �??्䵇O9 

C. ;?=9O1? D. .?1-I0 �1-? +?�I 
 

Q14. Gir Forest National Park is a wildlife sanctuary in _______, was established to protect 
Asiatic lions. 

 

A. Maharashtra B. Madhya Pradesh 

C. Gujarat D. Assam 

Q14. ;�1=ि 1?�रI0 �o?ि ;िम⹍ि;ि;�- /O 9O ;�9 .?1-I0 1?जᱍ0 /O �� =m0 �I= 
.0?1o0 :P, �K �;?0?� ?O1K �ी 1�? �O  ;ि� }.?;+- 
;�0? �0? .?। 

 

A. /:?1?�र B. /o0्䵚/O? 

C. �I�1?- D. 
9/ 
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Q15. Sundarbans of eastern India are an example of ________ ecosystem. 
 

A. Plateau B. Mangrove 

C. Desert D. Rainforest 

Q15. +K=I .?1- �O  9J�/1=ि ________ +र1;}.;- �O  -�} �? �� �/?:1, :P। 
 

A. +)?1 B. 9/?-:?1 

C. 1O��}-?1 D. =}??=1 

 

Q16. Banbhatt was __________ in the court of King Harshvardhana. 
 

A. asthanakavi B. minister 

C. senapati D. royal preceptor 

Q16. 1?�? :}म=0मि �O  /1-?1 /O -?ि.्䴾 ]0? .K;/�? 
/? �1-O .O? 
 

A. 
}.?1?�== B. /?्䵔I 

C. 9O1?+-- D. ??:I �+/O?� 

 

Q17. Haryana state was the home of which dynasty? 
 

A. Bharata dynasty B. Maurya dynasty 

C. Lodhi dynasty D. Gupta dynasty 

Q17. �Lि9? 1?�=�? /Kि-� :र10?,? 9O 9म⹍-�;0- .?? 
 

A. .1- =?? B. /L0? =?? 

C. िK0I =?? D. �Io- =?? 

 

Q18. Who amongst the following opposed the concept of Pakistan and formed a separate group 
in the Punjab Assembly? 

 

A. Munshi Kishan Azad B. Allama Mohammed Iqbal 

C. Chaudhary Shyam Lal D. Sir Chotu Ram 
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Q18. ;िम⹍ि;ि;�- /O 9O ;�9िO +?;�}-?ि �ी 
=0?1,? �? ;=1K0 ;�0? �1 +��?- ;=0?ि9.? /O �� 
ि� 9/K: �? � ि ;�0?? 
 

A. /I??I ��?1 ��?/ B. 
ल㉍ि?/? /K:म⹍// ��-?ि 

C. �L01I �0?/ि?ि D. 91 �K�ू 1?/ 

 

Q19. How many seats were won by Bhartiya Janta party (BJP) in Haryana Legislative assembly 
election 2019? 

 

A. 35 B. 42 

C. 38 D. 40 

Q19. :र10?,? ;=0?ि 9.? �Jि?= 2019 /O .?1-I0 �ि-? +?�I (.?�+?) िO ;�-िI 9I�O �I-K? 
 

A. 35 B. 42 

C. 38 D. 40 

 

Q20. Which wrestler won gold medal in the Senior Wrestling National Championship held in 
November 2019? 

 

A. Sakshi Malik B. Nitu Sarkar 

C. Anju Kumari D. Kavita Devi 

Q20. ि=�-1 2019 /O �0K;�- 9I;ि01 1O9;ि�� िO?िि �P;म⹍+0ि;?+ /O ;�9 +:ि=?ि िO }=,म +/� �I-?? 
 

A. 9?�I /;ि� B. 1I�ू 91�?1 

C. 
?�ू �I /?1I D. �==-? /O=I 
 

Q21. The book named 'Jin Dhoondha Tin Paaiyan', penned by senior IPS officer O P Singh was 
inaugurated by ______________. 

 

A. Shri Manohar Lal Khattar B. Baba Ramdev 

C. Shri Bhupinder Singh Hooda D. Shri Dushyant Singh Chautala 
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Q21. =र1� ��+I�9 
;0�?1I �+I ;9�: �?1? ;ि;�- ';�ि +K�+? ;-ि +?�0??' ि?/� +J}-� �? ��?�ि ______________ �?1? ;�0? 
�0? .?। 

 

A. ्䵦I /1K:1 ि?ि �टὍ�1 B. -?-? 1?//O= 

C. ्䵦I .+ूOoर ;9?: :Iड⅍*? D. ्䵦I /I�0?- ;9?: �L�?ि? 
 

Q22. In the Vijay Sankalp rally, 2019 the water was served in an eco friendly way. In which 
district of Haryana this rally was organized? 

 

A. Faridabad B. Kurukshetra 

C. Rohtak D. Gurugram 

Q22. ;=�0 9��ल㉍+ 1PिI, 2019 /O +?िI �K +0?म=1, �O  
िJ�K ि -1I�O  9O ;=-र1- ;�0? �0?। :र10?,? �O  ;�9 ;�िO /O 0: 1PिI �0K;�- 
�ी ��? 

 

A. ,1I/?-?/ B. �I y�O्䵔 

C. 1K:-� D. �Iy्䵇?/ 

 

Q23. Which refinery of Indian Oil Corporation has developed winter-grade diesel for Ladakh to 
address the problem of loss of fluidity in fuel during extreme winter condition? 

 

A. Gujarat Refinery B. Jamnagar Refinery 

C. Panipat Refinery D. Bina Refinery 

Q23. ��;?0ि �0ि �Q+K1O?ि �ी ;�9 र1,?�ि1I िO �1/ 9;/म0K �ी ;}.;- �O  /L1?ि � �0ि /O -1ि-? �O  �/ :KिO �ी 9/}0? �? 9/?0?ि �1िO 
�O  ;ि� िo?� �O  ;ि� ?I-�?िIि-्䵇O? ?I�ि ;=�;9- ;�0? :P? 

 

A. �I�1?- 91,?�11I B. �?/1�1 91,?�11I 

C. +?1I+- 91,?�11I D. -I1? 91,?�11I 
 

Q24. Who was the court poet in the rein of King Harshavardhana ? 
 

A. Panini B. Uday Bhanu Hans 

C. Banabhatta D. Chauranginath 
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Q24. 1?�? :}म=0मि �O  ??9ि�?ि /O /1-?1I �;= �Lि .O? 
 

A. +?+?1I B. �/0 .?1I :?9 

C. -??.टὍ� D. �L1?�I1?. 

 

Q25. Who is popularly known as 'Shakespeare of Haryana'? 
 

A. Pandit Neki Ram B. Shri Surendra Sharma 

C. Shri Dip Chand Bahman D. Shri Chauranginath 

Q25. :र10?,? �O  '?O]9;+01' �O  ि?/ 9O ;�9O �?ि? �?-? :P? 
 

A. +?)*- 1O�I 1?/ B. ्䵦I 9I1Ooर ?/?? 

C. ्䵦I /I+ �?/ -:/1 D. ्䵦I �L1?�I1?. 

 

Q26. 'Haryana Tilak', a weekly newsletter gets published from which district of Haryana? 
 

A. Faridabad B. Gurugram 

C. Rohtak D. Panipat 

Q26. ':र10?,? ;-ि�', �� 9?्䵎?;:� 9/?�?1 +}, :र10?,? �O  ;�9 ;�िO 9O ��?;?- :K-? :P? 
 

A. ,1I/?-?/ B. �Iy्䵇?/ 

C. 1K:-� D. +?1I+- 

 

Q27. Who documented the life of Prithviraj Chauhan through poetry? 
 

A. Shri Uday Bhanu Hans B. Shri Balmukund Gupta 

C. Shri Laxshmi Chand Sangi D. Shri Chand Bardai 

Q27. ;�9िO �?}0 �O  /?o0/ 9O +Lm=I1?� �L:?ि �O  �I=ि �? िO�ि ;�0?? 
 

A. ्䵦I �/0 .?1I :?9 B. ्䵦I -?ि/I�I? / �Io- 

C. ्䵦I िቌ䲚/I �?/ 9??�I D. ्䵦I �?/ -1/?� 
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Q28. There are _____ agro climatic zone in Haryana. 
 

A. two B. three 

C. four D. five 

Q28. :र10?,? /O ;�-िO �L ;} �ि =?0J �O} :ै䠂? 
 

A. /K B. -I1 

C. �?1 D. +??� 

 

Q29. The tomb of Ibrahim Khan Lodhi is situated in which district of Haryana? 
 

A. Faridabad B. Panipat 

C. Pinjore D. Gurugram 

Q29. �्䵜?;:/ �?ि िK0I �? /�-1? :र10?,? �O  ;�9 ;�िO /O ;}.- :P? 
 

A. ,1I/?-?/ B. +?1I+- 

C. =+?�L1 D. �Iy्䵇?/ 

 

Q30. Which river defines the eastern border of Haryana with Uttar Pradesh? 
 

A. Narmada B. Ganga 

C. Yamuna D. Kaveri 

Q30. �m1�/O? �O  9?. :र10?,? �ी +K=I 9I/? ;�9 ि/I �?1? �/;?म- :K-I :P? 
 

A. 1/?/? B. �?�? 

C. 0/I1? D. �?=O1I 
 

Q31. The _____________ is the largest part of the Haryana state. 
 

A. Aravali Range in the south B. Yamuna-Ghaggar plain 

C. Shivalik Hills to the northeast D. Semi-desert sandy plain 
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Q31. ;िम⹍ि;ि;�- /O 9O �Lि9? :र10?,? 1?जᱍ0 �? 9-9O -)? ;:}9? :P? 
 

A. /्䵌�? /े䜂 
1?=िI +=?-/?ि? B. 0/I1?- _�1 /P/?1 

C. �्䵈1 +=ू? /े䜂 ;?=?;ि� 9:ल㉍9 D. 
0?-1O��}-?1 1O-Iि? /P/?1 

 

Q32. Chandigarh is governed by __________. 
 

A. Union government B. Chandigarh government 

C. Haryana government D. Central government 

Q32. ��?I�? __________ �?1? ??;9- :P। 
 

A. 9?  91�?1 B. �?*I�? 91�?1 

C. :910??? 91�?1 D. �O oरI0 91�?1 
 

Q33. Which amongst the following is the second tier of Panchayati Raj in Haryana? 
 

A. Gram Panchayat B. Panchayat Samiti 

C. District Panchayat D. Zila Parishad 

Q33. :र10?,? /O +��?0-I 1?� �? /K91? }-1 ;िम⹍ि;ि;�- /O 9O �Lि9? :P? 
 

A. ्䵇?/ +?�?0- B. +?�?0- 9;/-- 

C. ��ि? +?�?0- D. ��ि? +91}/ 
 

Q34. Which is the biggest industrial city of Haryana as well as North India? 
 

A. Gurugram B. Panipat 

C. Faridabad D. Kurukshetra 

Q34. :र10?,? �O  9?.-9?. �m1 .?1- �? 9-9O -)? �oK;�� ?:1 �Lि9? :P? 
 

A. �Iy्䵇?/ B. +?1I+- 

C. ,1I/?-?/ D. �I y�O्䵔 
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Q35. Kaleshar National park is a popular destination for _______. 
 

A. sunset B. bird watching 

C. wildlife D. swimming 

Q35. ;िम⹍ि;ि;�- /O 9O ;�9�O  ;ि� �िO91 1?�रI0 �o?ि िK�;�0 }.ि :P? 
 

A. 90ू??}- B. +?�I /O�1O :O-I 

C. =o0�I=1 D. -P1?�I 
 

Q36. Which among the following is NOT a programming language? 
 

A. Ruby B. Python 

C. COBOL D. HTML 

Q36. ;िम⹍ि;ि;�- /O 9O �Lि �K्䵇?;/�� .?}? ि:K :P? 
 

A. z-I B. +?�.1 

C. �K-Kि D. ए� �I ए/ एि 

 

Q37. The operating system basically manages _________. 
 

A. hardware resources of the system B. software resources of system 

C. database of the system D. both hardware and software resources 

Q37. �+1O;��� ;9}�/ /Kि z+ 9O _________ �? �-�0ि �1-? :P। 
 

A. ;9}�/ �O  :?*?=O01 9?9?01 B. ;9}�/ �O  9Io�=O01 9?9?01 

C. ;9}�/ �? *O�?-O9 D. :?*?=O01 �1 9Io�=O01 9?9?01 /K1ो䬂 
 

Q38. Which of the following is NOT true about Braille Reader? 
 

A. The text is sent by the computer to the device. B. In the device, the text is translated into a 

braille format. 

C. The main component of a Braille reader is a 

display area that uses tiny plastic pins. 

D. The output of a Braille reader is through audio. 
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Q38. ्䵜Oि1I?1 �O  -?1O /O ;िम⹍ि;ि;�- /O 9O ]0? 9:I ि:K :P? 
 

A. �O}}� �K �? o0�ू1 द♍=?1? )*=?�9 +1 .O�? �?-? :P। B. )*=?�9 /े䜂, �O}}� ्䵜Oि ्䵚?z+ /े䜂 
1I=?9/- :K-? :P। 

C. ्䵜Oि1I*1 �? /I_0  �� ए� ्䵚/??1 �O्䵔 :P �K �K�O oि?�}�� 

=+1 �? �+0K� �1-? :P। 
D. ए� ्䵜Oि 1I*1 �? ���+I� ऑ)*0K �O  /?o0/ 9O :K-? :P। 

 

Q39. SMTP stands for _____. 
 

A. Small Mail Transfer Protocol B. Single Mail Transfer Protocol 

C. Simple Mail Transfer Protocol D. String Mail Transfer Protocol 

Q39. SMTP �? 
.म_______:P। 
 

A. }/Iि /Oि र??9,1 ्䵚K�K�Iि B. ;9?�ि /Oि र??9,1 ्䵚K�K�Iि 

C. ;9म⹍+ि /Oि र??9,1 ्䵚K�K�Iि D. �}र?� /Oि र??9,1 ्䵚K�K�Iि 

 

Q40. Pick the odd one out. 
Chandigarh, Jammu and Kashmir, Chhatisgarh, and Puducherry 

 

A. Chandigarh B. Jammu and Kashmir 

C. Puducherry D. Chhattisgarh 

Q40. ;=}/ �? �0ि �1O: 
��?I�?, �म⹍/K �1 ��/I1, �mI9�?, �1 +J/J�O1I 

 

A. �?*I�? B. �म⹍/ू �1 ��/I1 

C. +I/I�O1I D. �्䵈I9�? 
 

Q41. FLOWER : REOWLF :: BASKET :? 
 

A. TEKSAB B. TABEKS 

C. TESKAB D. TBAEKS 

Q41. FLOWER : REOWLF :: BASKET : ? 
 

A. TEKSAB B. TABEKS 

C. TESKAB D. TBAEKS 
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Q42. In this series of numbers, choose which pair of numbers comes next. 
31, 28, 7, 24, 20, 7, 17, __, ___ 

 

A. 12, 7 B. 14, 7 

C. 14, 11 D. 12, 5 

Q42. ;िम⹍ि ्䵦L��ि? �K /O;��: 
31, 28, 7, 24, 20, 7, 17, __, ___ 

�9 ्䵦L��ि? /O ��O �Lि9I 9�_0?�� �िI �?;:�? 
 

A. 12, 7 B. 14, 7 

C. 14, 11 D. 12, 5 

 

Q43. In a different coding system, if BLUE is coded as CNXI, what will be the code for PINK? 
 

A. QKQO B. QKOM 

C. QKPN D. QKOP 

Q43. ;�9I 9?��O ;-� .?}? /O 0;/ BLUE �K CNXI ;ि�? �?-? :P -K, PINK �K ]0? ;ि�? �?��?? 
 

A. QKQO B. QKOM 

C. QKPN D. QKOP 

 

Q44. Simplify: 
{(25*17)+45*55-20} 

 

A. 2880 B. 1575 

C. 16450 D. 25830 

Q44. 91िI�1, �ी;��: 
{(25*17)+45*55-20} 

 

A. 2880 B. 1575 

C. 16450 D. 25830 
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Q45. Sudha buys a painting that has a marked price of Rs. 800. The shopkeeper offered a 
discount of 15% on the marked price. If Sudha sells the bag for Rs. 925, what will be her 
profit? 

 

A. Rs. 120 B. Rs. 125 

C. Rs. 245 D. Rs. 680 

Q45. 9J0? �� +O;��� �1I/-I :P ;�9�ी �ी/- 800 y+0O :P। /J�?ि/?1 िO ;�;ि- /Kल㉍0 +1 15% �ी �K � �? �}-?= ;/0?। 0;/ 9J0? 925 

y+0O �O  ;ि� -P� -O�-I :P, -K �9�K ;�-ि? ि?. :K�?? 
 

A. 120 y+0O B. 125 y+0O 

C. 245 y+0O D. 680 y+0O 
 

Q46. Kurush sells his camera such that the cost price of the camera is 20% of its selling price. 
What is Kurush's profit percentage? 

 

A. 400% B. 300% 

C. 250% D. 100% 

Q46. �J y? 
+िO �P /1O �K �9 -1: -O�-? :P ;� �P /1O �ी ि?�- �9�O  ;=्䵅0 /Kल㉍0 �? 20% :P। �J y? �? ि?. �;-?- ]0? :P? 
 

A. 400% B. 300% 

C. 250% D. 100% 

 

Q47. In a basket of fruits, 62% are oranges and the remaining are apples. How many apples are 
there in the basket, if the number of oranges is 186? 

 

A. 300 B. 186 

C. 114 D. 92 

Q47. ,िK �ी �� �K�1I /O, 62% 9�-1O :ै䠂 �1 ?O} 9O- :ै䠂। 
�1 9�-1O �ी 9�_0? 186 :P -K, �K�1I /O ;�-िO 9O- :ै䠂? 
 

A. 300 B. 186 

C. 114 D. 92 
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Q48. When a light ray travels from one medium to another passing through the surface, the 
direction and speed of the light ray changes. This phenomenon is ___________. 

 

A. Reflection B. Refraction 

C. Diffusion D. Diffraction 

Q48. �- �� ��?? ;�1, 9-: 9O �J�1-O :ु� �� /?o0/ 9O /K91O /?o0/ -� �?-I :P, -K ��?? ;�1, �ी ;/?? �1 �;- -/ि �?-I :P। 
0:  �ि? _________ �:ि?-I :P। 

 

A. +1?=-?1 B. 
+=-?1 

C. ्䵚9?1 D. ===-?1 

 

Q49. Which of the following options is NOT a component of blood? 
 

A. Platelets B. Red blood cells 

C. White blood cells D. Myosin 

Q49. ;िम⹍ि;ि;�- /O 9O �Lि9? ;=�ल㉍+ 1्䴹 �? ��  �� ि:K :P? 
 

A. oिO�िOटὍ9 B. ि?ि 1}- �K;?�?ए? 

C. 9,O / 1}- �K;?�?ए? D. /?0K;91 

 

Q50. What is the chemical name of baking soda? 
 

A. Calcium bicarbonate B. Sodium bicarbonate 

C. Calcium chloride D. Potassium bicarbonate 

Q50. -O;�� � 9K?? �? 1?9?0;ि� ि?/ ]0? :P? 
 

A. �P �ल㉍?0/ -?��?-ो1O� B. 9K)*0/ -?��?-ो1O� 

C. �P �ल㉍?0/ }िK1?�* D. +K�O;?0/ -?��?-ो1O� 
 

Q51. A business model is a company's plan for ______. 
 

A. new product development B. idea generation 

C. making a profit D. market research 
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Q51. �� ;-�िO9 /Q?ि________;ि� �� �� +िI �ी 0K�ि? :P| 
 

A. 10? �त⑍+?/ ==�?9 B. ==�?1 9�ृ1 

C. ि?. �/?1? D. -?�?1 
1I9?0?1 

 

Q52. One of the biggest disadvantages of a free market economy is: 
 

A. Concentration of wealth remains with few 

people 

B. Huge Government interference 

C. Several economic restrictions D. High taxes 

Q52. �� /J्䴹 -?�?1 
.म}0=}.? �? 9-9O -)? िJ�9?ि :P: 
 

A. 01 �? ए�?्䵇-? �I � :I िK�ो䬂 �O  +?9 1:-? :P B. 91�?1 �? -)? :}-�O+ 

C. �� ��.?� ्䵚---?0 D. �चᩍ� �1 
 

Q53. ABC Ltd., has been selling the same brand of hand wash for 5 years now, without 
interacting with the customers. XYZ Ltd., is now launching a better alternative to ABC's 
product. As per SWOT analysis, this launch of an alternate product is a ______ to ABC 
Ltd. 

 

A. opposition B. opportunity 

C. threat D. weakness 

Q53. ABC ;ि;/�O?, ्䵇?:�K �O  9?. -?-�I- ;�� ;-ि?, 5 =}K 9O �� :I ्䵜?�? �O  :ै䠂? =Q? �ी ;-्䵅ी �1 1:? :P। 
- XYZ ;ि;/�O?, 

ABC �O  �m+?/ 9O �� -O:-1 ;=�ल㉍+ ?Jz �1 1:? :P। }=Q� ;=्䵨O}, �O  
िJ9?1, =P�;ल㉍+� �m+?/ �? 0: ��O+, ABC ;ि;/�O? �O  
;ि� ______ :P| 

 

A. ==1K0 B. 
=91 

C. 0/�I D. /I-?ि-? 
 

Q54. Which of the following is NOT a GST Tax rate for products? 
 

A. 0.25% B. 0.5% 

C. 5% D. 12% 
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Q54. ;िम⹍ि;ि;�- /O 9O �Lि 9? �m+?/K �O  ;ि� GST �1 �ी /1 नही䀂 :P? 
 

A. 0.25% B. 0.5% 

C. 5% D. 12% 

 

Q55. Who is the current (as on 1-January-2020) Union Minister of Skill Development & 
Entrepreneurship? 

 

A. Shri Nitin Gadkari B. Shri Santosh Kumar Gangwar 

C. Shri Gajendra Singh Shekhawat D. Dr.Mahendra Nath Pandey 

Q55. �Lि =-म/?ि (1-�ि=1I -2010 9O ) �O �I0 �L?ि ;=�?9 �1 �o;/-? /�}I :ै䠂? 
 

A. ्䵦I -1--1 �*�1I B. ्䵦I 9?-K} �I /?1 �?�=?1 

C. ्䵦I ��Ooर ;9?: ?O�?=- D. *I./:े䜂र 1?. +??*O 
 

Q56. Which of the following is FALSE about Masala Bonds? 
 

A. These bonds are issued directly in Indian 

currency. 

B. These bonds help Indian companies to raise 

funds from foreign investors. 

C. Non-Resident Indians cannot invest in these 

bonds. 

D. The investor in these bonds bears the 

exchange rate risks. 

Q56. ;िम⹍ि;ि;�- /O 9O �Lि 9? /9?ि? -?�? �O  -?1O /O �ि- :P? 
 

A. 0O -??* 9I0O .?1-I0 /Iर? /े䜂 �?1I ��ए �?-O :ै䠂। B. 0O -Io* .?1-I0 �? +-10ो䬂 �K ==/O?I -1=O?�ो䬂 9O ,? ड⅍9 �I�?1O 
/े䜂 /// �1-O :ै䠂। 

C. 
-1=?9I .?1-I0 �1 -Ioड⅍9 /े䜂 -1=O? 1:I? �1 9�-O :ै䠂। D. �1 -Ioड⅍9 /े䜂 -1=O?� �K ==-1/0 /1 �O  �K+�/ो䬂 �K 9:1 

�11? +)-? :P। 
 

Q57. ABC Ltd is a privately-held company. How many times in a year will the external auditors 
conduct an audit? 

 

A. Throughout the year B. Three times in a year 

C. Two times in a year D. Once a year 
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Q57. ABC ;ि;/�O? �� ;ि�I -L1 +1 �0K;�- �� +िI :P। �� =}म /O ;�-िI -?1 -?:1I िO�? +1I�� �;?� �1O�O? 
 

A. 9?ि .1 B. 9?ि /े䜂 -I1 -?1 

C. 9?ि /े䜂 /K -?1 D. 9?ि /े䜂 ए� -?1 
 

Q58. While auditing the payroll of ABC Ltd., the auditor divides the employees based on age 
groups. 
Which audit sampling technique is the auditor using here? 

 

A. Stratified Sampling B. Systematic Sampling 

C. Block Sampling D. Random Sampling 

Q58. ABC ;ि;/�O? �O  +O1Kि �? �;?� �1-O 9/0, �;?�1 �/म�?र10K �K �0J 9/K:K �O  �0?1 +1 ;=.?;�- �1-? :P। 
0:?� �;?�1, �Lि 9O �;?� 9ै䠂+;ि�� -�िI�, �? �+0K� �1िO =?ि? :P? 

 

A. }-1I�ृ- 9Pम⹍+;ि?� B. }0=�}.- 9Pम⹍+;ि?� 

C. mिI� 9Pम⹍+;ि?� D. 0?द♃�चᩍ�� 9Pम⹍+;ि?� 

 

Q59. Under the New/Revised Standards (Auditing, Review and Others), which of the following 
segments specifies about "Using the work of other Auditors"? 

 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

Q59. ि� / 9�?K;0- /?ि�K (�;?;���, र1}0K �1 
m0) �O  -:-, ;िम⹍ि;ि;�- /O 9O �Lि 9? 9O�/O� "
m0 9�+?/�K �O  �?/ �? �+0K�" �O  
-?1O /O ;ि;/म� �1-? :P? 

 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

 

Q60. A production supervisor's salary is classified as ________. 
 

A. administration overhead B. selling overhead 

C. manufacturing overhead D. distribution overhead 

 

 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 26, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Evening Session 
 

February 27, 2020  Page 18 of 29 

 

Q60. �m+?/ि +0म=O�� �O  =O-ि �K _______=�I�L - ;�0? �0? :P| 
 

A. ्䵚??91 �=1:O* B. 9O�ल㉍ि?� �=1:O* 

C. ==-1/??? �=1:O* D. ==-1? �=1:O* 
 

Q61. Sindhu runs a computer manufacturing unit. Which of the following will be NOT be 
considered as direct cost to the company? 

 

A. Motherboards B. Memory chips 

C. Licensing the software D. Assembling the computer 

Q61. ;9�0J �� �� o0K�1 ;ि/?म, 0K;ि� �ि?-I :ै䠂। ;िम⹍ि;ि;�- /O 9O �Lि 9I, �� +िI �K �m0� ि?�- �O  z+ /O, नही䀂 /?ि? �?��?? 
 

A. //1-K*? B. /O/K1I ��o9 

C. 9Io�=O01 �? ि?�9े䜂9 D. �? o0�ू1 �K 
9े䜂-ि �11? 
 

Q62. Which of the following statements/equations shows the method to calculate conversion 
cost? 

 

A. Conversion costs = Direct labour costs + 

manufacturing overhead costs 

B. Conversion costs = Direct labour costs - 

Manufacturing overhead costs 

C. Conversion costs = Manufacturing overhead 

costs - Direct costs 

D. Conversion costs = Direct costs + 

Manufacturing overhead costs 

Q62. ;िम⹍ि;ि;�- /O 9O �Lि 9? �.ि / 9/I�1,, z+?�-1, ि?�- �ी �,ि? �1िO �ी, ;=;0 /??म-? :P? 
 

A. z+??-1? ि?�- = ्䵚त⑍0� ्䵦/ ि?�- + -1/??? �=1:O* 
ि?�- 

B. z+??-1? ि?�- = ्䵚त⑍0� ्䵦/ ि?�- - ==-1/??? �=1:O* 
ि?�- 

C. z+??-1? ि?�- = ==-1/??? �=1:O* ि?�- - *?01O}� 
�I}� 

D. z+??-1? ि?�- = ्䵚त⑍0� ि?�- + ==-1/??? �=1:O* 
ि?�- 

 

Q63. Which of the following is NOT an example of "direct marketing"? 
 

A. Social media marketing B. Telemarketing 

C. Online selling D. Television advertising 
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Q63. ;िम⹍ि;ि;�- /O 9O �Lि "�m0� ;=+,ि" �? �/?:1, नही䀂 :P? 
 

A. 9?/?��� /I)*0? /?�े9�?� B. �OिI/?�े9�?� 

C. ऑ1ि?�1 --्䵅I D. �OिI==�1 ==_?+1 

 

Q64. Which of the following factors is NOT linked to Brand Equity? 
 

A. Brand Image B. Brand Identity 

C. Economic worth of the brand D. Customer Perception 

Q64. ;िम⹍ि;ि;�- /O 9O �Lि 9? �?1� ्䵜?�? �;]=�I 9O �J)? नही䀂 :P? 
 

A. ्䵜??* �== B. ्䵜??* �I +:�?1 

C. ्䵜??* �? ��.?� /लू㉍0 D. ्䵇?:� �? द♃����K? 

 

Q65. ABC Ltd has developed software that aims to reduce energy consumption of big industrial 
units. Since such a product is not available till date in the market, ABC Ltd has defined a 
high introductory price for the product. What is this pricing strategy? 

 

A. Market penetration pricing B. Market analysis pricing 

C. Market skimming pricing D. Market capture pricing 

Q65. �-I9I ;ि;/�O? िO 9Qo�=O01 ;=�;9- ;�0? :P ;�9�? �oO�0 -)I �oK;�� 0K;ि�M9 �ी ��?म �+- �K �/ �1ि? :P। �K�;� �9? �m+?/ 
-?�?1 /O �� -� �+िm0 ि:K :P, �9;ि� �-I9I ;ि;/�O? िO �m+?/ �O  ;ि� �चᩍ� +र1�0?m/� /Kल㉍0 �K +र1.?;}- ;�0? :P। 0: /Kल㉍0 

;ि0?म1, 1,िI;- ]0? :P? 
 

A. -?�?1 /े䜂 ्䵚=O? +?1O �O  ;िए /ूल㉍0 -10??1? B. -?�?1 ==�िO}? �O  ;िए /लू㉍0 -10??1? 

C. -?�?1 �}��म⹍/?� �O  ;िए /लू㉍0 -10??1? D. -?�?1 +1 �m�? +?1O �O  ;िए /लू㉍0 -10??1? 

 

Q66. Under Section 80D of the Income Tax Act, 1961, an individual can get tax deductions on 
medical insurance premiums only. A maximum deduction of ________ per year is 
allowed on health insurance premium for self and family. 

 

A. Rs 40,000 B. Rs 30,000 

C. Rs 50,000 D. Rs 25,000 
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Q66. �0�1 
;0;ि0/, 1961 �ी 0?1? 80 D �O  -:-, �K� }0;्䴹 �O =ि ;�;�m9? -I/? �I;/0/ +1 �1 ��L-I �?्䵎 �1 9�-? :P। }= 

�1 +र1=?1 �O  ;ि� }=?}m0 -I/? �I;/0/ +1 �;- =}म ________ �ी 
;0�-/ ��L-I �ी 
िJ/;- :P। 
 

A. Rs 40,000 B. Rs 30,000 

C. Rs 50,000 D. Rs 25,000 

 

Q67. Under Section ______ of the Income Tax Act, 1961, an individual can get an exemption 
on the allowance on children's education. 

 

A. 80C B. 80E 

C. 80D D. 87A 

Q67. �0�1 
;0;ि0/, 1961 �ी 0?1? ______ �O  -:-, �� }0;्䴹 �K -चᩍ�K �ी ;?�? �O  .mO +1 �K � ;/ि 9�-I :P। 
 

A. 80C B. 80E 

C. 80D D. 87A 

 

Q68. You want to claim deduction on interest income under Section 80TTA. Which of your 
interest income will NOT be eligible for this deduction? 
 
(1) Interest from your fixed deposits. 
(2) Interest from your savings account with a post office. 
(3) Interest from a savings account with a co-operative society bank. 
(4) Interest from your recurring deposit. 
(5) Interest from a saving account with a bank. 

 

A. 1, 4 B. 2, 3 

C. 3, 4 D. 2, 5 
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Q68. �+ 0?1? 80TTA �O  -:- m0?� �0 +1 ��L-I �? /?=? �1ि? �?:-O :ै䠂। �+�ी �Lि 9I m0?� �0 �9 ��L-I �O  ;ि� 
0K_0 नही䀂 :K�I? 

 

(1) 
+िI 9?=;0 �/?� � 9O m0?�। 
(2) +K}� �;,9 �O  9?. 
+िO -�- �?-O 9O m0?�। 
(३) 9:�?1I -ै䠂� �O  -�- �?-O 9O m0?�। 
(4) 
+िO �=-I �/? 9O m0?�। 
(5) -ै䠂� �O  9?. -�- �?-O 9O m0?�. 

 

A. 1, 4 B. 2, 3 

C. 3, 4 D. 2, 5 

 

Q69. In a cricket team, the runs scored by a batsman in a series are 101, 88, 12, 55, and 68. 
What is the range of the given data? 

 

A. 89 B. 64 

C. 68 D. 101 

Q69. �� ;्䵅�O � �I/ /O, �� ्䵦L��ि? /O �� -ल㉍िO-?� �?1? -ि?� �� 1ि 101, 88, 12, 55 �1 68 :ै䠂। ;/� �� ?O�? �ी 9I/? ]0? :P? 
 

A. 89 B. 64 

C. 68 D. 101 

 

Q70. In which type of preference shares the dividends are accumulated and therefore paid 
before paying the equity shareholders? 

 

A. Redeemable Preference Shares B. Convertible Preference Shares 

C. Cumulative Preference Shares D. Participating Preference Shares 

Q70. ;�9 ��?1 �O  =1I0-? ?O09म /O, ि?.?�? �/? :K-O :ै䠂 �1, �9;ि� �;]=�I ?O010?1�K �K .J�-?ि �1िO 9O +:िO, .J�-?ि ;�0? �?-? 
:P? 

 

A. 1I*I/े䜂mि =1I0-? ?O09? B. +91=-?1I0 =1I0-? ?O09? 

C. 9?�0I =1I0-? ?O09? D. +?9�?;9+O9�?� =1I0-? ?O09? 
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Q71. Which of the following cost is not shown in the financial statements? 
 

A. Fixed cost B. Variable cost 

C. Operating cost D. Opportunity cost 

Q71. ;िम⹍ि /O 9O �Lि 9I ि?�- ;=mI0 ;==1, /O ि:K ;/�?� �� :P? 
 

A. -1���- ि?�- B. +91=-?1I0 ि?�- 

C. +91�?ि1 ि?�- D. 
=91 ि?�- 

 

Q72. Doctrine of Caveat Emptor in the Sales of Goods Act, places the onus on _________ for 
the purchase of the product. 

 

A. buyer B. seller 

C. manufacturer D. government 

Q72. /?ि 
;0;ि0/ �ी ;-्䵅ी /O, ?Q;]रि �_ �O = �� �म⹍o�1 �? ;9p?�-, �m+?/ �ी �1I/ �O  ;ि� _________ +1 ��: /O-? :P| 
 

A. ्䵅O -? B. ==्䵅O -? 

C. �त⑍+?/� D. 91�?1 
 

Q73. You sell mangoes from your orchard in the month of November. These mangoes are sold 
when trees are yet to produce them. Mangoes in this condition are ________ goods. 

 

A. unascertained B. ascertained 

C. specific D. contingent 

Q73. �+ ि=�-1 �O  /:IिO /O 
+िO -?� 9O �/ -O�-O :ै䠂। 0O �/ -- -O�O �?-O :ै䠂, �- +O) �K �ि�? �m+?/ि 
.I �1ि? -?�ी :ै䠂। �9 ;}.;- 
/O �/ ________ /?ि :ै䠂। 

 

A. 
-10?91- B. -10?91- 

C. ==;?�� D. ���}/� 
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Q74. If the mean of the given data: y+1, y+2, y+3, y+4 is 34, then find the mean of last three 
data. 

 

A. 22.5 B. 31.5 

C. 34.5 D. 36.5 

Q74. 0;/ ;/� �� ?O�?: y+1, y+2, y+3, y+4 �? �9- /Kल㉍0 34 :P, -K 
�;-/ -Iि ?O�? �? �9- /Kल㉍0 +K�+O। 
 

A. 22.5 B. 31.5 

C. 34.5 D. 36.5 

 

Q75. A survey is taken on the number of bicycles sold in a shop for a particular week. The 
number of bicycles sold from Monday to Sunday is 14,21,7,17,11,15 and 20. Calculate the 
Standard Deviation (approximate). 

 

A. 5.4 B. 5.19 

C. 3.87 D. 4.56 

Q75. �� ;=?O} 9्䵎?: �O  ;ि� �� /J�?ि /O -O�I �� 9?�;�ि �ी 9�_0? +1 �� 9=O�, ;ि0? �?-? :P। 9K/=?1 9O 1;==?1 -� ;-�िO =?िI 
9?�;�िK �ी 9�_0? 14,21,7,17,11,15 �1 20 :P। /?ि� ;=�िि (
िJ/?;ि-) �ी �,ि? �1O। 

 

A. 5.4 B. 5.19 

C. 3.87 D. 4.56 

 

Q76. In which type of bank accounts the banks does not pay any interest? 
 

A. Recurring deposit account B. Fixed deposit account 

C. Savings bank account D. Current account 

Q76. ;�9 ��?1 �O  -ै䠂� �?-K /O -ै䠂� �K� m0?� ि:K /O-O :ै䠂? 
 

A. �=-I �/? �?-? B. 9?=�0 �/? �?-? 

C. -�- -ै䠂� �?-? D. �?िू �?-? 
 

Q77. Which amongst the following is an example of fiduciary money? 
 

A. Gold coins B. Bills 

C. Drafts D. Coins 
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Q77. ;िम⹍ि;ि;�- /O 9O �Lि 9?, �� ;,?K?I01I 0ि �?, �� �/?:1, :P? 
 

A. 9K1O �O  ;9}�O  B. --ल㉍9 

C. ्䵑?o� D. ;9}�O  
 

Q78. _______ is the exchange of goods and services between two or more parties without the 
use of money. 

 

A. Dumping B. Bartering 

C. Arbitration D. Piggyback Marketing 

Q78. ______ 0ि �O  �+0K� �O  ;-ि?, /K 0? 
;0� /िK �O  -I�, =}-J� � �1 9O=?� � �? �/?ि-�/?ि :P। 
 

A. *�म⹍+?� B. -?�?91?� 

C. �--?रO?1 D. =+_�I-P� /?�े9�?� 

 

Q79. Which of the following information is shown in a double-column cash book? 
 
1. Information about purchase or sales discounts 
2. Cash receipts 
3. Payments of cash 
4. Details about bank transaction 

 

A. 1, 3, 4 B. 1, 2, 3 

C. 1, 2, 4 D. 2, 3, 4 

Q79. ;िम⹍ि;ि;�- /O 9O �Lि 9I �?ि�?1I �K ?-ि-�Qि/ �P ? -J� /O ;/�?0? �0? :P? 
 

1. �1I/ 0? ;-्䵅ी �K � �O  -?1O /O �?ि�?1I 
2. ि�/ �?;्䵎 
3. ि�/ .J�-?ि 
4. -ै䠂� िOि/Oि �O  -?1O /O ;==1, 

 

A. 1, 3, 4 B. 1, 2, 3 

C. 1, 2, 4 D. 2, 3, 4 
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Q80. Identify the correct accounting equation. 
 

A. Liability = Assets + Owner's Equity B. Owner's Equity = Assets + Liability 

C. Assets = Liability + Owner's Equity D. Assets = Liability - Expenses 

Q80. 9:I िO�? 9/I�1, �K +:�?िO। 
 

A. ि?0--;ि�I = 9?+=्䵈 + /?;ि� �I ��}=�I B. /?;ि� �I ��}=�I = 9?+=्䵈 + ि?0--;ि�I 

C. ए9OटὍ9 = ि?0--;ि�I + /?;ि� �I ��}=�I D. ए9OटὍ9 = ि?0--;ि�I - }00 

 

Q81. Which amongst the following is NOT true for preference shares? 
 

A. Preference shares receive dividend before 

equity shares. 

B. Preference shares redeems on the due date. 

C. Preference shareholders have the right to 

participate in the management of the company. 

D. If Preference shares are cumulative preference 

shares, the company pays its arrear of dividend 

before equity shares. 

Q81. =1I0-? ?O09म �O  ;ि� ;िम⹍ि;ि;�- /O 9O �Lि 9? 9:I नही䀂 :P? 
 

A. ��}=�I ?O09? 9O +:िO =1I0-? ?O09? ि?.??? ्䵚?o- �1-O :ै䠂। B. -10- --�. +1 =1I0-? ?O09? 91*I/ :I� �1-I :ै䠂। 

C. =1I0-? ?O010?1�ो䬂 �K �? +1I �O  ्䵚-?01 /े䜂 .?� िO1O �? 

�0�?1 :P। 

D. 09/ =1I0-? =?िO ?O09?, 9?�0I =1I0-? =?िO ?O01 :ै䠂, -K 
�? +1I ��}=�I ?O01ो䬂 9O +:िO ि?.??? �I -�?0? 1?;? �?, 
.I�-?1 �1-I :P। 

 

Q82. Which types of bonds are issued at a price lower than the face value? 
 

A. Floating rate bonds B. Plain vanilla bonds 

C. Zero coupon bonds D. Deferred coupon bonds 

Q82. 
�;�- /Kल㉍0 9O �/ /Kल㉍0 +1 ;�9 ��?1 �O  -Qm? �?1I ;�� �?-O :ै䠂? 
 

A. oिK9�?� 1O� -Io* B. 9?/? =O-1ि? -Io* 

C. ?oू0 �ू+1 -Io* D. �}.��- �ू+1 -Io* 
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Q83. __________ proposals compete with each other and they are selected at the cost of the 
other. 

 

A. Dependent B. Independent 

C. Contingent D. Mutually exclusive 

Q83. ________ �}-?= ��-/K91O �O  9?. �;-}+0?म �1-O :ै䠂 �1 �m:O /K91O �ी �ी/- +1 �Jि? �?-? :P। 
 

A. ��्䵦- B. }=-?्䵔 

C. ���}/� D. +?1}+91� z+ 9O 
1o0 

 

Q84. Which of the following is a source of debt financing or borrowed capital? 
 

A. Convertible debentures B. Financial institutions 

C. Venture fund D. Retained earnings 

Q84. ;िम⹍ि;ि;�- /O 9O �Lि 9? �, ;=m+K}, 0? �0?1 िI �� +K��I �? ्䵨K- :P? 
 

A. +91=-?1I0 )*-े䜂�1 B. ==्䵈I0 9?}.?ए 

C. =े䜂�1 ,? * D. ्䵚--0?91- �/?� 
 

Q85. Information spread by a single person within an informal group where the message may or 
may not be valid. This pattern of informal communication is called __________. 

 

A. cluster B. probability 

C. single strand D. grapevine 

Q85. ;�9I ��ि }0;्䴹 �?1? 
िL+�?र1� 9/K: �O  .I-1 9K�ि? �? �9?1 �:?� 9�/O? /?m0 :K 9�-? :P 0? ि:K :K 9�-? :P। 
िL+�?र1� 

9��?1 �O  �9 +P�िम �K __________ �:? �?-? :P। 
 

A. }ि}�1 B. ्䵚K-O--;ि�I 

C. ;9?�ि }रै䠂* D. ्䵇O+}:?�1 
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Q86. You are presenting a presentation in front of your colleagues. One of your colleagues goes 
into a MEGO state. What is a MEGO state? 

 

A. When a person is not listening, or 

concentrating properly. 

B. When a person lacks confidence and shivers. 

C. When a person does not make an eye contact. D. When a person starts wriggle and feels 

uncomfortable. 

Q86. �+ 
+िO 9:0K;�0K �O  9?/िO �� �}-J;- �}-J- �1 1:O :ै䠂। �+�? �� 9:�/I MEGO }�O� /O �?-? :P। MEGO }�O� ]0? :P? 
 

A. �- �K� }0�}- 9I1 1:I? 1:? :P, 0? )I� 9O o0?1 �े䜂 9र- 

1:I? �1 +? 1:? :P। 
B. �- ��9I }0�}- /े䜂 �त⑍/==�=?9 �I �/I :K-I :P �1 =: 
.?�-? :P। 

C. �- �K� }0�}- �?� 9O 9?+�?  1:I? -1? +?-? :P। D. �- ��9I }0�}- �K �I91?0?? ?Iz :K-I :P �1 
9:� /:99ू 

�1-? :P। 
 

Q87. Match the types of non verbal business communication with their description. 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 
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Q87. �P1-/L;�� }0?=9?;0� 9��?1 �O  ��?1K �K �ि�O  ;==1, �O  9?. ;/ि?�| 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 

 

Q88. Which policy is used by the government when it wants to stimulate the economy? 
 

A. Monetary policy B. Fiscal policy 

C. Industrial policy D. Supply side policy 

Q88. 
.म}0=}.? �K �mO;�- �1िO �O  ;ि� 91�?1 �?1? ;�9 िI;- �? �+0K� ;�0? �?-? :P? 
 

A. /L9र� 1I-- B. �,}�ि 1I-- 

C. �द♍0K��� 1I-- D. �+-ू-? +� �I 1I-- 

 

Q89. A consumer claims 49 lakh rupees, under Consumer Protection Act, 1986. This dispute 
will be filed under _____________. 

 

A. District consumer dispute redressal forum B. Civil consumer dispute redressal commission 

C. State consumer dispute redressal commission D. National consumer dispute redressal  

Commission 
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Q89. �+.K्䴹? 9�1�, 
;0;ि0/, 1986 �O  -:- �� �+.K्䴹?, 49 ि?� y+0O �? /?=? �1-? :P। 0: _____;==?/ �O  -:- /?01 ;�0? 
�?��?| 

 

A. ��ि? �+.K}-? ===?/ -1=?1? ,K1/ B. 1?�91� �+.K}-? ===?/ -1=?1? �0K� 

C. 1?जᱍ0 �+.K}-? ===?/ -1=?1? �0K� D. 1?�रI0 �+.K}-? ===?/ -1=?1? �0K� 

 

Q90. A retailer bought a product from the wholesaler for Rs. 30. He sold it to the consumer at 
Rs 35 to gain profit. Which type of pricing method is used here? 

 

A. Markup pricing method B. Value pricing method 

C. Demand based pricing method D. Competition based pricing method 

Q90. �� र1�Oि1 िO .K� }0?+?1I 9O, 30 y+0O /O, �� �m+?/ �1I/?। �9िO ि?. �?्䵎 �1िO �O  ;ि� �9O �+.K्䴹? �K 35 y+0O /O -O� ;/0?। 
0:?� ;�9 ��?1 �ी /Kल㉍0 ;ि0?म1, +p;- �? �+0K� ;�0? �?-? :P? 

 

A. /?�? 
+ /लू㉍0 -10??1? ==�0 B. /लू㉍0 /लू㉍0 -10??1? ==�0 

C. /??� �0?91- /लू㉍0 -10??1? ==�0 D. ्䵚--0K��-? �0?91- /लू㉍0 -10??1? ==�0 
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Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. >बⱍ/ �? @AI ��=�1 �J)1�| 
�?)?/?? 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  
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Q6. ________ is the synonym of 'CAPABLE'. 
 

A. Proud B. Inept 

C. Competent D. Untrained 

 

Q7. _______________ is the antonym of 'FEEBLE'. 
 

A. powerful B. frail 

C. weak D. faint 

 

Q8. Identify the meaning of the idiom 'In the same boat'. 
 

A. Try and do something B. Live in the same town 

C. Be in the same position D. Say what it really means 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
Time and tide waits for none. 

 

A. tide is waiting B. tide has waited 

C. tide has been waiting D. tide wait 

 

Q10. Complete the sentence by choosing the correct word from the given options. 
 
In spite of many failures, he hopes to _________. 

 

A. lose B. succeed 

C. get dejected D. quarrel 

 

Q11. Mithali Raj is associated with which sport? 
 

A. Badminton B. Hockey 

C. Cricket D. Tennis 
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Q11. )?-?लI 0?� )�@ �Oल @O �JडI Aै䠂? 
 

A. -P!/ ?�0 B. AI�I 

C. }ि�O � D. �O)0@ 

 

Q12. International Anti-corruption day is observed on _______. 
 

A. 1st December B. 9th December 

C. 14th November D. 12th June 

Q12. 
�-0?ा�रI/ }�?�?0 )=0K0I )/=@ _______ �K ?1?/? �?-? AP। 
 

A. 1 /?@?-0 B. 9 /?@?-0 

C. 14 0=?-0 D. 12 �ू0 

 

Q13. Hirakud dam has been built on which river? 
 

A. Godavari B. Brahmaputra 

C. Mahanadi D. Krishna 

Q13. AI0?�J� ! ???0 )�@ 1/I +0 ?1?/? �/? AP? 
 

A. �K??=0I B. }} +I्䵔 

C.  A?0?I D. �ृ�+? 
 

Q14. ___________ legislature passed a bill proposing 16 per cent reservation for Marathas 
under the Socially and Educationally Backward Class (SEBC) category. 

 

A. Gujarat B. Meghalaya 

C. Manipur D. Maharashtra 

Q14. ___________ )=0?)/�? 1O @???)�� �0 >P�)?� z+ @O )+�डO =�ा (SEBC) ्䵦O?I �O  -A- ?0? ो䬂 �O  )ल� 16 �)->- 
�0�? �? �}-?= +?र0- )�/?। 

 

A. �I�0?, B.  O ?ल/ 

C.  +++I0 D.  A?0?�र 
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Q15. What is NHRC? 
 

A. National Herald Recreation Club B. National Human Rights Commission 

C. National Human Resources Committee D. National Highways and Road Commission 

Q15. NHRC ]/? AP? 
 

A. 0O>0ल AO0?ल㉍! 90}िए>0 कᕍल- B. 0O>0ल }/ू 0 0?�टὍ@ � I>0 

C. 0O>0ल }/ू 0 90@K@े� @/ ), D. 0O>0ल A?�=O� ए?! 0K! � I>0 

 

Q16. Which district in Haryana is the birth place of Bhagwad Gita? 
 

A. Panchkula B. Hisar 

C. Kurukshetra D. Sirsa 

Q16. Aर0/??? �O  )�@ )�लO ?O -�=/ �I-? �ी �m?}.लI AP? 
 

A. +?��I ल? B. /A@?0 

C. �I रぁ�O्䵔 D. /@0@? 
 

Q17. Who was the first chief minister of Haryana? 
 

A. Shri Bhagwat Dayal Sharma B. Shri Chotu Ram 

C. Rao Birendra Singh D. Shri Bansi Lal 

Q17. Aर0/??? �O  +AलO ?J_/?�}I �L1 .O? 
 

A. ्䵦I .?�=, ?/?ल > ?? B. ्䵦I �K�ू 0?  

C. 0?= -I0े䜂्䵖 /@?A D. ्䵦I -?@Iल?ल 

 

Q18. Who was elected as the deputy speaker of 14th Haryana legislative assembly? 
 

A. Shri Dushayant Chautala B. Shri Ranbir Gangwa 

C. Shri Gian Chand Gupta D. Shri Bhupendra Singh Hooda 
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Q18. Aर0/??? �ी 14 =K )=0?1 @-? �O  �+?o/� �O  z+ ?O )�@O �J1? �/?? 
 

A. ्䵦I ?I�/?, �L�?ल? B. ्䵦I 0+-I0 �?�=? 

C. ्䵦I _?0 �?? �Io,? D. ्䵦I .+ूे䜂्䵖 /@?A AIड⅍!? 
 

Q19. Nirmal Tanwar, present captain of Indian volleyball team hails from which district of 
Haryana? 

 

A. Ambala B. Faridabad 

C. Gurugram D. Panipat 

Q19. )1?ाल -�=0, -?0-I/ =QलI?Qल �I? �O  =-ा??1 �्䵎?1 Aर0/??? �O  )�@ )�लO @O Aै䠂? 
 

A. 
?-?ल? B. ,0I??-?? 

C. �Iरぁ्䵇?  D. +?0I+, 

 

Q20. Shweta Hooda, daughter-in-law of Shri Bhupendra Singh Hooda won gold medal in 
___________. 

 

A. wrestling B. horse riding 

C. boxing D. weightlifting 

Q20. ्䵦I -K+O� )@�A AI!M!? �ी ?AJ �O-? AI!M!? 1O ___________ ?O }=?ा +/� �I-?। 
 

A. �I �,I B.  Iडℼ@=?0I 

C.  Iकᕍ�O -?जI D. .?0K्䵈Kल0 

 

Q21. Haryana police won excellence award for which app during SKOCH-2019 summit held at 
New Delhi? 

 

A. Be Fearless B. Durga Shakti 

C. Nari Shakti D. Nirbhaya 

Q21. Aर0/??? +J)ल@ 1O 1� )/ल㉍लI ?O �/K)�- SKOCH-2019 )>�0 @म⹍?Oल1 �O  /L0?1 )�@ �+ �O  )ल� �m�L �-? +J0}�?0 �I-?? 
 

A. )0.?/ 0AK B. ?I�?? >]कᕍ, 

C. 0?0I >]कᕍ, D. )0.?/ 
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Q22. Which two districts of Haryana won the Swachh Survekshan Grameen 2019 award? 
 

A. Faridabad, Rewari B. Ambala, Kurukshetra 

C. Gurugram, Sirsa D. Sonipat, Panipat 

Q22. Aर0/??? �O  )�1 /K )�लो䬂 1O }=चᩍ� @=O�? 2019 �? +J0}�?0 �I-?? 
 

A. ,0I??-??, 0O=?डℼI B. 
?-?ल?, �I रぁ�O्䵔 

C. �Iरぁ्䵇? , /@0@? D. @K0I+,, +?0I+, 

 

Q23. Which weekly magazine was launched by Pt. Neki Ram Sharma? 
 

A. Sandesh B. Patrika 

C. Samvad D. Samvedna 

Q23. +�)!- 1O�ी 0?? >??ा 1O )�@ @?्䵎?)A� +)}�? �? >J-?0�- )�/? .?? 
 

A. @??O> B. +}्䵔�? 

C. @?=?? D. @?=O?0? 
 

Q24. Which amongst the following was NOT written by Shri Tulsi Ram Sharma? 
 

A. Shyam Satsai B. Yuddha Charita 

C. Satyagrahi D. Prahlad 

Q24. )1म⹍1)ल)�- ?O @O ]/? ्䵦I -Jल@I 0?? >??ा ्䵛?0? 1AK )ल�? �/? .?? 
 

A. �/?  @,@� B. /I/? �90,? 

C. @m/?्䵇AI D. �Aल?? 
 

Q25. Which of the following is NOT an autobiography of Kapil Dev? 
 

A. By God's Decree B. Playing it my way 

C. Cricket my Style D. Straight from the Heart 
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Q25. )1म⹍1)ल)�- ?O @O �L1 �)+ल /O= �ी �m?�.? 1AK AP? 
 

A. -?/ �Kड⅍@ )!िI B. oलO�?� ��  ?/ =O 

C. }ि�O �  ?/ }�?�ल D. }रP� �I  ? A?�? 
 

Q26. Which river flows on the eastern boundary of Haryana? 
 

A. Yamuna B. Ganga 

C. Gangotri D. Kaveri 

Q26. Aर0/??? �ी +K=I @I?? +0 �L1 @I 1/I ?A-I AP? 
 

A. / I0? B. �?�? 

C. �?�K्䵔I D. �?=O0I 
 

Q27. National Dairy Research Institute in Haryana is situated in _________. 
 

A. Karnal B. Faridabad 

C. Rewari D. Gurugram 

Q27. Aर0/??? ?O 0?�रI/ !O/0I 
1J@�0?1 @�}.?1 _________ ?O )}.- AP। 
 

A. �00?ल B. ,0I??-?? 

C. 0O=?डℼI D. �Iरぁ्䵇?  

 

Q28. Which district of Haryana does not touch border of any other state? 
 

A. Hisar B. Rewari 

C. Rohtak D. Karnal 

Q28. Aर0/??? �? �L1 @? )�ल? )�@I 
m/ 0?जᱍ/ �O  @?. 
+1I @I?? @?�? 1AK �0-? AP? 
 

A. /A@?0 B. 0O=?डℼI 

C. 0KA,� D. �00?ल 
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Q29. Haryana shares its capital with which state? 
 

A. Rajasthan B. Uttar Pradesh 

C. Himachal Pradesh D. Punjab 

Q29. Aर0/??? )�@ 0?जᱍ/ �O  @?. 
+1I 0?�0?1I @?�? �0-? AP? 
 

A. 0?�}-?0 B. �्䵈0 �?O> 

C. /A ?�ल �?O> D. +?�?- 
 

Q30. There are ______ municipal councils in Haryana. 
 

A. ten B. eighteen 

C. twelve D. eleven 

Q30. Aर0/??? 0?जᱍ/ ?O ______ 1�0+?)ल�? +र0?/ Aै䠂। 
 

A. ?@ B. 
 ?0A 

C. -?0A D. गᝍ/?0A 
 

Q31. How many wildlife sanctuaries are there in Haryana? 
 

A. 6 B. 7 

C. 8 D. 9 

Q31. Aर0/??? ?O �J ल )�-1O =m/�I= 
-/?0o/ Aै䠂? 
 

A. 6 B. 7 

C. 8 D. 9 

 

Q32. Which amongst the following is the state bird of Haryana? 
 

A. Asian Koel B. Black drongo 

C. Indian Peafowl D. Black Francolin 
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Q32. )1म⹍1)ल)�- ?O @O �L1@? +�I Aर0/??? �? 0?जᱍ/ +�I AP? 
 

A. ए/>/?� �Kएल B. �?ल? !ो䬂�K 

C. .?0,I/  K0 D. �?ल? �े䜂 �K/ल0 

 

Q33. Which famous cartoonist from Haryana was a part of the project "Kargil Kartoons"? 
 

A. Shri Rohit Sardana B. Shri Murarilal Sharma 

C. Shri Subhash Chandra D. Shri Chandra Shekhar Gurera 

Q33. Aर0/??? �O  �L1@O �)@्䵍 �?�K ा)1}� "�?0)�ल �?�K ाm@" +र0/K�1? �? )A}@? .O? 
 

A. ्䵦I 0K/A, @0??0? B. ्䵦I  I0?0Iल?ल > ?? 

C. ्䵦I @I.?? �?्䵖? D. ्䵦I �?्䵖>O�0 �I0O0? 
 

Q34. The minimum educational qualification set by the Haryana law to contest panchayat polls 
is ______ for general candidates. 

 

A. Class 12 B. Class 10 

C. Class 8 D. Class 5 

Q34. +��?/- �J1?= लड1O �O  )ल� @???m/ �म⹍?I/=?0ो䬂 �O  )ल� Aर0/??? �?1K1 ्䵛?0? )10?ार0- m/K1-? )>�? /K_/-? ______ AP। 
 

A. ��? 12 B. ��? 10 

C. ��? 8 D. ��? 5 

 

Q35. The Kalesar forest has ______ trees. 
 

A. Sal B. Peepal 

C. Eucalyptus D. Babul 

Q35. �लO@0 �O  ���ल ?O ______ �O  +Oड Aै䠂। 
 

A. 0 � B. +I+ल 

C. /I�/लo�I@ D. --लू 
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Q36. One byte equals ______ bits. 
 

A. Four B. Six 

C. Eight D. Twelve 

Q36. �� ??�� ______ )?�M@ �O  ?0??0 AK-? AP। 
 

A.  B.  

C.  D.  

 

Q37. What is Debian? 
 

A. Free operating system B. Free open source language 

C. Free open source MS Office-like application D. Fastest micro processor 

Q37. !O)?/1 ]/? AP? 
 

A. �I ऑ+0O/�?� /@}�  B. �I �+0 @K@? .??? 

C. �I �+0 @K@? MS ऑ},@ �I ,0A ए� एoलI�O >0 D. @-@O ,O�  ?�िK-�K@O@0 
 

Q38. Identify the odd one out. 
 

A. Keyboard B. Mouse 

C. Printer D. Joystick 

Q38. )-m1 �K �J1O: 
 

A. �I-K!? B.  ?�@ 

C. o�?�0 D. �K]}�� 

 

Q39. ISP stands for __________. 
 

A. Internet Servicing Protocol B. International Service Provider 

C. Internet Service Provider D. International Servicing Protocol 
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Q39. __________ , ISP �? 
@�)�्䵎 z+ AP। 
 

A. �?�00O� @O=? �K�K�Iल B. 
?,0??�रI/ @O=? �??,? 

C. �?�00O� @O=? �??,? D. 
?,0??�रI/ @O=? �K�K�Iल 

 

Q40. Pick the odd one out. 
Thailand, Indonesia, Vietnam, Afghanistan, Brunei 

 

A. Afghanistan B. Brunei 

C. Indonesia D. Vietnam 

Q40. )-m1 �K �J1O| 
.?�लै䠂!, ��!K1O)>/?, )=/-1??, 
,�?)1}-?1, }J1O� 

 

A. 
फ⬼ग?)0},?0 B. }I0O� 

C. �?!K0O/>/? D. o=/,0?  

 

Q41. KOUI : DHNB :: LNQU : ? 
 

A. ZCFI B. MPTX 

C. EGJN D. VYBF 

Q41. KOUI : DHNB :: LNQU : ? 
 

A. ZCFI B. MPTX 

C. EGJN D. VYBF 

 

Q42. Look at this series: 72, 63, 54, 45, 36, 27, _____. 
What number should come next? 

 

A. 21 B. 18 

C. 15 D. 9 
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Q42. )1म⹍1 ्䵦L��ल? �K /O)��: 
72, 63, 54, 45, 36, 27, _____. 

�@ ्䵦L��ल? ?O ��O �L1 @I @�_/? �1I �?)A�? 
 

A. 21 B. 18 

C. 15 D. 9 

 

Q43. In a different coding system, if EIGHTY is written as 123456, what is 54234? 
 

A. THIGH B. HIGHT 

C. TIGHT D. GETTY 

Q43. )�@I @?��O )-� -??? ?O /)/ 123456 @O EIGHTY ?1-? AK -K, 54234 @O ]/? ?1O�?? 
 

A. THIGH B. HIGHT 

C. TIGHT D. GETTY 

 

Q44. 

Total number of fruits in a basket is 136. Number of apples is  of mangoes; mangoes 

is  of oranges. How many mangoes were there in the basket? 
 

A. 96 B. 48 

C. 36 D. 24 

Q44. �K�0I ?O 0�O ,लो䬂 �ी �J ल @�_/? 136 AP। @O? �ी @�_/? �? �ी �J ल @�_/? �? /K )-A?� AP; �? @�-0O �ी �J ल @�_/? �? �� 

�L.?� AP। �K�0I ?O �J ल )�-1O �? Aै䠂? 
 

A. 96 B. 48 

C. 36 D. 24 

 

Q45. Mumtaz bought a microwave oven for Rs. 9000. She sold it at a profit of 15%. What was 
the selling price of the microwave oven? 

 

A. Rs. 12650 B. Rs. 10500 

C. Rs. 10350 D. Rs. 7650 
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Q45. ?J?-?� 1O 9000 y+/O ?O ??�्䵅K=O= �=1 �0I/?। �@1O �@O 15% �O  ल?- +0 ?O�?। ??�्䵅K=O= �=1 �? )=्䵅/ ?Kल㉍/ ]/? AK�?? 
 

A. Rs. 12650 B. Rs. 10500 

C. Rs. 10350 D. Rs. 7650 

 

Q46. Rahul scored 126 runs which included eleven boundaries and three sixers. What 
percentage of his total score did Rahul score in boundaries and sixers? 

 

A. 50.79% B. 49.2% 

C. 61.9% D. 63.46% 

Q46. 0?AIल 1O 126 01 ?1?� )�@?O _/?0A �L�O  �0 -I1 �]�O  >?)?ल .O। 0?AIल 1O 
+1O �J ल }�K0 �? )�-1? �)->- �L�O  �0 �]�O  ?O 
}�K0 )�/?? 

 

A. 50.79% B. 49.2% 

C. 61.9% D. 63.46% 

 

Q47. The ratio of the ages of Abdul and Rahman is 5:4. The sum of their ages is 72 years. What 
are their ages? 

 

A. Abdul is 36 and Rahman is 36 B. Abdul is 54 and Rahman is 18 

C. Abdul is 40 and Rahman is 32 D. Abdul is 27 and Rahman is 45 

Q47. 
बⱍ/Jल �0 0A??1 �ी �/J �? 
1J+?- 5: 4 AP। �1�ी �/J �? /K� 72 =?ा AP। �1�ी �/J ]/? AP? 
 

A. 
m?Iल 36 �0 0A ?0 36 @?ल �? AP B. 
m?Iल 54 �0 0A ?0 18 @?ल �? AP 

C. 
m?Iल 40 �0 0A ?0 32 @?ल �O  Aै䠂 D. 
m?Iल 27 �0 0A ?0 45 @?ल �O  Aै䠂 
 

Q48. In the visible spectrum, ___________ has the shortest wavelength. 
 

A. Violet B. Green 

C. Orange D. Red 

Q48. o�/??1 }+O]र? ?O, ___________ ?O @?@O �? -0�� /Po/ा AP। 
 

A. -ै䠂�0I B. ्䵇I0 

C. 0?0?�I D. ल?ल 
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Q49. Oxidation occurs when an atom, molecule, or ion loses one or more __________ in a 
chemical reaction. 

 

A. Protons B. Electrons 

C. Neutrons D. Hydrons 

Q49. �]@I�0? -? AK-? AP �? )�@I 0?@?/)1� �)-)्䵅/? ?O �� +0???J, 
?J, /? �/1 �� /? 
)0� __________ �K /O-? AP। 
 

A. �K�I0 B. �लOकᕍरI0 

C. m/रूI0 D. A?�्䵑Km@ 

 

Q50. In a eukaryotic cell, what is the role of mitochondria? 
 

A. To transport messages B. To make proteins 

C. To protect the cell D. To create energy 

Q50. /K�O र0/K)�� �K)>�? ?O, ??��K�Q)mि/? �ी -K)?�? ]/? AP? 
 

A. @??O>ो䬂 �K +90=A0 �00O �O  /लए B. �K�I0 -0?0O �O  /लए 

C. @Oल �I @I0�? �O  /लए D. ��?? +P?? �00O �O  /लए 
 

Q51. Sarfraz pays XYZ Company and obtains the rights to run a pre-school of XYZ company in 
his locality. Sarfraz is the ________ of XYZ Company. 

 

A. Brand name B. Franchisor 

C. Franchisee D. Owner 

Q51. @0,0?� XYZ �� +1I �K -J�-?1 �0-? AP �0 XYZ �� +1I �? �I-}�K ल �@�O  �ल?�O  ?O >Jy �01O �O  
)0�?0 �?्䵎 �0-? AP| 
@0,0?� XYZ �� +1I �? ______ AK-? AP| 

 

A. }	! 0?  B. ቸ硬े䜂 �?�ज0 

C. ቸ硬े䜂 �?�जI D.  ?/ल� 
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Q52. In a particular form of financing for her Textile Design business, Sarah receives capital 
from a private investor to fund her idea of the company and the investor gets partial 
ownership of Sarah's company in exchange. This type of funding is called _______. 

 

A. Venture Funding B. Capital Funding 

C. Angel Funding D. Seed Funding 

Q52. @?0? �O  �O]�?�ल )!�?�1 }/=@?/ ?O �@�ी �� +1I �ी �ल㉍+1? �O  )=m+K?? �O  )ल� �� )1)� )1=O>� +K?�I ल�?-? AP �0 ?/लO ?O 
)1=O>� �K @?0? �ी �� +1I ?O ��)>� }=?)?m= �?्䵎 AK-? AP| �@ ��?0 �O  )=m+K?? �K �A-O AP _________| 

 

A. =Om�0 ,]m!?� (�द♍/   लू/0) B. �P o+�ल ,]m!?� (+ू	�I  लू/0) 

C. एm�ल ,]m!?� (?O=?,ू  लू/0) D. @I! ,]m!?� (�?0]भ.�  लू/0) 

 

Q53. Who controls the factors of production in a "command economy"? 
 

A. Entrepreneurs B. Government 

C. Laws of supply and demand D. Customers 

Q53. "�??m! ��L1L?I" ?O �m+?/1 �O  �?0�ो䬂 �? )1/�}? �L1 �0-? AP? 
 

A. �द♍//  B. @0�?0 

C. �+)ू,? �0  ??� �O  )0 / D. ्䵇?A�ो䬂 
 

Q54. Where is the central office of Reserve Bank of India located? 
 

A. New Delhi B. Mumbai 

C. Hyderabad D. Calcutta 

Q54. -?0-I/ र0�=ा ?ै䠂� �? ?J_/ �?/?ाल/ �A?? +0 )}.- AP? 
 

A. 0� /?ल㉍लI B.  I?-� 

C. AP?0?-?? D. �ल�्䵈? 
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Q55. Which currency note issue system is used in India? 
 

A. The Fixed Fiduciary System B. The Proportional (Fractional) Reserve System 

C. The Minimum Reserve System D. The Maximum Limit System 

Q55. -?0- ?O �L1@I �0m@I 1K� ��/J )@}�? (?J�? 1K� �?0I �01O �ी �??लI) �/K� �ी �?-I AP? 
 

A. ? },कᕍ}! },ड⅍/I/>/0I /@}�  B. ? �+K>?0ल (�P कᕍ>0ल) 90�=? /@}�  

C. ? / )0   90�=? /@}�  D. ?  P]कᕍ@   /ल/ � /@}�  

 

Q56. Farhan, who runs a carpet business in Kashmir sells goods to Faizal in Uttar Pradesh. The 
GST rate is 12%. Under which GST category should Farhan charge 12% from Faisal? 

 

A. CGST 12% B. CGST 6% and SGST 6% 

C. IGST 12% D. SGST 12% 

Q56. ,0A?1 �)�?0 ?O �?)ल1 �? }/=@?/ �0-? AP, )�@1O �m0 �/O> �O  ,P �ल �K ??ल ?O�?| GST /0 12% AP| GST �ी �L1@I 
्䵦O?I �O  -A- ,0A?1 �K ,P @ल @O 12% >Jल㉍� लO1? �?)A�? 

 

A. CGST 12% B. CGST 6% �0 SGST 6% 

C. IGST 12% D. SGST 12% 

 

Q57. An independent auditor conducts audit for a XYZ company. The auditor concludes that 
the financial records and statements of a company are presented fairly and are appropriate. 
This type of judgment is called __________. 

 

A. Disclaimer of opinion B. Adverse opinion 

C. Qualified opinion D. Unqualified Opinion 

Q57. �� }=-�} लO�? +0I�� XYZ �� +1I �ी लO�? +0I�? �0-? AP| लO�? +0I�� )1��?ा )1�?ल-? AP )� �� +1I �O  )=mI/ 
)-लO� �0 
)==0? �)�- �0 /K_/ -0I�O  @O �}-J- )�� �� AP| �@ ��?0 �O  )1?ा/ �K __________ �A? �?-? AP। 

 

A. )!@कᕍलO 0 ऑ, �o+)0/0 (
}=I�0+  ,�?>?0) B. ए!=@? �o+)0/0 (�),�ूल  ,�?>?0) 

C. कᕍ=?/ल,?�! �o+)0/0 (
A?,? �?o,  ,�?>?0) D. 
0कᕍ=?/ल,?�! �o+)0/0 (
0A?  ,�?>?0) 
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Q58. Personal expenses are accidentally recorded as business expenses in the books. Which 
type of accounting error is this? 

 

A. Errors of Principle B. Errors of Omission 

C. Errors of Reversal D. Errors of Commission 

Q58. )1�I ��O �K �ल-I @O }/=@?/ ��O ?O लO�? +J}-�ो䬂 �O  
)-लO�ो䬂 ?O !?ल? �/?| /A �L1@O ��?0 �ी लO�? �ल-I AP? 
 

A. ए00 ऑ, o�]m@+ल (/@द♍/??, �I ्䵔I/�/??) B. ए00 ऑ, �/ >0 (�=O> �I ्䵔I/�/??) 

C. ए00 ऑ, 90=@?ल (}/Imि  �I ्䵔I/�/??) D. ए00 ऑ, �/ >0 (?ल?लI �I ्䵔I/�/??) 
 

Q59. In this type of audit, the auditor examines the policies and procedures of the department to 
see if it meets and satisfies the internal and regulatory standards. Which type of audit are 
we referring here? 

 

A. Operational Audit B. Investigative Audit 

C. Compliance Audit D. Statutory Audit 

Q59. �@ ��?0 �O  लO�? +0I�? ?O लO�? +0I�� )=-?� �ी 1I)-/?? �0 �)्䵅/?� � �K �??�-O AP /A /O�1O �O )ल� �ी /A ��-र0� �0 
)1/??1 ??1�ो䬂 +0 �0I �-0-I AP ]/?| A? )�@ ��?0 �O  लO�? +0I�? �K @�/)-ा- �0 0AO AP? 

 

A. ऑ+0O>0ल ऑ!I� (@?�?ल0 लO�? +0I�+) B. �0=O]}��O�I= ऑ!I� (
0I@?/?0?m � लO�? +0I�+) 

C. �भoल?/m@ ऑ!I� (+?ल0 लO�? +0I�+) D. }�PटὍ/I�0I ऑ!I� (=P/?)0� लO�? +0I�+) 

 

Q60. ________ is the cost that is already incurred and cannot be recovered. 
 

A. Incremental Cost B. Opportunity Cost 

C. Variable Cost D. Sunk Cost 

Q60. ________ /A �@I ल?�- AP )�@�? ��ा AK �J�? AP �0 =?)+@ 1AK +?� �? @�-I| 
 

A. �0}ि Om�ल �L}� (@?=दृ♍// ल?�,) B. ऑ+L्䵊/I?)0�I �L}� (o=�ल㉍+I ल?�,) 

C. =O90/O-ल �L}� (+90=,?0I/ ल?�,) D. @m� �L}� (!ू-?, ल?�,) 
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Q61. You have a packing material factory. You have taken this factory on rent. While doing a 
yearly audit, you had all these costs added. 
 
1. Wages to the labour 
2. Rent of the factory 
3. Bubble wrap used in the factory 
4. Pension given to the employees 
 
Which amongst these is/are direct labour cost? 

 

A. 1, 4 B. 2, 3 

C. Only 2 D. Only 4 

Q61. �+�? +P)�� � @??्䵇I �? �?0�?1? AP| �+1O /A �?0�?1? )�0?� +0 )ल/? AP| @?ल?1? लO�? +0I�? �O  /L0?1 �+1O /A @?0I ल?�- 
�K!I AP| 
 

1. �??�?0ो䬂 �K ?�/K0I 
2. �?0�?1O �? )�0?/? 
3. �?0�?1O ?O �/K� )�/? �/? ??ल 0P+ 
4. �)?ा/ो䬂 �K /I �� =L)m 
 

�1?O @O �L1@I @I0I �??�?0 ल?�- AP? 
 

A. 1,4 B. 2,3 

C. /@,?  2 D. /@,?  4 

 

Q62. Which amongst the following is the direct material cost to a furniture manufacturing 
company? 
 
A. The cost of wood used to create the furniture. 
B. The cost of wages and benefits for the carpenters to create the furniture. 
C. The cost of nails used to hold the furniture together. 
D. The cost of factory utilities. 

 

A. B,C B. B,D 

C. Only A D. A, C 
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Q62. )1म⹍1 ?O @O �L1@I ,)1ा�0 )1??ा? �� +1I �ी @I0I @??्䵇I�L}� AK�I? 
 

A. ,)1ा�0 )1??ा? ?O �/K� �ी �� ल�!I �ी ल?�-| 

B. ,)1ा�0 ?1?1O=?लO ?"� �ी ?�/K0I �0 ल?- �ी ल?�-| 

C. ,)1ा�0 ?O �/K� )�� �� �ीलो䬂 �ी ल?�-| 

D. �?0�?1O �ी �+/K)�-?� � �ी ल?�-| 
 

A. B,C B. B,D 

C. /@,?  A D. A, C 

 

Q63. You bought a set of shampoo, soap and skincare products manufactured by ABC 
company. You got this slightly cheaper because you bought this as one set. You would 
have paid more if you would have bought them individually. Which type of pricing is this? 

 

A. Psychological pricing B. Product Line Pricing 

C. Pre-emptive Pricing D. Captive pricing 

Q63. �+1O �� >ै䠂+K, @??K1 �0 m=�? /O�-?ल �m+?/ �? @O� �0I/? )�@�? )1??ा? ABC �� +1I 1O )�/? .?| �+�K /A .K!? @}-? 
)?ल? ]/ो䬂)� �+1O /A @? �� @O� ?O �0I/?| /)/ �+ �@O 
ल�-
ल� �0I/-O -K �+ 
)0� +P@? /O-O| ?Kल㉍/ )10?ा0? �? /A 
�L1@? ��?0 AP? 

 

A. @?/�LलL]��ल �?//@?� ( 0K=P_?)0�  लू㉍/ )0/??0+) B. �L!कᕍ� ल?�0 �?//@?� (�m+?? ल?�0  लू㉍/ )0/??0+) 

C. o�ए]भo�= �?//@?� (
0I ?0?m �  लू㉍/ )0/??0+) D. �P ]o�= �?//@?� (+�!  लू㉍/ )0/??0+) 

 

Q64. Which amongst the following four controllable variable of marketing mix refers to firm's 
communication with the consumers regarding the product? 

 

A. Product Mix B. Pricing Mix 

C. Promotion Mix D. Channel Mix 

Q64. )1म⹍1 ?O @O )=+?1 )?्䵦? �O  �L1@O �?0 )1/�}?I/ �0, �m+?/ �O  ??0O ?O �� +1I �O  ्䵇?A� @�+�ा  �K @�/)-ा- �0-O AP? 
 

A. �m+?? / ्䵦+ B.  लू㉍/ )0/??0+ / ्䵦+ 

C. ��?0 / ्䵦+ D. �P0ल / ्䵦+ 
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Q65. Match the following pricing strategy with its description. 

 
 

A. A-1, B-4, C-3, D-2 B. A-3, B-2, C-1, D-4 

C. A-4, B-3, C-2, D-1 D. A-2, B-1, C-4, D-3 
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Q65. )1म⹍1 ?Kल㉍/ )10?ा0? 0?1I)- �K �@�O  )==0? @O )?ल?�?| 

 
 

A. A-1, B-4, C-3, D-2 B. A-3, B-2, C-1, D-4 

C. A-4, B-3, C-2, D-1 D. A-2, B-1, C-4, D-3 

 

Q66. What does TCS mean in terms of Income Tax? 
 

A. Tax Carried at Source B. Total Capital Source 

C. Taxes Collected at Source D. Total Cash Security 

Q66. �/�0 �ी -??? ?O TCS �? ?-ल? ]/? AK-? AP? 
 

A. �Pकᕍ@ �P 90! ए� @K@? B. �K�ल �P o+�ल @K@? 

C. �Pकᕍ@O@ �लOकᕍ�O! ए� @K@? D. �K�ल �P > /@कᕍ/I90�I 
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Q67. In India, a surcharge of ______ is levied if an individual's income is more than Rs. 50 
Lakhs. 

 

A. 5% B. 8% 

C. 10% D. 15% 

Q67. -?0- ?O /)/ )�@I }/)ि �ी �/ Rs. 50 ल?� @O 
)0� AP -K ________�? @0�?�ा ल�-? AP| 
 

A. 5% B. 8% 

C. 10% D. 15% 

 

Q68. What are the effective taxes applicable if a person is above 60 years but below 80 years 
and his income is above INR 10,00,001? 

 

A. INR 1,12,500 + 30% of income exceeding INR 

10,00,000 

B. INR 10,000 + 20% of income exceeding INR 

10,00,000 

C. 20% of income exceeding INR 10,00,000 D. INR 1,10,000 + 30% of income exceeding INR 

10,00,000 

Q68. /)/ }/)ि �ी �� 60 @?ल @O 
)0� AP लO)�1 80 @?ल @O �? AP �0 �@�ी �/ INR 10,00,001 @O 
)0� AP -K �L1@O 
ल?�K �0 ल�O�O? 

 

A. INR 1,12,500 + �/ �? 30% //? �/ INR 

10,00,000 @O 
//� 

B. INR 10,000 + �/ �? 20% //? �/ INR 

10,00,000 @O 
//� 

C. �/ �? 20% //? �/ INR 10,00,000 @O 
//� D. INR 1,10,000 + �/ �? 30% //? �/ INR 

10,00,000 @O 
//� 

 

Q69. A variable that can only take on a certain number of values is called ____________. 
 

A. Discrete variable B. Continuous variable 

C. Dependent variable D. Independent variable 

Q69. �� �0 �K )@,ा  )1)ि- ?Kल㉍/ @�_/? लO @�-? AP �@O �A-O AP _______| 
 

A. )!]}ि� =O90ए-ल (
@,, �0) B. �]m�m/I
@ =O90ए-ल ()00?,0 �0) 

C. )!+Om!m� =O90ए-ल ()0.?0 �0) D. �0)!+Om!m� =O90ए-ल (}=,?्䵔 �0) 
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Q70. Your company's revenues and expenses are shown amongst which of the following? 
 

A. Income Statement B. Balance Sheet 

C. Cash Flow Statement D. Expenditure Statement 

Q70. �+�O  �� +1I �? 0?�}= �0 ��O )1म⹍1 ?O @O )�@ ?O )/�?� �?�?�O? 
 

A. �m�  }�O� Om� (�/ o==0+) B. -Pलm@ >I� (,Iल0 +्䵔) 

C. �P > oलK }�O� Om� (0�?I �=?A o==0+) D. एकᕍ@+Om!I�0 }�O� Om� (}// o==0+) 

 

Q71. Telecommunication cost is an example of which type of cost? 
 

A. Fixed cost B. Variable cost 

C. Mixed cost D. Scatter cost 

Q71. /K0@��?0 ल?�- �L1@O ��?0 �ी ल?�- �? �/?A0? AP? 
 

A. },कᕍ}! �L}� ()0]��, ल?�,) B. =O90ए-ल �L}� (�0 ल?�,) 

C. / कᕍ}! �L}� (/ ्䵦+ ल?�,) D. }�P �0 �L}� (,P लI ल?�,) 

 

Q72. Shekhar pays only Income Tax and does not pay Income Tax for his printing press. The 
business firm of Shekhar is __________. 

 

A. Private Limited Company B. Sole proprietorship 

C. Limited Partnership D. Cooperative Organisation 

Q72. >O�0 )@,ा  )@,ा  �/�0 -0-? AP �0 �@�O  �?+?�?1O �O  )ल� �/�0 1AK -0-? AP| >O�0 �ी }/=@?/ �� +1I __________ AP| 
 

A. �?/=O� /ल/ �O! �? +0I ()0�I @I/ , �? +0I) B. @Kल �K+0?/�0/>+ (ए�ल }=?/ m= �? +0I) 

C. /ल/ �O! +?�?00/>+ (@I/ , @?�O??0I �? +0I) D. �Kऑ+0O/�= ऑ�?0?/�O>0 (@A/K�I @?� 0) 

 

Q73. The Indian law relating to contracts by minors says, "Agreement with or by a minor is 
void". Which of the following statements is TRUE about a void agreement? 

 

A. Enforceable by the party other than the minor. B. Cannot be ratified at present by the minor but 

can be ratified when the minor attains majority. 

C. Not enforceable in a court of law. D. Liability is imposed on the parents/guardians of 

the minor when the agreement is void. 
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Q73. 1???)ल�ो䬂 1O )�� 
1J?�0 �O  @�?�0 ?O -?0-I/ �?1K1 �A-? AP )�, "1???)ल� �O  @?. /? �mAो䬂1O )�/? AI� 
1J?�0 )10.ा� AP|" )1म⹍1 ?O 
@O �L1@O 9च लO)�1 )10.ा� AP? 

 

A. 0?-?/ल� �O  
ल?=? 
m/ +�द♍=?0? ल?�ू }�/? �? @�,? AP| B. =,? ?0  े䜂 �@�I +I��I 0?-?/ल� द♍=?0? 0AI? �I �? @�,I 
लO}�0 �- 0?-?/ल� -?/ल� Aो䬂�O ,- +I��I �I �? @�,I AP| 

C. �?0ू0I m/?/?ल/  े䜂 ल?�ू 0AI? AP| D. �- @ �L,? )00-?� AK,? AP ,K ]�भ O??0I 
 ?,?o+,?/+?ल�ो䬂 +0 -K+I �?,I AP| 

 

Q74. What is the median of the following numbers? 
2,4,2,6,12,18,3,24 

 

A. 5 B. 6 

C. 7 D. 4 

Q74. )1म⹍1 @�_/?� � �O  ?I� �ी @�_/? ]/? AP? 
2,4,2,6,12,18,3,24 

 

A. 5 B. 6 

C. 7 D. 4 

 

Q75. The number of trees in each avenue is: 
2, 6, 5, 1, 8, 15, 12 
Calculate the Standard Deviation. 

 

A. 5.01 B. 4.96 

C. 4.72 D. 3.18 

Q75. A0 �लI ?O +O!ो䬂 �ी @�_/? AP: 
2,6,5,1,8,15,12 

??1� )=�ल1 �ी )�1-I �0O| 
 

A. 5.01 B. 4.96 

C. 4.72 D. 3.18 

 

Q76. Which amongst the following is an example of fixed asset? 
 

A. Money Orders B. Prepaid expenses 

C. Vehicles D. Promissory Notes 
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Q76. )1म⹍1 ?O @O }.?)/ @�+)m �? �/?A0? �L1@? AP? 
 

A.  0I ऑ!?@? (!?� /0??O>) B. o�+O! एकᕍ@+Om@O@ (+O>�I }//) 

C. =?A0 D. �L/ @0I 0K�@ (=�0 +्䵔) 
 

Q77. There are several forms of money in the Indian Banking System. Currency notes and coins 
are called __________. 

 

A. Commodity money B. Fiduciary money 

C. Fiat money D. Commercial bank money 

Q77. -?0-I/ ?ै䠂)�� � �??लI ?O +P@O �O  ?AK- y+ AP| �ल1 1K� �0 )@]�ो䬂 �K �A? �?-? AP ______| 
 

A. � L)!�I  0I (+o/ ्䵖}/) B. },ड⅍/I/>/0I  0I (�m//I ्䵖}/) 

C. },/?�  0I (�?��I ्䵖}/) D. � />?/ल -ै䠂�  0I (}/?+?0I -ै䠂� ्䵖}/) 

 

Q78. What is the deposit that banks must maintain as reserves with the Reserve Bank of India 
(RBI)? 

 

A. Currency Deposit Ratio (CDR) B. Reserve Deposit Ratio (RDR) 

C. Statutory Liquidity Ratio (SLR) D. Cash Reserve Ratio (CRR) 

Q78. ?ै䠂�ो䬂 1O -?0-I/ र0�=ा ?ै䠂� (RBI) �O  +?@ �K र0�=ा �O  -L0 +0 )!+L)�� 0�1? AK-? AP =K ]/? AP? 
 

A. �0m@I )!+L]�� 0O>K (CDR) ( I्䵖? � ? 
0I+?,) B. 90�=? )!+L]�� 0O>K (RDR) (�0्䵌�, � ? 
0I+?,) 

C. }�OटὍ/I�0I /ल]कᕍ=)!�I 0O>K (SLR) (=P/?)0� �ल )0// 


0I+?,) 

D. �P > 90�=? 0O>K (CRR) (�0्䵌�, 0�?I )0// 
0I+?,) 

 

Q79. Stocks of large companies that have lower liabilities and stable earnings and also pay 
regular dividends are called ________. 

 

A. Cyclical Stocks B. Defensive Stocks 

C. Beta Stocks D. Blue Chip Stocks 
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Q79. ?!I �� +1I/ो䬂 �? }�L� )�1�ी )�म⹍?O/?र0/?? �? �0 �??� )}.0 AK-I AP �0 )1/)?- y+ @O ल?-?�> /O-O AP, �mAO �A-O AP _______| 
 

A. @?/]कᕍल�ल }�Lकᕍ@ B. )!,O ]m@= }�Lकᕍ@ 

C. -I�? }�Lकᕍ@ D. mलू /�+ }�Lकᕍ@ 

 

Q80. Which ratios will tell you a company's ability to pay their short-term liabilities? 
 

A. Liquidity ratio B. Activity ratio 

C. Leverage ratio D. Performance ratio 

Q80. �� +1I �ी ल J 
=)0 /O1/?र0/?? -J�-?1 �01O �ी �?-? �O  ??0O ?O �L1@? 
1J+?- �+�K ?-?��?? 
 

A. /ल]कᕍ=)!�I 0O>K (�ल )0// 
0I+?,) B. ए]कᕍ�o=�I 0O>K (�),o=// 
0I+?,) 

C. /ल=0O� 0O>K (�्䵈Kल0 
0I+?,) D. +0,L ?m@ 0O>K (�?>?0 
0I+?,) 

 

Q81. In the books of ABC Traders, you find a journal entry where Stock Account is debited and 
Trading account is credited. This is an example of which type of journal entry? 

 

A. Transfer Entry B. Rectifying Entry 

C. Adjustment Entry D. Compound Entry 

Q81. ABC �ी लO�? +J}-�ो䬂 ?O �+�K �� �01ल �mरI (�1ाल �)=)�) )?लO�I �A??+0 }�L� �?-O �K !O)?� �0 रO)!�� �?-O �K ्䵅O !I� 
)�/? AP| /A �L1@O ��?0 �ी �01ल �mरI (�1ाल �)=)�) AP? 

 

A. र??@,0 एmरI (A},??,0+ �o=]��) B. 0O]कᕍ�,?�m� एmरI (@I/?0 �o=]��) 

C. ए!�}� Om� एmरI (@ ?/K�0 �o=]��) D. �भ+?�? ! एmरI (/L/�� �o=]��) 
 

Q82. In capital budgeting, the term Minimum Acceptable Rate of Return (MARR) is also 
known as ______. 

 

A. Leverage Rate B. Capital Rate 

C. Income Rate D. Hurdle Rate 
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Q82. �P )+�ल (+K��I) ?�O)��� ?O, )?)1?? �]@Oप⩍�O?ल 0O� �, र0�1ा (=?+@I �? m/K1-? }=I�?/ा /0) (MARR) �K /A -I �A-O AP 
_________| 

 

A. /ल=0O� 0O� (�्䵈Kल0 ?0) B. �P o+�ल 0O� (+ू	�I ?0) 

C. �m�  0O� (�/ ?0) D. A!?ल 0O� (-?/? ?0) 
 

Q83. Which of the following formulae shows how to calculate the Return on Investment (ROI)? 
 

A.  

B. 

C. 

D.  

Q83. र0�1ा �1 �m=O}�?Om� ()1=O> +0 =?+@I) (ROI) �P @O )�1I �?��I /A )1म⹍1 ?O @O �L1@? ,Lम⹍/Jाल? (@K}) />?ा-? AP? 
 

A.  
B.  

C. 

 

D.  

 

Q84. Which of the following is a short-term source of finance? 
 

A. Debenture/Bonds B. Term Loans 

C. Bill Discounting D. Venture Funding 

Q84. )1म⹍1 ?O @O �L1@? )=m+K?? �? ल J 
=)0 ኚ验K- AP? 
 

A. )!-Om�@? / -?	!@ B. � ? लKm@ (
=// ��??) 

C. }-ल )!}�?�? /�?� D. =Om�0 ,]m!?� (�द♍/  )0//�0+) 
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Q85. Purchase officer of a company wants to enquire about a certain order. She writes an email 
to the product officer of the company. This is an example of which type of business 
communication? 

 

A. Internal, Downward Communication B. Internal, Upward Communication 

C. External,Lateral Communication D. Internal, Lateral Communication 

Q85. �� �� +1I �O  ्䵅/ 
)0�?0I �� )=>O? �!ा0 �ी +K?�-?�� �01? �?A-? .?| �@1O �� +1I �O  �m+?/ 
)0�?0I �K �?Oल )ल�I| /A �L1@O 
��?0 �? }/?+?0 @�+�ा  AP? 

 

A. �?,90�, )0भ0 /?>? @?+�?  B. �?,90�, �द♍?M= /?>? @?+�?  

C. -?A0I, @ ??,0 @?+�?  D. �?,90�, @ ??,0 @?+�?  
 

Q86. Which of the following is NOT an advantage of written communication? 
 

A. Written business communication is useful 

where record maintenance is required. 

B. Written business communication is more 

precise and explicit. 

C. Written business communication saves upon 

the costs. 

D. Written business communication develops and 

enhances an organization's image. 

Q86. )1म⹍1 ?O @O �L1@? )ल)�- @�+�ा  �? ल?- न:ी䀂 AP? 
 

A. �- 
/.लO� 0�0�?= �I �=�/�,? AK,I AP ,- /ल+�, 

}/?+?0 @?+�?  @A?/� AK,? AP| 
B. /ल+�, }/?+?0 @?+�?  
//� @�I� �0 }+�� AK,? AP| 

C. /ल+�, }/?+?0 @?+�?  ल?�, �I -�, �0,? AP| D. /ल+�, }/?+?0 @?+�?  @?� 0 �I �), ? o=�/@, �0 
��?�0 �0,? AP| 

 

Q87. Shyam, the worker at ABC Mills was unable to understand a circular because it was badly 
translated. There was a misunderstanding between Shyam and his Supervisor because of 
the different meanings of certain words. This problem is called a _________ barrier of 
communication. 

 

A. Psychological B. Semantic 

C. Physiological D. Systematic 
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Q87. >??, ABC )?ल �? �� �?I �� +र0+} �K @?� 1AK +?/? ]/ो䬂)� �@�? 
1J=?/ �0?? .?| �J � �?@ >बⱍ/ो䬂 �O  )=)-m1 
.ा �K 
लO�0 >?? �0 �@�O  =र0� ?O �ल-फ⬼A?I +P/? AI�| �@ @?}/? �K �A? �?-? AP ______ ?Pर0/0 �, �म⹍/J)1�O >1 (@�+�ा  �? 

=0K0)| 

 

A.  0K=P_?)0� B. /@ P]m�� (
-? @?-?/I) 

C. >?0I90� D. /@}� P/�� (/-?ि ) 

 

Q88. Which of the following would you consider as "noise in communication"? 
 
A. Failed Internet connection 
B. Physical copy of the Work Order lost in transit 
C. Rumours in the organisation about a lay-off 
D. Over use of jargons in a mail 

 

A. A, B, C, D B. A, B, C 

C. B, C, D D. A, B, D 

Q88. )1म⹍1 ?O @O )�@O �+ "1Q�@ �1 �म⹍/J)1�O >1" (@��?0 ?O >K0)??1O�O? 
 

A. )=,ल ���01O� �1O]>1 
B. र?)m�� (+?0=A1) ?O �K� AI� �?/?ा/O> �ी �?��I �?+I 
C. @�� 1 ?O ?0-0फ⬼ी �ी 
,=?�? 
D. ?Oल (@�/O>) ?O >बⱍ/�?ल �? ?AK- 
)0� �/K� 

 

A. A, B, C, D B. A, B, C 

C. B, C, D D. A, B, D 

 

Q89. Radhika runs a pickles manufacturing unit in Ahmedabad. If her investment on machinery 
in the unit is Rs. 5 lakhs, then, the unit is classified under ________. 

 

A. micro Enterprise B. small Enterprise 

C. medium Enterprise D. large Enterprise 
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Q89.  

0?)0�? 
A?/???/ ?O �� ��?0 ?1?1O �? �?0�?1? �ल?-I AP| /)/ �?0�?1O �O  /�}ो䬂 ?O �@�? )1=O> Rs. 5 ल?� �? AP -K =A 
��?� ________ ्䵦O?I �O  -A- ���I| 

 

A.  ?/िK एm�0�?�� (@ू�  �द♍/ ) B. } Lल एm�0�?�� (�K�? �द♍/ ) 

C. / )!/  एm�0�?�� ( M/  �द♍/ ) D. ल?�? एm�0�?�� (-!? �द♍/ ) 

 

Q90. ABC company purchased 75% stocks of XYZ company. What is the term used for this act 
of ABC company in business environment? 

 

A. Merger B. Amalgamation 

C. Consolidation D. Acquisition 

Q90. ABC �� +1I 1O XYZ �� +1I �? 75% }�L� �0I/?| ABC �� +1I �ी �@ �?0=?� �K }/?+?0 /J)1/? ?O ]/? @�_? /I �?-I AP? 
 

A.  �?0 (o=ल/0) B. 
 ?ल㉍� O>0 (ए�I�0+) 

C. �m@L/ल!O>0 (@ O�0) D. ए]कᕍ=]�>0 (
/.्䵇A+) 
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Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  
B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  B.  

C.  D.  

 

Q5. 
 

 

A.  B.  

C.  D.  

 

Q6. ________ is the synonym of "GIANT". 
 

A. Huge B. Hard 

C. Hot D. Great 
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Q7. __________ is the antonym of "COMEDY." 
 

A. Thriller B. Tragedy 

C. Simple D. Heat 

 

Q8. Identify the meaning of the idiom "To die in harness." 
 

A. To die early B. To die under duress 

C. To die while on duty D. To die peacefully 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
 
We discussed this topic yesterday, haven't we? 

 

A. Didn't we B. Wasn't we 

C. Hadn't we D. Weren't we 

 

Q10. Complete the sentence using the correct form of the given verb. 
 
 
After _______ (finish) the work, they let the water fall on the wooden floor. 

 

A. finished B. finishing 

C. had finished D. finishes 

 

Q11. Pataliputra is now known as __________. 
 

A. Ranchi B. Patna 

C. Delhi D. Cuttack 

Q11. +?�;ि+J} �K 
- ________ 1?/ @O �?1? �?-? AP। 
 

A. 1 ?�I B. +�0  

C. /?ल㉍लI D. ��� 
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Q12. How many Miss World titles has India won till date? 
 

A. 4 B. 5 

C. 6 D. 7 

Q12. .?1- 1O �� -� ;�-1O ;/@ =्䵢Mड ;?-?- �I-O Aै䠂? 
 

A. 4 B. 5 

C. 6 D. 7 

 

Q13. Which important latitude passes through India? 
 

A. Tropic of Capricorn B. Tropic of Cancer 

C. Equator D. Antarctic Circle 

Q13. .?1- @O �L1 @? /Am=+K}ड 
]??> �J�1-? AP? 
 

A. /�1 1O�  B. ���  1O�  

C. .ू/o0 1O�  D. 
o� �� /�� =्ृ䵈 

 

Q14. Members of Rajya Sabha are elected by____. 
 

A. Directly by Citizens of India B. Members of Lok Sabha 

C. Members of Legislative Assembly D. Head of the ruling party 

Q14. 1?जᱍ0 @.? �O  @/}0 ____ �?1? �J1O �?-O Aै䠂। 
 

A. 9I/O . 1, �O  0 �91�ो䬂 द♍= 1  B. लK�9.  �O  9?}0ो䬂 

C. ==/ 0 9.  �O  9?}0ो䬂 D. 9्䵈 z? ?ल �O  ्䵚/I� 

 

Q15. General election in 2019 formed the ___ Lok Sabha. 
 

A. 16th B. 17th 

C. 18th D. 19th 

 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 04, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 4 of 30 

 

Q15. 2019 /े䜂 �/ �J1?= 1O ___ िK�@.? �? � 1 ;�0?। 
 

A. 16=I? B. 17=I? 

C. 18=I? D. 19=I? 
 

Q16. The Second Battle of Panipat was fought between _______. 
 

A. Akbar and Hemu B. Babur and Ibrahim Lodi 

C. Marathas and Ibrahim Lodi D. Ahmad Shah Durrani and Marathas 

Q16. +?1I+- �ी /K@1I िड?� _______ �O  -I� िडI �� .I| 
 

A. 
�-1 �1 :O/ू B. - -1 �1 �्䵜 /:/ लK?I 

C. /1    �1 �्䵜 /:/ लK?I D. 
:/? > : ?I1 �0I �1 /1    
 

Q17. At the time of independence, Haryana was part of which state? 
 

A. Punjab B. Jammu & Kashmir 

C. Himachal Pradesh D. Gujarat 

Q17. }=-?}-? �O  @/0, Aर10?}? ;�@ 1?जᱍ0 �? ;A}@? .?? 
 

A. +?� - B. �o/ू �1 ��/I1 

C. /:/ �ल ्䵚?O> D. �I�1 , 

 

Q18. In the Legislative Assembly elections held in 2019, which party emerged as the single 
largest party in Haryana? 

 

A. JJP B. BJP 

C. Congress D. NCP 

Q18. 2019 /े䜂 AK1O =?िO ;=0?1 @.? �J1?= /े䜂, �L1 @I +?�I Aर10?}? /े䜂 @-@O -डI +?�I �O  z+ /े䜂 �.1I? 
 

A. �O.�O.+I B. -I.�O.+I. 

C. � ?्䵇O9 D. �0.9I.+I. 
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Q19. Paralympic silver-medalist_________ is the first Indian woman para-athlete to be 
conferred the Rajiv Gandhi Khel Ratna award. She is from Sonepat. 

 

A. Devendra Jhajharia B. Deepa Malik 

C. Ekta Bhyan D. Karamjyothi Dalal 

Q19. +P1?;ि?;+� 1�--+/� ;=�O-? _________ 1?�I= �??0I ?Oि 1m1 +J1}�?1 @O @म⹍/?;1- AK1O =?िI +AिI .?1-I0 /;Aि? +P1?-ए.िI� 
Aै䠂। =A @K1I+- �ी 1A1O =?िI Aै䠂। 

 

A. ?O=े䜂्䵖 � �910  B. ?I+  /;ल� 

C. ��,  m0 0 D. �1/जᱍ0K-? ?ल ल 

 

Q20. How many manufacturing plants of Maruti are there in Haryana? 
 

A. 2 B. 3 

C. 1 D. 4 

Q20. Aर10?}? /े䜂 /?y;- �O  ;�-1O ;=;1/?ड} @?0?} Aै䠂? 
 

A. 2 B. 3 

C. 1 D. 4 

 

Q21. First Indian female wrestler to win a medal at the Olympics is from Haryana. Her name is 
______. 

 

A. Geeta Phogat B. Babita Kumari 

C. Sakshi Malik D. Vinesh Phogat 

Q21. �ि?;+� /े䜂 +/� �I-1O =?िI +AिI .?1-I0 /;Aि? +Aि=?1 Aर10?}? �ी Aै䠂। �1�? 1?/ AP ______। 
 

A. �I,  ,K�� B. ---,  �I / 1I 

C. 9 �I /;ल� D. ==0O> ,K�� 

 

Q22. Raja Nahar Singh Cricket stadium will be built at ______in Haryana. 
 

A. Faridabad B. Gurugram 

C. Kurukshetra D. Ballabhgarh 
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Q22. 1?�? 1?A1 ;@?A ;ि�O � }�O;M0/, Aर10?}? �? ;1/?ड} ______ /े䜂 �1=?0? �?ए�?। 
 

A. ,1I? - ? B. �Iy्䵇 / 

C. �I y�O्䵔 D. -ल㉍ल.�? 

 

Q23. Pandit Lakhmi Chand has been accorded the honor of the _______ of Haryanvi music 
genres Raagni and Saang. 

 

A. Surya Kavi B. Udaya Kavi 

C. Hasya Kavi D. Maulana 

Q23. +?;M- ि?/I �?/ �K Aर10?}=I @?�I- >P;ि0K 1?;�1I �1 @??� �O  ;िए _______ 1?/� @म⹍/?1 ;/0? �0? AP। 
 

A. 90ू� �== B. �?0 �== 

C. : }0 �== D. /Lल 0  
 

Q24. When was Haryana Urdu Academy established? 
 

A. 22 December 1945 B. 22 May 1985 

C. 22 December 1985 D. 20 January 1985 

Q24. Aर10?}? �/Kड 
�?//I �ी }.?+1? �- Aु�? 
 

A. 22 /?9?-1 1945 B. 22 /� 1985 

C. 22 /?9?-1 1985 D. 20 �0=1I 1985 

 

Q25. "Gaonkeaur" was written by_____. 
 

A. Shri Madhukant B. Shri Jagat Rai 

C. Shri Sundar Das D. Sant Surdas 

Q25. "�O�O z1" _____ �?1? ;ि?? �0? .?। 
 

A. ्䵦I //I� ?, B. ्䵦I ��, 1 0 

C. ्䵦I 9I??1 ? 9 D. 9?, 9I1? 9 
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Q26. ____ is the capital of Haryana. 
 

A. Faridabad B. Gurugram 

C. Panchkula D. Chandigarh 

Q26. ______ Aर10?}? �ी 1?�0?1I AP। 
 

A. ,1I? - ? B. �Iy्䵇 / 

C. +?��I ल  D. �?!I�? 

 

Q27. Haryana State has ____ number of districts. 
 

A. 25 B. 23 

C. 21 D. 22 

Q27. Aर10?}? 1?जᱍ0 /े䜂 ____ ;�िO Aै䠂। 
 

A. 25 B. 23 

C. 21 D. 22 

 

Q28. Haryana shares its boundary with _________ in the south-west. 
 

A. Punjab B. Delhi 

C. Gujarat D. Rajasthan 

Q28. Aर10?}? /;]}-+;ि/ /े䜂 _________ �O  @?. 
+1I @I/? @?�? �1-? AP। 
 

A. +?� - B. /?ल㉍लI 

C. �I�1 , D. 1 �}? 0 

 

Q29. ____ is the state flower of Haryana. 
 

A. Lotus B. Rose 

C. Snowdrop D. Sunflower 

 

 

 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 04, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 8 of 30 

 

Q29. ______ Aर10?}? �? 1?��ी0 +J�+ AP। 
 

A. �/ल B. �Iल - �  ,ूल 

C. }0K्䵑I+ D. 91ू�/I�I 
 

Q30. As on 1-December-2019, how many seats are there in the current Haryana Legislative 
assembly? 

 

A. 105 B. 90 

C. 99 D. 89 

Q30. 1 ;/@?-1 2019 -�, Aर10?}? ;=0?1 @.? /े䜂 ;�-1I @I�े䜂 Aै䠂? 
 

A. 105 B. 90 

C. 99 D. 89 

 

Q31. Which of the following river passes through Haryana? 
 

A. Markanda B. Mahanadi 

C. Narmada D. Chambal 

Q31. ;1म⹍1;ि;?- /े䜂 @O �L1 @I 1/I Aर10?}? @O AK�1 �J�1-I AP? 
 

A. / 1�? !  B. /: 0?I 

C. 0/�?  D. �?-ल 

 

Q32. In which district of Haryana can you find the Khol Hi-Raitan Wildlife sanctuary? 
 

A. Jhajjar B. Panchkula 

C. Rewari D. Kurukshetra 

Q32. Aर10?}? �O  ;�@ ;�िO /े䜂 �+ ?Kि AI-1?0-?1 =m0�I= 
.0?1o0 +? @�-O Aै䠂? 
 

A. �जᱍ�1 B. +?��I ल  

C. 1O= )I D. �I y�O्䵔 
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Q33. What crop is the most cultivated one in Haryana? 
 

A. Wheat B. Rice 

C. Sugarcane D. Corn 

Q33. Aर10?}? /े䜂 @-@O 
;0� ;�@ ,@ि �ी ?O-I �ी �?-I AP? 
 

A. �O:ूK B. � =ल 

C. �m0  D. /कᕍ�  
 

Q34. Who is not a political leader from Haryana? 
 

A. Shri Bhajan Lal B. Shrimati Seilja Kumari 

C. Shri Randeep Surjewala D. Shri Jaswant Singh 

Q34. ;1म⹍1 /े䜂 @O �L1 @? 1?�;1;-� िIM1 Aर10?}? @O 1AK AP? 
 

A. ्䵦I .�0 ल ल B. ्䵦I/,I >Pल�  �I / 1I 

C. ्䵦I 1+?I+ 91ू�O= ल  D. ्䵦I �9=?, ;9?: 

 

Q35. _________ award is given by Haryana Government to confer Lifetime Achievement 
Award to an eminent person in literature for outstanding contribution in promoting Hindi 
literature. 

 

A. Sur Samman B. Kavi Raj 

C. Udaya Kavi D. Rashtra Kavi 

Q35. _________ +J1}�?1 Aर10?}? @1�?1 �?1? @?;Am0 /े䜂 �m�L � 0K�/?1 �O  ;िए �@ ;=0? /े䜂 ए� �;-;?- }0;ि �K ि?�,�?�/ 

�I=/े䜂� 
=?Mड @O @म⹍/?;1- �11O �O  ;िए ;/0? �?-? AP। 

 

A. 9I1 9o/ 0 B. �== 1 � 

C. �?0 �== D. 1 �र �== 

 

Q36. BIT is an abbreviation for __________. 
 

A. Basic Information Technology B. Binary Technology 

C. Binary Digit D. Basic Intelligence Technology 
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Q36. BIT __________ ;1म⹍1 /े䜂 @O ;�@�? @?;]्䵎 1?/ AP? 
 

A. -O;9� �0, /े>0 �Oकᕍ0KलI�I B. - �01I �Oकᕍ0KलI�I 

C. - �01I )!��� D. -O;9� �?�O;ल�े䜂9 �Oकᕍ0KलI�I 
 

Q37. Which of the following operating systems does not offer a Graphical User Interface 
(GUI)? 

 

A. DOS B. Windows 

C. Linux D. Fedora 

Q37. ;1म⹍1;ि;?- /े䜂 @O �L1 @? ऑ+1O;�?� ;@}�/ ्䵇?;,�ि 0K�1 �?�1,O @ (GUI) �/?1 1AK �1-? AP? 
 

A. !I9 B. ==?!K� 

C. ;ल0कᕍ9 D. ,O !K1  
 

Q38. Which of the following computer devices is not a pointing device? 
 

A. Light Pen B. Scanner 

C. Trackball D. Joystick 

Q38. ;1म⹍1;ि;?- /े䜂 @O �L1 @? �? प⩍0K�1 ;M=?�@ ए� +Q�?;�?� ;M=?�@ 1AK AP? 
 

A. ल �� +O0 B. }�P 01 

C. रP�-Iल D. �K�}�� 

 

Q39. What is TCP/IP used for? 
 

A. To connect to the Internet B. To get files from another computer 

C. To keep addresses in memory for future use D. To send e-mails 

Q39. TCP/IP ;�@�O  ;िए �+0K� ;�0? �?-? AP? 
 

A. �?�10O� 9O �I)0O �O  ;ल� B. ?9ू1O �? o0�ू1 9O , �ल ्䵚 o, �10O �O  ;ल� 

C. .==�0 /े䜂 �+0K� �O  ;ल� }/-ृ, /े䜂 1�0O �O  ;ल� D. �-/Oल .O�0O �O  ;ल� 
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Q40. Pick the odd one out. 
 
Fig, Mango, Apple, Hibiscus, Guava 

 

A. Mango B. Apple 

C. Guava D. Hibiscus 

Q40. ;=?/ �? �01 �ी;�0O। 
 


?�I1, �/, @O-, ;A;-}�@, 
/z/ 
 

A. �/ B. 9O- 

C. 
/z? D. /:--}�9 

 

Q41. AbCDdd : ddDCbA : : KKcfDm : ? 
 

A. mDFcKK B. KKcDfm 

C. mDfcKK D. mDfckk 

Q41. AbCDdd : ddDCbA : : KKcfDm : ? 
 

A. mDFcKK B. KKcDfm 

C. mDfcKK D. mDfckk 

 

Q42. Complete the series given below. 
9, 25, ____, 81, 121 

 

A. 41 B. 49 

C. 55 D. 56 

Q42. /I Aु� ्䵦??ि? �K +K1? �1े䜂। 
 
9, 25, __, 81, 121 

 

A. 41 B. 49 

C. 55 D. 56 
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Q43. If APPLE can be written as BQQMF, then, ORANGE can be written as: 
 

A. PSBOHF B. PTBOHF 

C. PTCOHE D. PTCHOE 

Q43. 0;/ APPLE �K BQQMF �O  z+ /े䜂 ;ि?? �?-? AP, -K, ORANGE �K �P @O ;ि?? �?ए�?? 
 

A. PSBOHF B. PTBOHF 

C. PTCOHE D. PTCHOE 

 

Q44. Simplify: 
 

 
 

A. 1100 B. 1000 

C. 36.00 D. 20.20 

Q44. @/?0?1 �1े䜂: 
 

 
 

A. 1100 B. 1000 

C. 36.00 D. 20.20 

 

Q45. A person bought a clock at Rs. 350 and sold it at a profit of 12%. What is the selling 
price? 

 

A. Rs. 383 B. Rs. 392 

C. Rs 381 D. Rs 400 

Q45. ए� }0;ि 1O 350 y+0O /े䜂 ए�  डI ?1I/I �1 �@O 12% �O  ि?. /े䜂 -O� /I।  डI �? ;=ि0 /K्䵢0 _?- �ी;�0O। 
 

A. Rs. 383 B. Rs. 392 

C. Rs 381 D. Rs 400 
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Q46. What is 25% of 32 % of 3/8th of 500? 
 

A. 18 B. 15 

C. 25 D. 35 

Q46. 500 �O  3/8 �O  32% �? 25% ]0? AK�?? 
 

A. 18 B. 15 

C. 25 D. 35 

 

Q47. In a school, ratio of teacher and students is 4:17. If the total number of students is 3400, 
find the number of teachers in the school. 

 

A. 500 B. 800 

C. 640 D. 340 

Q47. ए� }�K ि /े䜂, ;>]� �1 �?}K �? 
1J+?- 4:17 AP। 0;/ �?}K �ी �J ि @?_0? 3400 AP, -K }�K ि /े䜂 ;>]�K �ी @?_0? _?- �1े䜂। 
 

A. 500 B. 800 

C. 640 D. 340 

 

Q48. When a car moves along a horizontal curved road, the persons in the car feel being pulled 
outwards towards the car doors. This force is __________. 

 

A. Gravitational force B. Rotational force 

C. Centripetal force D. Centrifugal force 

Q48. �- ए� �?1 ए� ]P;-�  J/?=/?1 @ड� +1 �ि-I AP, -K �?1 �O  }0;ि0K �K �?1 �O  /1=?�K �ी -1, -?A1 �ी �1 ?K�? �?-? AP। 
0A -ि __________ AP। 

 

A. �Iym= �}�+ -ल B.  +ूी -ल 

C. �O m्䵖 ;./I� -ल D. 
;.�O m्䵖I0 -ल 

 

Q49. When an electron jumps from one orbit to another, energy is _______________. 
 

A. emitted always B. absorbed always 

C. either emitted or absorbed D. neither emitted nor absorbed 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 04, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 14 of 30 

 

Q49. �- ए� �िO]रQ1 ए� �]? @O /K@1I �]? /े䜂 �K /-? AP, -K ��?ड _______________ AK-I AP। 
 

A. :/O>  �m9���, B. :/O>  
=>K=}, 

C. 0  ,K �m9���, 0  
=>K=}, D. 0 ,K �m9���, �1 0 :I 
=>K=}, 

 

Q50. Which of these is NOT a role of the central vacuoles in a plant cell? 
 

A. It prepares food for the plant. B. It helps in breaking down of waste. 

C. It is a storage area for nutrients and waste 

matter. 

D. It helps to give shape to cell. 

Q50. �1/े䜂 @O ]0? ए� =1}+;- �K;>�? /े䜂 �े䜂 �I0 र1;ि�? �ी .K;/�? 1AK AP? 
 

A. 0: +L/O �O  ;ल� .K�0 ,P0 1 �1,  :P। B. 0: 
+;>�� �K ,K)0O /े䜂 /?? �1,  :P। 

C. 0: +K}� ,m=ो䬂 �1 
+;>�� +? ?� �O  ;ल� �� .?! 1+ �O्䵔 

:P। 
D. 0: �K;>�  �K �� 1 ?O0O /े䜂 /?? �1,  :P। 

 

Q51. What is "MUDRA Bank"? 
 

A. Micro Units Development and Refinance Agency 

Bank 

B. Microfinance and Urban Development Reserve 

Agency Bank 

C. Micro and Ultra-micro enterprises Development 

Refinance Authority Bank 

D. Micro-enterprises in Urban Areas Development 

Reserve Authority Bank 

Q51. "MUDRA -ै䠂�" ]0? AP? 
 

A. / 0्䵅K 0I-0�9 )!=ल+/Om� 
K! 91, 00Pm9 ��m9I -ै䠂� B. / 0्䵅K, 00 m9 
K! 
-�0 )!=ल+/Om� 91�=� ��m9I -ै䠂� 

C. / 0्䵅K 
K! 
ल㉍र -/ 0्䵅K �m�1्䵚 ��O9 )!=ल+/Om� 

91, 00 m9 
?L91�I -ै䠂� 

D. / 0्䵅K-�m�1्䵚 ��O9 �0 
-�0 �910 9 )!=ल+/Om� 91�=� 

?L91�I -ै䠂� 

 

Q52. Which of the following is NOT a role/function of a business incubator? 
 

A. Nurtures startup firms during their early years B. Provides affordable space, shared offices and 

services 

C. Provides hands-on management training and 

marketing support 

D. Provides financing to startups 
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Q52. ;1म⹍1 /े䜂 @O �L1@I }0=@?0 �1]0J-O�1 �ी .K;/�?/�?0ड 1AK AP? 
 

A. 
+0O >Iy�,I =}ो䬂 �O  ?L1 0 }� ��
+ ,/ो䬂 �  +K}+ �10  B. 9},I ��:, 9 �  � 0 �ल0 �1 9O= �K ्䵚? 0 �10  

C. }0 =: 91� ्䵚-?/0 ्䵚;>�+ �1 ==++0 9/?�0 ?O0 | D. �द♍0/ �K ==्䵈+K}+ ?O0 | 
 

Q53. The typical economy of a particular country has the following characteristics: 
A. Co-existence of public and private sectors 
B. Industries like power and oil, banking, and insurance are nationalised 
C. Development planning to achieve faster economic growth 
Which type of economy does this country have? 

 

A. Socialism B. Mixed economy 

C. Market economy D. Command economy 

Q53. ए� ;=>O? /O> �ी @?/?m0 
.ड}0=}.? /े䜂 ;1म⹍1 ;=>O?-?ए	 AK-I AP: 
A. @?=ड�;1� �1 ;1�I ]O} �? @A-
;}-m= AK-? AP 
B. ;-�िI �1 -Oि �P@O �oK�, -ै䠂;�? � �1 -I/? 1?�रI0�L - AK-O AP 
C. �;.ड� ;=�?@ >I्䵈 +?1O �O  ;िए 0K�1? ;=�;@- �ी �?-I AP 
�@ /O> /े䜂 ;�@ -1A �ी �;.ड� }0=}.? AP? 

 

A. 9/ �= ? B. ;/-्䵦, 
?�}0=}?  

C. - � 1 
?�}0=}?  D. > ;9, 
?�}0=}?  
 

Q54. Where is the Indian Institute of Petroleum and Energy located? 
 

A. Dehradun B. Vishakhapatnam 

C. Jam Nagar D. Guwahati 

Q54. .?1-I0 +OरK;ि0/ �1 ��?ड @?}.? �A?	+1 ;}.- AP? 
 

A. ?O:1 ?0ू B. ==> � +टὍ�0/ 

C. � / 0�1 D. �I= : �I 
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Q55. "When companies manufacturing consumer goods face increased input costs on raw 
materials and wages, they will preserve their profitability by passing the increased 
production cost to the end consumer in the form of increased prices." This defines 
__________. 

 

A. Cost-to-Cost inflation B. Cost-Pull Effect 

C. Cost-Push Effect D. Demand-Pull Effect 

Q55. <�- �+.Kि? =}-J� ? �ी ;1/?ड-? �? +1I0K �K �चᩍ�? /?ि �1 =O-1 �O  y+ /े䜂 �1+J� �ी -+I Aु� ि?�- �? @?/1? �11? +M-? AP -K 
�1�ी 
+1I ि?.�/-? -1�1?1 1?1O �O  ;िए �m+?/1 �ी -+I Aु� �ी/- =O �ी/- -+?�1 �+.Kि? @O =@Jि �1-O AP|= 0A 
________ �K +र1.?;?- �1-? AP| 

 

A. ल �,-9O-ल �, /I्䵖 },I-, B. ल �,-�I?� ्䵚. = 

C. ल �,-/कᕍ�  ्䵚. = D. / K�-�I?� ्䵚. = 

 

Q56. The Reserve Bank of India launched _______ on 23rd December 2019. The aim of this 
operation is to increase the long-term investment in the country. 

 

A. Operation Deflation B. Operation Economy Boost 

C. Operation Turnaround D. Operation Twist 

Q56. .?1-I0 र1�=ड -ै䠂� 1O _______ �K 23rd ;/@?-1 2019 +1 >Jy ;�0?| �@ ऑ+1O>1 (�?0ड) �? िቌ䲚0 AP /O> /े䜂 /I ड �?िI1 ;1=O> 

�K -+?1?| 
 

A. �+1O>0 )!oलO>0 B. �+1O>0 ��K0L;/ -}ू� 

C. �+1O>0 �0�
1 �? ! D. �+1O>0 टὍ==}� 

 

Q57. When determining the sample size, the auditor should also consider ____________ in 
addition to Sampling Risk and Tolerable error. 

 

A. Expected Error B. Error-free parameter 

C. Risk Accommodation parameter D. Error deviation percentage 
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Q57. 1/K1O �? ��?1 -0 �1-O @/0 िO?? +1I]� 1O @Pम⹍+;िm� �K?I/ �1 �Lि1O-ि (@A1 �11O 0K_0) }J;� �O  @?. _______ �@�K 
.I o0?1 /े䜂 िO1? �?;Aए| 

 

A. 
+O्䵌�, ्䵔I/� B. ्䵔I/� /Iकᕍ, +P1 /I�1 

C. �K��/ �I?ज �> +P1 /I�1 D. ्䵔I/� ==�ल0 ्䵚-,>, 

 

Q58. _________ is an effective sampling technique for studying how a trend or issue might 
differ across subgroups. 

 

A. Stratified Sampling B. Systematic Sampling 

C. Block Sampling D. Quadratic Sampling 

Q58. ए� रOmM 0? @/}0? @.I �+�J�K /े䜂 �P @O -/ि-I AP �@�O  
o001 �O  ;िए__________ ए� �.?=I @Pम⹍+;िm� -?} AP| 
 

A. }रP/�, �! 9Po+;लm� B. ;9}�/P/�� 9Po+;लm� 

C. mलL� 9Po+;लm� D. कᕍ= ्䵑 /�� 9Po+;लm� 

 

Q59. Under the New/Revised Standards (Auditing, Review and Others), which of the following 
segments specifies about "Using Work of Others"? 

 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

Q59. 1ए/ @?>K;0- /?1�K (िO??+1I]}, @/I]? �1 
m0) �O  -A- </K@1K �O  �?/ �? �+0K� �11?= �O  -?1O /े䜂 ;1म⹍1 /े䜂 @O �L1@? ??M 

;1;/ड� �1-? AP? 
 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

 

Q60. Managerial accounting information is prepared for ______, while financial accounting 
information is directed primarily at _______. 

 

A. stock holders, internal management team B. internal users, external users 

C. audit team, Ministry of Corporate Affairs D. creditors, Internal audit team 
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Q60. �-?0�ी0 िO?? �?1�?1I ________ �O  ;िए -P0?1 �ी �?-I AP, �- ;� ;=mI0 िO?? �?1�?1I �? /J_0 िቌ䲚0 AP _______| 
 

A. . �/ 1�, �?,91� ्䵚-?/0 �I� B. �?,91� �+0K��, �, - :1I �+0K��, � 

C. लO�  +1I�� �I�, �L+ो1O� 
,O 9� /?्䵔 ल0 D. लO0? 1, �?,91� लO�  +91�+ �I� 

 

Q61. Stephanus owns a bicycle manufacturing company. Which of the following can be added 
as manufacturing overhead costs? 
A. Rent of the factory premises 
B. Depreciation on the manufacturing equipment 
C. Salaries of factory maintenance employees 
D. Electricity used in the factory 

 

A. A, B, C, D B. A, B, D 

C. B and D D. B, C, D 

Q61. ;}�,1 �ी @?�;�ि ;1/?ड} �ी �? +1I AP| ;1/?ड} �+1I ?�K /े䜂 ;1म⹍1 /े䜂 @O ]0? �KM? �? @�-? AP? 

A. �?1??1O �ी ��A �? ;�1?0? 
B. ;1/?ड} 0?}K +1 MO;�;@ए>1 (/K्䵢0्䵩?@) 

C. �?1??1? 1?1??= �;/�0K �? =O-1 
D. �?1??1O /े䜂 �0K� �ी �� ;-�िI 

 

A. A, B, C, D B. A, B, D 

C. B �1 D D. B, C, D 

 

Q62. A learning and development company decides to contract vendor companies to create 
content for their learning products. This is an example of _________. 

 

A. Offshoring B. Outsourcing 

C. Global Sourcing D. Insourcing 

Q62. ए� ;>]? �1 ;=�@1 �? +1I 1O �1�O  ;>]? �m+?/K �O  ;िए ;=िO -? �? +1I @O 
1J-?0 �11O �? -0 ;�0?| 0A ___________ �? 
�/?A1} AP| 

 

A. �,>K91?� B. ���9K;9ि㼂� 

C. गᝍलK-ल 9K;9ि㼂� D. �09K;9ि㼂� 
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Q63. A _______ is what makes your product or service stand out from your competitors and is 
generally the reason why customers will purchase your product or service over those of 
the competition. 

 

A. Brand Equity (BE) B. Unique Selling Proposition (USP) 

C. Intellectual Property (Ip) D. Packaging and Styling Value (PSV) 

Q63. ___________�O  �?1} �+�O  �m+?/ 0? @O=?ए	 �+�O  �;-}+0I @O 
ि� AK-O AP �1 @?/?m0-: 0AI �?1} AK-? AP ;� ्䵇?A� 

�+�O  �;-}+0I �O  -�?ए �+�O  �m+?/ 0? @O=?ए	 ?1I/-O AP| 
 

A. ्䵜K! ��कᕍ=�I B. 0I-0� 9O;ल?� ्䵚+K��>0 

C. -Lद♍-/� 9?+=्䵈 D. +P�O ��?� �1 }� 0;ल?� /लू㉍0 

 

Q64. In which type of pricing methodology, a product is sold at a price which is below the 
normal or market price for a short period of time to boost sales, beat competition or bring 
awareness among consumers? 

 

A. Pre-emptive Pricing B. Psychological pricing 

C. Product line pricing D. Captive pricing 

Q64. �L1@O ��?1 �ी /K्䵢0 ;10?ड1} +्䵍;- /े䜂, -Iिी �K -+?1O �O  ;िए, �;-}+0?ड �K /?- /O1O �O  ;िए 0? ्䵇?A�K /े䜂 �?�z�-? ि?1O �O  ;िए, 
�J � 
=;0 �O  ;िए �m+?/ @?/?m0 �ी/- @O 0? -?�?1 /K्䵢0 @O �/ /े䜂 -O�? �?-? AP? 

 

A. =्䵚�o+/�= /लू㉍0 -0/ �1+ B. /0K=P_ -0� /लू㉍0 -0/ �1+ 

C. �m+ ? ल �0 /लू㉍0 -0/ �1+ D. �P �o�= /लू㉍0 -0/ �1+ 

 

Q65. In the new Product Development cycle, when will you develop marketing and other 
business strategies? 

 

A. After the most feasible idea from the pool of 

ideas is selected 

B. Just before the product is introduced into the 

market 

C. After the concept is developed and tested D. After product prototype is introduced for 

research and feedback 

Q65. 1ए �m+?/ ;=�@1 �ि /े䜂 �+ ;=+}1 �1 
m0 }0=@?0 1}1I;- �- ;=�;@- �1े䜂�O? 
 

A. �- �ल㉍+0 �? �O  +लू 9O 9-9O }0=: 0� �ल㉍+0  �I0I � ��I B. �m+ ? - � 1 /े䜂 �,10O 9O ?K!  +:लO 

C. 9?�ल㉍+0  ==�;9, :K�1 +1I�+ �O  - ? D. 
0I9?/ 0 �1 ्䵚-,+I��� �O  ;ल� �m+ ? ्䵚K�K� �+ 
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(�द♍0y+) /?� � 0O �O  - ? 

 

Q66. What does TDS mean in terms of Income Tax? 
 

A. Tax Deducted at Source B. Total Debt Service 

C. Tax Dues at Source D. Total Deposit Security 

Q66. �0 �1 /े䜂 TDS �? /-ि- ]0? AP? 
 

A. ्䵨K, +1 �1 ��L,I B. �I ल ॠ+ 9O=  

C. }्䵔K, +1 �1 -� 0  D. �I ल �/  9I1�  
 

Q67. If you come under the higher income tax bracket i.e. 30%, then you are liable for paying 
an additional amount of surcharge on the Income Tax amount you are liable to pay. What 
is the surcharge rate for Individuals with income more than Rs. 50 lakhs but less than Rs.1 
crore? 

 

A. 10% B. 12% 

C. 15% D. 8% 

Q67. 0;/ �+ �चᩍ� �0 �1 �K?� /े䜂 �-O AP 0?;1 ;� 30%, -K �+�O  �0 �1 +1 �+�K 
;-र1ि @1�?�ड 1?;> /O1I AK�I| 0;/ 
}0;ि�- �0 �1 Rs. 50 ि?? @O 
;0� AP िO;�1 Rs.1 �K�I @O �/ AP -K @1�?�ड /1 ;�-1? AK�?? 

 

A. 10% B. 12% 

C. 15% D. 8% 

 

Q68. What are the effective taxes applicable if a person is above 60 years but below 80 years 
and his income is between INR 5,00,001 to INR 10,00,000? 

 

A. INR 12,500 + 20% of income exceeding INR 

5,00,000 

B. INR 10,000 + 20% of income exceeding INR 

5,00,000 

C. 20% of income exceeding INR 5,00,000 D. INR 1,10,000 + 30% of income exceeding INR 

5,00,000 
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Q68. 0;/ �K� }0;ि 60 @?ि @O 
;0� �1 80 @?ि @O �/ �्䵞 �ी AP �1 �1�ी �0 INR 5,00,001 @O INR 10,00,000 �O  
-I� AP -K �1�K ;�1-? �.?=I �1 ि?�K AK�?? 

 

A. INR 12,500 �0 + 20% �0 �  INR 5,00,000 9O 

-/� 

B. INR 10,000 �0 + 20% �0 �  INR 5,00,000 9O 

-/� 

C. INR 5,00,000 9O 
-/� �0 �  20% D. INR 1,10,000 �0 + 30% �0 �  INR 5,00,000 

9O 
-/� 

 

Q69. Time and weight are which type of variable? 
 

A. Discrete variable B. Continuous variable 

C. Dependent variable D. Independent variable 

Q69. @/0 �1 =�1 �L1@O ��?1 �O  =Oर1ए-ि (+र1=-ड1>Iि) AP? 
 

A. 
9,, +91=,�0>Iल B. -01?,1 +91=,�0>Iल 

C. -0.�1 +91=,�0>Iल D. }=,?्䵔 +91=,�0>Iल 

 

Q70. The company's assets and liabilities are shown amongst which of the following? 
 

A. Income Statement B. Balance Sheet 

C. Cash Flow Statement D. Expenditure Statement 

Q70. �? +1I �ी @?+;m �1 �m1/?;0m= ;1म⹍1 /े䜂 @O ;�@/े䜂 />?ड0? �?-? AP? 
 

A. �0 ===1+ B. ,Iल0 +्䵔 

C. �P > oलK ===1+ D. }00 ===1+ 

 

Q71. Property tax is an example of which type of cost? 
 

A. Fixed cost B. Variable cost 

C. Mixed cost D. Scatter cost 
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Q71. @?+;m �1 �L1@I ��?1 �ी ि?�- �? �/?A1} AP? 
 

A. -0���, ल �, B. +91=,�0>Iल ल �, 

C. ;/्䵦 ल �, D. --�1I ल �, 

 

Q72. According to The Sales of Good Act 1930, "Where the transfer of the property in the 
goods is to take place at a future time, the contract is called _______." 

 

A. transfer of good B. sale of goods 

C. agreement to sale D. transfer of sales deed 

Q72. /?ि ;=ि0 
;0;10/ 1930 �O  
1J@?1, <�- .;=�0 /े䜂 /?ि @?+;m �? A}-??-1} �11? AK�? -K �@ 
1J-?0 �K �A-O AP 
________|= 

 

A. / ल :}, ?,1+ B. / ल -I्䵅I 

C. -I्䵅I 9:/-, 
0I-?/ D. -I्䵅I +्䵔 :}, ?,1+ 

 

Q73. Damages which are difficult to access are called __________. 
 

A. Liquidated Damages B. Nominal Damages 

C. Punitive Damages D. Consequential Damages 

Q73. ;�@ A?;1 �? /K्䵢0??�1 �11? �; 1 AK-? AP �@O �A-O AP _____| 
 

A. ;ल�कᕍ=!O�O! (+919/ +0) : -0 B. 0 // ्䵔 : -0 

C. ??!0I0 : -0 D. +91+ /I : -0 

 

Q74. What is the median of the following numbers? 
2,4,2,6,12,18,3,24,1,6 

 

A. 4 B. 6 

C. 15 D. 5 
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Q74. ;1म⹍1 /े䜂 @O -I� �ी @?_0? �L1@I AP? 
2,4,2,6,12,18,3,24,1,6 

 

A. 4 B. 6 

C. 15 D. 5 

 

Q75. The number of trees in each avenue is: 
10,12,14,15,17,18 
Calculate the Standard Deviation. 

 

A. 2.75 B. 5.08 

C. 6.02 D. 7.55 

Q75. A1 �िI /े䜂 +OMK �ी @?_0? AP: 
10,12,14,15,17,18 

/?1� ;=�ि1 ;�1े䜂| 
 

A. 2.75 B. 5.08 

C. 6.02 D. 7.55 

 

Q76. Which amongst the following is NOT a liquid asset? 
 

A. Stocks B. Promissory notes 

C. Venture Capital Investment D. Tax refunds 

Q76. ;1म⹍1 /े䜂 @O �L1@I ;ि;]=M (�ि) @?+;m 1AK AP? 
 

A. }�Lकᕍ9 B. =�0+्䵔 

C. �द♍0/ +ूK�I -0=O> D. �1 = +9I 
 

Q77. The balance in savings and deposits in current account, held by the public in commercial 
banks is called __________. 

 

A. demand deposits B. time deposit 

C. fiat money D. promissory note 
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Q77. }0?+?1I -ै䠂�K /े䜂 �1?� (�?िK) ??-O /े䜂 ;M+L;�� �1 -�- ??-O /े䜂 -?�ी 1?;> �K �A-O AP _______| 
 

A. / K� )!+L���9 B. 
=-/ )!+L��� 

C. � ��I /I्䵖  D. =�0+्䵔 

 

Q78. Which of the following is the correct definition of Cash Reserve Ratio (CRR)? 
 

A. The proportion of the total deposits commercial 

banks keeps as reserves. 

B. The deposits that banks must maintain with the 

RBI. 

C. The ratio of money held by the public in 

currency to that they hold in bank deposits. 

D. The ratio of banks total demand and time 

deposits in the form of specified liquid assets. 

Q78. ;1म⹍1 /े䜂 @O �L1@I �P > र1�=ड 1O>K (1�/ �1;]- 
1J+?-) (CRR) �ी @AI +र1.??? AP? 
 

A. }0 + 1I -ै䠂�ो䬂 0O �1्䵌�, 1�O :I� �I ल )!+L���9 �  

0I+ ,| 

B. -ै䠂�ो䬂 0O RBI �O  + 9 �K )!+L��� 1�0  :K,  :P| 

C. �0,  �O  + 9 0�?I y+ /े䜂 �K +P9  +!  :P �9�  �m:ो䬂0O -ै䠂� 

/े䜂 1�O :I� )!+L��� 9O 
0I+ ,| 

D. -ै䠂�ो䬂 �O  -0/?��� �ल 9?+=्䵈 �O  y+ /े䜂 �I ल / K� �1 
=-/ 

)!+L���9 �  
0I+ ,| 

 

Q79. Which types of stocks offer investors a fixed amount of dividend every year? 
 

A. Mid Cap Stocks B. Preferred Stocks 

C. Common stocks D. Hybrid Stocks 

Q79. �L1@O ��?1 �O  }�L]@ ;1=O>� �K A1 @?ि ए� ;1;ि- 1?;> ि?.??> �O  -L1 +1 /O-O AP? 
 

A. ;/! �P + }�Lकᕍ9 B. =्䵚,!� }�Lकᕍ9 

C. 9 / m0 }�Lकᕍ9 D. : 0्䵜I! }�Lकᕍ9 

 

Q80. Which ratios will tell you a company's ability to pay its long-term debt? 
 

A. Liquidity ratio B. Activity ratio 

C. Leverage ratio D. Performance ratio 
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Q80. �? +1I �O  /I ?ड=;0 �} .J�-?1 �11O �ी ]/-? �O  -?1O /े䜂 �L1@O 
1J+?- �+�K --?ए	�O? 
 

A. �ल -0-/ 
0I+ , B. �-,==-/ 
0I+ , 

C. ;ल=1O� (�्䵈Kल0) 
0I+ , D. ्䵚?>�0 
0I+ , 

 

Q81. While recording all bank deductions related to a bank reconciliation, which type of journal 
entry do you make? 

 

A. Transfer Entry B. Rectifying Entry 

C. Adjustment Entry D. Compound Entry 

Q81. -ै䠂� र1�;m@;िए>1 (/Oि-�Kि) @O @?-?;0- @.I -ै䠂� ��L;-0K �? 
;.िO?1 �O  ;िए �+ �L1@I �11ि �;=;� �1े䜂�O? 
 

A. :}, ?,1+ ्䵚==��� B. 9I/ 1 ्䵚==��� 

C. 9/ 0K�0 ्䵚==��� D. 0L-�� ्䵚==��� 

 

Q82. What is IRR? 
 

A. Industrial Rate of Return B. Income Reversible Rate 

C. Internal Rate of Return D. Income Refund Rate 

Q82. IRR ]0? AK-? AP? 
 

A. �द♍0K-�� = +9I ?1 B. �0 ्䵚-,=,ी ?1 

C. �?,91� = +9I ?1 D. �0 = +9I ?1 
 

Q83. Which of the following shows the role of a finance manager? 
 

A. Creating maximum profit for the company by 

managing its production. 

B. Managing all aspects of the company's 

business. 

C. Arranging funds for the company's business. D. Acquiring funds and utilizing the financial 

resources for company's business. 
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Q83. ;1म⹍1 /े䜂 @O �L1@? ;=mI0 �-?0� �ी .K;/�? />?ड-? AP? 
 

A. �? +0I �O  �m+ ?0 �  ्䵚-?/0 }0=}? +0 �1, �? +0I �O  ;ल� 


-/�,/ ल . -0/ �+ �10 | 
B. �? +0I }0=9 0 �O  9.I +:ल�ू? �  }0=}? +0 �10 | 

C. �? +0I }0=9 0 �O  ;ल� ==्䵈}0=}?  �10 | D. �? +0I �O  }0=9 0 �O  ;ल� ==्䵈 : ;9ल �1 ==्䵈I0 }्䵔K,ो䬂 �  
्䵚0K� �10 | 

 

Q84. Which of the following is a NOT a long-term source of finance? 
 

A. Debenture/Bonds B. Term Loans 

C. Bill Discounting D. Venture Funding 

Q84. ;1म⹍1 /े䜂 @O �L1@? /I ?ड=;0 ;=m ኚ验K- 1AK AP? 
 

A. )!-Om�9� / - K!9 B. 
=-/ �+ 

C. --ल )!}� �? /�?� D. =Om�1 ==्䵈+K}+ 

 

Q85. A memo regarding mock drill for the safety requirements has come from the manager of 
the company to all the clerks. This is an example of which type of business 
communication? 

 

A. Internal, Downward Communication B. Internal, Upward Communication 

C. External Communication D. Lateral Communication 

Q85. �? +1I �-?0� @O @.I ]ि�ड @ �K @J1]? �=�0�-?�@ �O  ;िए 1�िI �=?0- �O  -?1O /े䜂 /O/K (_?+1) .O�? �0?| 0A �L1@O ��?1 
�? }0=@?0 @?+�ड  AP? 

 

A. �?,91�, -0o0 /?>  9?+��  B. �?,91�, �o=� /?>  9?+��  

C. - :1I 9?+��  D. + �=� 9?� 1 
 
 
 
 
 
 
 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 04, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

AfterNoon Session 
 

February 27, 2020  Page 27 of 30 

 

Q86. Identify the characteristics of a business communication. 
A. Practical 
B. Factual 
C. Clear and brief 
D. Target oriented 
E. Luring 

 

A. A, B, C, D, E B. B, C, D, E 

C. A, B, C, D D. A, C, D, E 

Q86. }0=@?0 @?+�ड  �ी ;=>O?-?ए	 +-? �1े䜂| 
A. }0?=A?र1� 

B. -m0?m/� 

C. @?, �1 @?;]्䵎 
D. िቌ䲚0 �m/J? 

E. िJ.?1O=?ि? 
 

A. A, B, C, D, E B. B, C, D, E 

C. A, B, C, D D. A, C, D, E 
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Q87. Match the types of business communication and their description. 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 
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Q87. }0=@?0 @?+�ड  ��?1 �K �1�O  ;==1} @O ;/ि?ए	| 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 

 

Q88. Sanjana runs a leather product manufacturing unit in Puducherry. If her investment in 
plant and machinery is 8.75 crores, then, the unit is classified under: 

 

A. Micro Enterprise B. Small Enterprise 

C. Medium Enterprise D. Large Enterprise 

Q88. @?�1? ए� �/MO �O  �m+?/ ;1/?ड} ��?� +??;M�O1I /े䜂 �ि?-I AP| 0;/ �?1??1? �1 0?}K /े䜂 �@�? ;1=O> 8.75 �K�I AP -K ��?� �ी 
्䵦O}I AK�I: 

 

A. 9ूቌ䲚/ �द♍0/ B. �K�  �द♍0/ 

C. /o0/ �द♍0/ D. -!  �द♍0/ 
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Q89. What do you mean by the term "business angel"? 
 

A. An individual who provides capital for a 

business start-up in return for a stake in the 

company. 

B. An individual who invests in your company 

shares. 

C. An individual who buys more than 50% of your 

company's shares. 

D. An individual who acquires stakes of your 

company and sells it in the market at good rates. 

Q89. <;-;�1O@ एm�ि= @?_? �? /-ि- ]0? AP? 
 

A. �� }0�कᕍ, �K }0=9 0 �द♍0/ /े䜂 �? +0I /े䜂 }�O� 

(/:}9O? 1I) �O  -?लO /े䜂 +ूK�I ्䵚? 0 �1,I :P| 
B. �9I }0�कᕍ, �K �+�O  �? +0I >O09� /े䜂 -0=O> �1,I :P| 

C. �9I }0�कᕍ, �K �+�O  �? +0I �O  50% 9O 
-/� >O09� 
�1I?,I :P| 

D. �9I }0�कᕍ, �K �+�O  �? +0I /े䜂 /:}9O? 1I ्䵚 o, �1,I :P 
�1 - � 1 /े䜂 
चᩍ�I �I/, /े䜂 -O�,I :P| 

 

Q90. The market system where there is only one buyer for a particular good or service, giving 
that buyer significant power in determining the price of the products produced is called 
__________. 

 

A. Monopoly B. Perfect Competition 

C. Oligopoly D. Monopsony 

Q90. ए� -?�?1 �}?िI �A?	+1 ए� ��?1 �O  /?ि 0? @O=? �? ;@,ड  ए�AI ?1I//?1 AP ;�@�O  �?1} �@ ?1I//?1 �K �m+?/ �ी �ी/- -0 

�11O �ी >;ि �?्䵎 AK-I AP, �@O �A-O AP ________| 
 

A. �� -/� 1 B. 0Kगᝍ0 ्䵚-,?=?द♍?I 

C. 
ल㉍+ -/� 1 D. ्䵅O ,  �� -/� 1 
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Q1. 
 

 

A.  
B.  

C.  D.  

 

Q2. 

 

 

A.  B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  
B.  

C.  
D.  

 

Q5. 
 

 

A.  B.  

C.  D.  
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Q6. What is the synonym of "PITY"? 
 

A. Cruelty B. Sympathy 

C. Merry D. Glad 

 

Q7. ______________ is the antonym of <SANGUINE=. 
 

A. Lively B. Confident 

C. Morose D. Ugly 

 

Q8. Identify the meaning of "Giving the cold shoulder". 
 

A. Be nervous B. Having the full attention 

C. Would not listen to something D. Ignore someone 

 

Q9. The sentence has an incorrect phrase, which are shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
 
Yesterday, the ISRO engineer find a debris of Chandrayaan-2 lander on the Moon. 

 

A. is finding a B. found the 

C. was found a D. has been finding the 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
I like to _________ (sing) when I am tired. 

 

A. sing B. singing 

C. sings D. sang 

 

Q11. The Indian emperor who was known as Vikramaditya was _______. 
 

A. Samudra Gupta B. Chandra Gupta I 

C. Chandra Gupta II D. Kumara Gupta 
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Q11. .?1,I0 A्䵞?� �िmBO �?्䵅/?�?त⑍0 �O  )?/ AO ि?)? ि?,? -?, ?B _____-O। 
 

A. A/I्䵖�Io$ B. ��्䵖�Io$ ्䵚%/ 

C. ��्䵖�Io$ द♍=?$I0 D. �I /?1�Io$ 

 

Q12. Who was the Indian, who won the Noble prize for Economics in 2019? 
 

A. Amartya Sen B. Abhijit Banerjee 

C. Michel Mayor D. Tarun Banerjee 

Q12. 2019 /O 
-थ??ኚ验 �O  �ि� )K-Oि +J1}�?1 िI,)O ??ि? .?1,I0 �L) -O? 
 

A. 
/्䵔0/ AO( B. 
-?�I$ -(�ी 

C. /?��ल /O01 D. $y( -(�ी 
 

Q13. The Tropic of Cancer does NOT pass through which of the Indian states? 
 

A. Bihar B. Madhya Pradesh 

C. Gujarat D. Rajasthan 

Q13. ��थ  1O�? .?1, �O  ��A 1?जᱍ0 AO BK�1 )Bी䀂 �Jि1,I BP? 
 

A. --B?1 B. /o0 ्䵚&O? 

C. �I�1?$ D. 1?�}%?( 

 

Q14. The erstwhile state of Jammu and Kashmir has been reorganized by the Union 
Government in 2019 to form two Union Territories - UT of Jammu and Kashmir and UT 
of ______. 

 

A. Leh B. Ladakh 

C. Kargil D. Pulwama 

Q14. िम⹍/K �1 ��/I1 �O  ,त⑍�?िI) 1?जᱍ0 �? 2019 /O �O � A1�?1 �?1? +J)�थ ) ��0? �0? BP �1 �AO ?K �O � ??�A, �?O?, िम⹍/K-��/I1 
�1 ____ /O �?.?�ि, �1 �?0? �0? BP। 

 

A. लOB B. लद♍&?� 

C. �?1��ल D. +Iल??/? 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 04, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 4 of 30 

 

 

Q15. Ram Setu is located in which of the following Straits? 
 

A. Palk Strait B. Nine-degree channel 

C. Bering Strait D. Strait of Gibraltar 

Q15. 1?/ AO,J �)म⹍)�ि��, /O AO ��A िि!/z/o0 /O �}-, BP? 
 

A. +?� �ल!/z/o0 B. (?�( )!्䵇I �P(ल 

C. -O91�� �ल!/z/o0 D. ��्䵜?ल㉍�1 �I �ल!/z/o0 

 

Q16. Haryana was formed on ______ 1966. 
 

A. 1st November B. 1st August 

C. 1st December D. 1st April 

Q16. Bर10?+? �? � ) ______ 1966 �K Bु� -?। 
 

A. 1 (?�-1 B. 1 
�}$ 

C. 1 /&A�-1 D. 1 
्䵚Pल 

 

Q17. What was the title given to Lala Lajpat Rai for his role in the Indian freedom struggle? 
 

A. Punjab Kesari B. Haryana Kesari 

C. Sher-e-Haryana D. Sher-e-Hind 

Q17. ि?ि? ि?ि+, 1?0 �K .?1,I0 }?,�},? A�्䵇?/ /O �)�ी .K�/�? �O  �ि� ]0? �+?�? ?I �� -I? 
 

A. +��?- �O A1I B. B910?#? �O A1I 

C. ?O1-�-B910?#? D. ?O1-�-/Bm& 
 

Q18. In September 2019, which airline started its services in Hisar district of Haryana? 
 

A. Indian Airlines B. Jet Airlines 

C. Vistara D. Spice Jet 
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Q18. �A,�-1 2019 /O Bर10?+? �O  �BA?1 �ििO /O ��A �01ि?�) )O 
+)I AO??�� ?Jz �ी? 
 

A. ��)!0( ए01ल?��A B. �O� ए01ल?��A 

C. =?}$?1? D. }+?�A �O� 
 

Q19. As on 1-December-2019, who is the Deputy Chief Minister of Haryana? 
 

A. Shri Mahipal Dhanda B. Shri Dushyant Chautala 

C. Shri JP Nadda D. Shri Kanwar Pal 

Q19. 1-�?A�-1 -2019 �K, Bर10?+? �O  �+ /J_0/�}I �L) -O? 
 

A. ्䵦I /BI+?ल "?�!? B. ्䵦I &I�0�$ �L�?ल? 

C. ्䵦I �O+I (ड⅍!? D. ्䵦I �� ?1 +?ल 

 

Q20. Who is the fastest Indian bowler to take 50 wickets in T-20 series held in Bangladesh 
2019? 

 

A. Rishabh Pant B. Jasprit Bumrah 

C. Bhuvneshwar Kumar D. Yuzvendra Chahal 

Q20. -?�_ि??O? /O 2019 /O �0K�ि, �I-20 श㙍र��ि? /O A-AO ,Oि 50 �?�O � िO)O ??िO .?1,I0 �O?-?ि �L) -)O? 
 

A. �@? +�$ B. �A्䵚I$ -I/1?B 

C. ?I?(O�?1 �I /?1 D. 0I�?े䜂्䵖 �Bल 

 

Q21. Where was the khel mahakumb 2019 held in Haryana? 
 

A. Gurugram B. Faridabad 

C. Kurukshetra D. Rohtak 

Q21. Bर10?+? /O �Oि /B?�J� . 2019 �B?? �0K�ि, ��0? �0? -?? 
 

A. �Iy्䵇?/ B. ,1I&?-?& 

C. �I y�O्䵔 D. 1KB$� 
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Q22. Who amongst the following sports persons won the 2019 Doodle for Google contest? 
 

A. Arpita Yadav B. Divyanshi Singhal 

C. Kirti Chautala D. Devshree Rastogi 

Q22. �)म⹍)�ि��, /O AO ��A ��ि?]I )O 2019 /O �K�ि ��,0K��,? �? !K!ि िI,?? 
 

A. 
=+/$? 0?&? B. /&=0?�?I -A� ल 

C. �I}$/ �L�?ल? D. &O?्䵦I 1}$K�I 
 

Q23. The Haryana Kala Parishad Multi Art Cultural Centre is located at ___________. 
 

A. Kurukshetra B. Ambala 

C. Sonipat D. Rewari 

Q23. Bर10?+? �ि? +र1@? /ल㉍�I ��थ �ल㉍�1ि AO�1 ___________ /O �}-, BP। 
 

A. �I y�O्䵔 B. 
�-?ल? 

C. AK(I+$ D. 1O??डI 
 

Q24. In which of the following languages, you cannot find much Haryanvi literature? 
 

A. Hindi B. Braj 

C. Urdu D. Pali 

Q24. �)म⹍)�ि��, /O AO ��A .?@? /O, �+ �K जᱍ0??? Bर10?+?I A?�Bत⑍0 )Bी䀂 �/िO�?? 
 

A. /B�&I B. ्䵜� 

C. �&द/ D. +?लI 
 

Q25. Who among the following is well known for his comic and satiric poetry in Haryanvi 
language? 

 

A. Shri Dayachand Mayna B. Shri Surendra Sharma 

C. Shri Gajendra Verma D. Shri Sonu Nigam 
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Q25. �)म⹍)�ि��, /O AO �L) Bर10?+?I .?@? /O 
+)I B?}0 �1 }0�_0 ��?,? �O  �ि� ि?)? ि?,? BP? 
 

A. ्䵦I &0?��& /?0(? B. ्䵦I AI1Om्䵖 ?/?/ 

C. ्䵦I ��Om्䵖 ?/?/ D. ्䵦I AK(द }(�/ 

 

Q26. Nek Chand Saini is associated with the _________. 
 

A. Novel, Lalpasina B. Literary work, Seep ka Moti 

C. Film, Chandrawal D. Rock Garden 

Q26. )O� ��? AP)I _________ AO िJ]O Bै䠂। 
 

A. �+m0?A, ल?ल+AI(? B. A?/B�्䵔0� �?0/, AI+ �? /K$I 

C. +,ल㉍/, ��्䵖??ल D. +्䵔%1 -?ग᜼ 

 

Q27. Which is the largest district of Haryana in terms of area? 
 

A. Panchakula B. Sirsa 

C. Faridabad D. Gurugram 

Q27. �O},ि �ी o�ि AO Bर10?+? �? A-AO -]? �िि? �L) A? BP? 
 

A. +���I ल? B. -A1A? 

C. ,1I&?-?& D. �Iy्䵇?/ 

 

Q28. Aravalli hills are found in the ________ part of Haryana. 
 

A. central B. southern 

C. northern D. eastern 

Q28. 
1??िI �ी +B?�]0?? Bर10?+? �O  ________ .?� /O +?� ि?,I Bै䠂। 
 

A. �े䜂 ्䵖I0 B. &्䵌�# 

C. �्䵈1I D. +द?ी 
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Q29. Anagpur dam is located in which district of Haryana? 
 

A. Sirsa B. Faridabad 

C. Panchakula D. Gurugram 

Q29. 
)�+J1 -??? Bर10?+? �O  ��A �ििO /O �}-, BP? 
 

A. -A1A? B. ,1I&?-?& 

C. +���I ल? D. �Iy्䵇?/ 

 

Q30. As on January 1, 2020, who is the governor of Haryana? 
 

A. Shri Satyadev Narayan Arya B. Prof. Kaptan Singh Solanki 

C. Shri Om Prakash Verma D. Shri Jagannath Pahadia 

Q30. 1 ि)?1I, 2020 ,�, Bर10?+? �O  1?जᱍ0+?ि �L) Bै䠂? 
 

A. ्䵦I A्䵔0&O? (?1?0# �0/ B. ्䵚K . �o$?( -A�B AKल��I 

C. ्䵦I �/ ्䵚�?? ?/?/ D. ्䵦I ��m(?% +B?)ड0? 
 

Q31. Each district of Haryana is headed by a ___________. 
 

A. divisional commissioner B. deputy commissioner 

C. governor D. municipal director 

Q31. Bर10?+? �O  �त⑍0O� �ििO �? )O,रत⑍? ___________ �?1? ��0? ि?,? BP। 
 

A. A�??�I0 �0I]$ B. �+?0I]$ 

C. 1?जᱍ0+?ल D. (�1+?-ल�? }(&O?� 

 

Q32. Total number of Lok Sabha seats in Haryana is _____. 
 

A. 12 B. 10 

C. 9 D. 8 
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Q32. Bर10?+? /O िK�A.? AI�K �ी �J ि A�_0? _____ BP। 
 

A. 12 B. 10 

C. 9 D. 8 

 

Q33. Which amongst the following is the state tree of Haryana? 
 

A. Peepal B. Neem 

C. Babul D. Shisham 

Q33. �)म⹍)�ि��, /O AO �L) Bर10?+? �? 1?जᱍ0 ?र� BP? 
 

A. +I+ल B. (I/ 

C. -?-Iल D. ?I?/ 

 

Q34. Which type of vegetation is most prevalent in Haryana? 
 

A. Tropical evergreen rain forest B. Deciduous forest and thorny bushes 

C. Mountain forest D. Mangrove forest 

Q34. Bर10?+? /O ��A ��?1 �ी ?)}+�, A-AO 
�?� ���ि, BP? 
 

A. ��#�/�-�'I0 A&?-B?1 ?@?/ ?( B. +#/+?$I ���ल �1 �� �IलI �?)ड0?? 

C. +B?ड �? ���ल D. /ै䠂्䵇K? ���ल 

 

Q35. Which type of soil is found in arid and semi arid parts of Haryana? 
 

A. Laterite soil B. Saline and Alkaline soil 

C. Red Soil D. Black Soil 

Q35. Bर10?+? �O  ?J�� �1 
?थ ?J�� .?�K /O ��A ��?1 �ी �/्䴾I +?� ि?,I BP? 
 

A. लP�O1?�� /&ृ? B. ल?#I0 �1 �?1I0 -/टὍ�I 

C. ल?ल -/टὍ�I D. �?लI -/टὍ�I 
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Q36. The various parts of the computer are connected to each other with_________. 
 

A. fiber optic cable B. coaxial cable 

C. power cable D. data cable 

Q36. �� o0K�1 �O  �?�.m) .?� �� ?KA1O AO _________ AO िJ]O BK,O Bै䠂। 
 

A. ,?�-1 ऑ�o�� �O -ल B. A/?�I0 $?1 

C. --�लI �? �O -ल D. !O�? �O -ल 

 

Q37. Which amongst the following is NOT an operating system? 
 

A. Android B. MacOS 

C. Python D. Unix 

Q37. �)म⹍)�ि��, /O AO �L) �� �+1O���� �A}�/ )Bी䀂 BP? 
 

A. ए�्䵑I0! B. MacOS 

C. +?�%( D. 0द}(]A 

 

Q38. _________ is an input device used for verifying and recognizing the identity of living 
being. 

 

A. Biometric device B. Barcode scanner 

C. Plotter D. Optical discs 

Q38. _________ �� �)+J� �!??�A BP �िA�? �+0K� िI�?, 1B)O �ी +B�?) �K Aत⑍0?�+, �1)O �1 +B�?))O �O  �ि� ��0? ि?,? BP। 
 

A. -?0K/O/ि� )!??�A B. -?1�K! }�P (1 

C. oलI�1 D. ऑ�o��ल )!}� 

 

Q39. Which amongst the following will you need to get connected to the Internet? 
 

A. Internet Protocol B. Modem 

C. Email address D. Internet Service Provider 
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Q39. �)म⹍)�ि��, /O AO �+�K ���1)O� AO िJ])O �O  �ि� ��A�ी �?�0�,? BK�I? 
 

A. ���1(O� ्䵚K�K�Iल B. /K!/ 

C. �/Oल +$? D. ���1(O� A=?/A ्䵚K??�!1 
 

Q40. Pick the odd one out. 
 
Cheese, Milk, Curd, Cream 

 

A. Cheese B. Milk 

C. Curd D. Cream 

Q40. �?@/ �? �0) �1O। 
 

+)I1, ?K?, ?BI, /ि?� 
 

A. +(I1 B. &द' 

C. &BI D. /ल?� 
 

Q41. PACE:UFHJ::COST : ? 
 

A. DPTU B. AMQR 

C. HTXY D. EQUV 

Q41. PACE:UFHJ::COST : ? 
 

A. DPTU B. AMQR 

C. HTXY D. EQUV 

 

Q42. Look at this series: 5, 6, 10, 11, 15, 16, ___. 
 
What number should come next? 

 

A. 17 B. 18 

C. 20 D. 22 
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Q42. �A श㙍र��ि? �K ?O�O: 5, 6, 10, 11, 15, 16, ___. 
 

�)म⹍)�ि��, /O AO �A�O  -?? �L) AI A�_0? ���I? 
 

A. 17 B. 18 

C. 20 D. 22 

 

Q43. In a different coding system, if HONEY is coded as 10378, JOCKEY is coded as 204578 
and MOLE is coded as 9067.What will be the code for MONKEY? 

 

A. 987304 B. 903578 

C. 905387 D. 935078 

Q43. �� 
ि� �K�!�� �+?िI /O, 0�? HONEY �K 10378 �O  z+ /O �ि�? ि?,? BP, JOCKEY �K 204578 �O  z+ /O �ि�? 
ि?,? BP �1 MOLE �K 9067 �O  z+ /O �ि�? ि?,? BP, ,K MONKEY �O  �ि� �K! ]0? BK�?? 

 

A. 987304 B. 903578 

C. 905387 D. 935078 

 

Q44. Find LCM of 10 and 15? 
 

A. 45 B. 30 

C. 25 D. 50 

Q44. 10 �1 15 �? ि J,/ A/?+?,थ� _?, �ी�ि0O? 
 

A. 45 B. 30 

C. 25 D. 50 

 

Q45. A vendor bought bottles at Rs 12 per bottle. He sold each at Rs 10. What is his loss%? 
 

A. 16.66% B. 20% 

C. 66.6% D. 83% 

Q45. �� �?्䵅O ,? )O 12 y+0O ��, -K,ि �ी ?1 AO -K,िO �1I?ी䀂। �A)O �त⑍0O� -K,ि �K 10 y+0O /O -O�?। �A�? ��, ��,?, ]0? BP? 
 

A. 16.66% B. 20% 

C. 66.6% D. 83% 
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Q46. What is 25% of 32 % of 3/8th of 500? 
 

A. 18 B. 25 

C. 10 D. 15 

Q46. 500 �O  3/8 �O  32% �? 25% ]0? BK�?? 
 

A. 18 B. 25 

C. 10 D. 15 

 

Q47. If x : y = 3 : 2, then (7x + 11y) : (5x + 2y) is : 
 

A. 62:13 B. 43:19 

C. 33:17 D. 29:15 

Q47. 0�? x:y = 3:2, ,K (7x+11y):(5x+2y) BP: 
 

A. 62:13 B. 43:19 

C. 33:17 D. 29:15 

 

Q48. In the SI system, the unit of heat is _________. 
 

A. Joule B. Kelvin 

C. Candela D. Mole 

Q48. SI �+?िI /O, ��/? �ी ��?� _______ BP। 
 

A. �दल B. �O �ल㉍?( 

C. �P m!Oल? D. /Kल 

 

Q49. The chemical reaction when an acid reacts with an alkali to produce salt is called 
___________. 

 

A. Oxidation B. Reduction 

C. Sublimation D. Neutralization 
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Q49. 1?A?0�)� ��,�्䵅0? ि- �� 
म⹍िI0 )/� -)?)O �O  �ि� �?1 �O  A?- ��,�्䵅0? �1,? BP ,K �AO ___________ �B? ि?,? BP। 
 

A. ऑ]AI�1# B. 
+�0( 

C. �o?/+?$� D. =?,ल �1(? 
 

Q50. Which of the following is NOT required for photosynthesis in plants? 
 

A. Water B. Carbon dioxide 

C. Oxygen D. Chlorophyll 

Q50. �)म⹍)�ि��, /O AO �L) +L?K /O ��?? A�्䵨O@+ �O  �ि� �?�0� )Bी䀂 BP? 
 

A. +?(I B. �?-/( !?�ऑ]A?�! 

C. ऑ]AI�( D. ]लK1K+,ल 

 

Q51. Which of the following is NOT an example of variable cost? 
 

A. Labour cost B. Utility costs 

C. Cost of raw materials D. Insurance 

Q51. �)म⹍) /O AO �L) A? +र1?,थ)?Iि ि?�, �? �??B1+ )Bी䀂 BP? 
 

A. ्䵦-/� ल?�$ B. �+0K��$? ल?�$ 

C. �चᩍ�O /?ल �I ल?�$ D. -I/? 
 

Q52. A private developer makes land purchases, obtains permits, plans, and constructs, and then 
sells the project to the housing authority. This is an example of _________. 

 

A. Turnkey project B. Design and Build project 

C. Build Operate Transfer D. Build Operate Own Transfer 

Q52. �)िI �?�?A� )O .K�/ �1I?I, 
)J_? �?्䵎 �ी, 0Kि)? -)?� �1 �)/?थ+ ��0? �,1 ��ल㉍+ �K �??A �?�?�1+ �O  B?-K -O� �?0?| 0B 
________ �? �??B1+ BP| 

 

A. �(/�I ्䵚K�O]� ($P0?1?I&? +910K�(?) B. )!�?�( �1 }(/?/# +910K�(? 

C. }(/?/# A��?ल( B}$?�$1# D. }(/?/# A��?ल( /?ल�I B}$?�$1# 
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Q53. In which type of economy, the role of the government is minimal and most economic 
decisions are made by buyers and sellers, not the government? 

 

A. Socialism B. Mixed economy 

C. Market economy D. Command economy 

Q53. �L)AO ��?1 �ी 
-थ}0?}-? /O A1�?1 �ी .K�/�? m0K),/ BK,I BP �1 
�?�,1 ��-थ� �)+थ0 �1I??1K �1 �?्䵅O ,?� � �?1? �ि� ि?,O 
BP, A1�?1 �?1? )Bी䀂? 

 

A. A/?�??& B. -/्䵦 ��%/� =0?}%? 

C. -?�?1 ��%/� =0?}%? D. ??-A$ ��%/� =0?}%? 
 

Q54. Shri Verghese Kurien is regarded as the father of _____________. 
 

A. Operation White B. Operation Flood 

C. Operation Cream D. Operation Doodh 

Q54. श㙍I ?��थA �J र10) �K _______ �O  �+,? /?)? ि?,? BP| 
 

A. ऑ+1O?( =B?�� B. ऑ+1O?( oल! 

C. ऑ+1O?( ्䵅I/ D. ऑ+1O?( &द' 

 

Q55. The term "bulls and bears" is used to refer: 
A. Stock market 
B. Commodities market 
C. Equities and bonds market 
D. Currencies market 

 

A. A, B, C, D B. A, B and D 

C. B, C, and D D. Only A 
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Q55. <-Jल㉍A 
?! -O0Aथ= A�_? �AO A�?�.थ, �1)O �O  �ि� �0K� �ी ि?,I BP: 
A. }�L� -?ि?1 
B. /?ि -?ि?1 
C. ��]?��ि �1 -??! -?ि?1 
D. �ि) -?ि?1 

 

A. A, B, C, D B. A, B �1 D 

C. B, C, �1 D D. -A,/  A 

 

Q56. Which of the following taxes is an example of Transfer Tax? 
 

A. Income Tax B. Estate Tax 

C. Entitlement Tax D. Property Tax 

Q56. �)म⹍) /O AO �L)A? B},?�,1+ �1 �? �??B1+ BP? 
 

A. �0 �1 B. /?ल/्䵈? �1 

C. B�&?1I �1 D. A�+=्䵈 �1 
 

Q57. The auditor's _________ actually safeguards his/her ability to form an unbiased audit 
opinion. 

 

A. Integrity B. Independence 

C. Objectivity D. Confidentiality 

Q57. िO�? +1I�� �ी ______ A� /O �)�ी �)�+� िO�? +1I�+ 1?0 �ी AJ1�? �1,I BP| 
 

A. ्䵚?/?+#�$? B. }?$�्䵔$? 

C. =?@0 }(� ? D. �K+(I0$? 
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Q58. There are certain important sampling techniques that can be adopted by an auditor. One 
such sampling technique involves the auditor to take the number of sampling units in the 
population and segregate this into the sample size so as to provide a sampling interval. 
Which audit sampling technique is referred here? 

 

A. Stratified Sampling B. Systematic Sampling 

C. Block Sampling D. Judgement 

Q58. �AO �J � /Bत⑍?+K+थ APम⹍+�ि�� ,�} BP �िAO िO�? +1I�� 
+)? A�,O BP| �)/O AO �� ,�} /O िO�? +1I�� )O A?1O िO�? AO �� A�_0? �O  
APम⹍+�ि�� )/K)O � ?�1 APम⹍+�ि�� 
�,1?ि ?O)O �O  �ि� APम⹍+ि ��?1 /O +र-� �1)O BK,O BP| 
0B?? +1 �L)AO िO�? +1I�+ APम⹍+�ि�� ,�} �? A�?.थ �?0? �0? BP? 

 

A. }िP/�,?�! (}$1I�ृ$) APम⹍+-ल�� B. -A}�/P/�� (0%?्䵅/) APम⹍+-ल�� 

C. mल?� APम⹍+-ल�� D. }(#/0 

 

Q59. Under the New/Revised Standards (Auditing, Review and Others), which of the following 
segments specifies about "Audit Evidence"? 

 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

Q59. )� / A�?K�?, /?)�K (िO�? +1I�+, A/I�? �1 
m0) �? ?+थ) �)म⹍) /O AO <िO�? +1I�+ A-K,= �? �L)A? �?.?� �1,? BP? 
 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

 

Q60. While discussing managerial accounting principles, managerial decisions can be 
categorized according to three interrelated business processes. Which one of the following 
is NOT a part of managerial decision? 

 

A. Controlling B. Planning 

C. Strategizing D. Directing 

Q60. �-�?�ी0 िO�? �Aद♍?�, �ी ��?थ /O, �-�?�ी0 �)+थ0 �K ,I) +1}+1 A�-�?I }0?A?0 ��्䵅0? �ी श㙍O�+0K /O !?ि? ि? A�,? BP| �)म⹍) /O AO 
�L)A? �-�?�ी0 �)+थ0 �? �B}A? )Bी䀂 BP? 

 

A. }(0�्䵔# �1(? B. 0K�(? -(?(? 

C. 1#(I}$ -(?(? D. }(&े?( �1(? 
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Q61. Chetan runs a small bicycle manufacturing unit. The auditor is determining the total cost 
of production of the business. 
Which of the following is NOT added while calculating the total cost of production? 

 

A. Factory overheads B. Closing stock of work in progress 

C. Admin overheads related to production D. Cost of primary packaging 

Q61. �O,) �� �K�I A?���ि �)/?थ+ ��?� �ि?,? BP| िO�? +1I�� }0?A?0 �त⑍+??) �ी �J ि ि?�, ,0 �1 1B? BP| 
�त⑍+??) �ी �J ि ि?�, ,0 �1,O Bु� �)म⹍) /O AO �L)A? )Bी䀂 ��)? ि?��?? 

 

A. �?1�?(O �I �+1I ल?�$ B. �?लद �?/ �? ]लK-A�� }�L� (?O@/?ल) 

C. �्䵔+?&( A�-�'I ्䵚??A}(� �+1I ल?�$ D. /I_0 +P�O ���� �I ल?�$ 

 

Q62. Match the profitability ratio with its definition. 

 
 

A. 1-A, 2-D, 3-C, 4-B B. 1-B, 2-C, 3-D, 4-A 

C. 1-C, 2-A, 3-B, 4-D D. 1-D, 2-C, 3-A, 4-B 
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Q62. ि?.�?,? 
)J+?, �K �A�ी +र1.?@? AO �/ि?�?| 

 
 

A. 1-A, 2-D, 3-C, 4-B B. 1-B, 2-C, 3-D, 4-A 

C. 1-C, 2-A, 3-B, 4-D D. 1-D, 2-C, 3-A, 4-B 

 

Q63. Which of these is NOT a component of Marketing Mix? 
 

A. Product B. Pricing 

C. Sales Channels D. Customer 

Q63. �)म⹍) /O AO �L)A? �?++) �/श㙍+ �?  �� )Bी䀂 BP? 
 

A. �्䵔+?& B. $0 �I/$ 

C. -I्䵅I �P(Oल㉍A D. ्䵇?B� 
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Q64. While purchasing a product in the market, a consumer must take certain decisions. Which 
option shows the correct set of decisions? 
A. Take a decision to purchase a product in order to satisfy a genuine need. 
B. Take a decision based on adequate information about the alternatives in the market. 
C. Take a decision based on the current scenario - festival sale, discounts etc. 
D. Take a decision to buy the product which is most suitable to him/her. 

 

A. A, B, C, D B. B, C, and D 

C. A, B, and D D. C and D 

Q64. -?ि?1 AO �त⑍+?? �1I?,O A/0, ्䵇?B� )O �J � �)+थ0 िO)O BK,O BP| �)म⹍) /O AO �L)A? �?�ल㉍+ ABI �)+थ0K �K ???थ,? BP? 

A. ??},�?� िz1, �K +K1? �1)O �O  �ि� �त⑍+?? �1I??1I �? �)+थ0 िO)?| 
B. -?ि?1 /O �+िm? �?�ल㉍+K �ी +K1I ि?)�?1I +1 �??1I, �)+थ0 िO)?| 
C. ?,थ/?) �}-,I +1 �??1I, �)+थ0 िO)? - त⑍0LB?1 -I्䵅ी, �K � ?�P1?| 
D. �J?�K 
�, �+0J्䴹 �त⑍+?? �1I?)O �? �)+थ0 िO)?| 

 

A. A, B, C, D B. B, C, �1 D 

C. A, B, �1 D D. C �1 D 

 

Q65. In the new Product Development cycle, which phase follows after Idea Generation and 
Idea Screening? 

 

A. Business Strategy Analysis B. Market Share Analysis 

C. Product Development D. Concept Development & Testing 

Q65. )� �त⑍+?? �?�A) �्䵅 /O,���!0? �)/?थ+ �1 ���!0? }्䵅ी�)�� �O  -?? /O �L)A? �1+ �,? BP? 
 

A. =0?A?0 1#(I}$ =?�लO@# B. -?�?1 /B}A? =?�लO@# 

C. �्䵔+?& =?�A( D. A��ल㉍+(? =?�A( �1 +91�# 

 

Q66. Debashish seeks to save Income Tax under Section 80C. What is the maximum deduction 
that Debashish can claim under section 80C of the Income Tax Act? 

 

A. Up to 1 lakh B. Up to 1.5 lakhs 

C. Up to 1.75 lakhs D. Up to 2 lakhs 
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Q66. ?O-?�?@ ??1? 80C �O  ,B, �0�1 -�?)? �?B,? BP| �0 �1 
�?�)0/ �ी ??1? 80C �O  ,B, ?O-?�?@ 
�?�,/ ��,)I ��L�, 
�? ???? �1 A�,? BP? 

 

A. 1 ल?� $� B. 1.5 ल?� $� 

C. 1.75 ल?� $� D. 2 ल?� $� 

 

Q67. The Income Tax rebate applicable for FY 2019-20 under Section 87A of the Income Tax 
Act, can be availed only by _______ taxpayers. 

 

A. Hindu Undivided Family B. Resident & Non-Resident Individuals 

C. Resident Individuals D. Firms & Companies 

Q67. �0�1 �ी ??1? 87A �O  ,B, FY 2019-20 �O  �ि� ि?�K BK)O??िI �0�1 �K � BP, �िA�? �A,थ  _________ �1??,? �?1? 
BI ि?. � ? A�,O BP| 

 

A. /B�&द 
=??]$ +91??1 B. }(??AI �1 
}(??AI =0�]$ 

C. }(??AI =0�]$ D. ,// �1 �� +}(0?� 
 

Q68. For salaried individuals and pensioners, the Standard Deduction has been hiked to Rs. 
_____ for FY 2019-20. 

 

A. 40000 B. 60000 

C. 75000 D. 50000 

Q68. ?O,)??1I }0�्䴹 �1 ?र�???1�K �O  �ि� /?)� ��L�, �K FY 2019-20 �O  �ि� Rs. ________,� � ?0? �0? BP| 
 

A. 40000 B. 60000 

C. 75000 D. 50000 
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Q69. Observe the given stem-leaf plot. 

 
In the given stem-and-leaf display diagram, what do you infer about the values in the 
4th row? 

 

A. The original values in the list will be 41, 43 and 

45 

B. The original values in the list will be any 3 

values between 41 and 45 

C. The original values in the list will have nine 

numbers ranging from 40 to 49 

D. The original values in the list will four numbers 

ranging from 40 to 45 

Q69. }�O/-िI, oिL� �K ?O�O| 

 
�?� �� }�O/ �1 िI, ??थ� !?0्䵇?/ /O 4th +��्䴹 �O  /Kल㉍0 �O  -?1O /O �+�? 
)J/?) ]0? BP? 

 

A. Aद�� /े䜂 /दल /दल㉍0 BK�? 41, 43 �1 45 B. Aद�� /े䜂 /दल /दल㉍0 BK�? 41 �1 45 �O  -I� �O  �K� ?I 3 

/दल㉍0 

C. Aद�� /े䜂 /दल /दल㉍0 /े䜂 BK�? 40 AO 49 $� �I (L A�_0?ए? D. Aद�� /े䜂 /दल /दल㉍0 /े䜂 BK�? 40 AO 45 $� �I �?1 A�_0?ए? 
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Q70. Which of the following is NOT a type of preference shares? 
 

A. Redeemable Preference Shares B. Convertible Preference Shares 

C. Accumulating Preference Shares D. Participating Preference Shares 

Q70. �)म⹍) /O AO �L)A? ��,1mA ?O0Aथ �? ��?1 )Bी䀂 BP? 
 

A. 1I!I/O-ल =्䵚,1mA ?O0A/ B. �m?/�/-ल =्䵚,1mA ?O0A/ 

C. ए]0I-/लO/��� =्䵚,1mA ?O0A/ D. +?/�/-A+O/��� =्䵚,1mA ?O0A/ 
 

Q71. __________ system uses both quantitative and qualitative data and also those data that 
cannot be measured in terms of money. 

 

A. Cost accounting B. Managerial accounting 

C. Advanced accounting D. Public accounting 

Q71. ________ �+?िI /?}?त⑍/� �1 �J+?त⑍/� ?K)K ��?1 �? !O�? �0K� �1,I BP �1 ?K .I !O�? �0K� �1,I BP िK +PAK AO /?�+? )Bी䀂 
ि? A�,?| 

 

A. ल?�$ लO�? B. ्䵚-�'�I0 लO�? 

C. ्䵚�$ लO�? D. A??/�}(� लO�? 
 

Q72. Sujatha works for ABC Ltd. Her annual salary is Rs. 6 lakhs. Sujatha is entitled to 8% of 
the company's profits, if the profits exceed 15 lakhs per annum. What can you say about 
Sujatha's position in the company? 

 

A. Sujatha is a partner in ABC Ltd. B. Sujatha is not a partner in ABC Ltd. 

C. The employment contract of Sujatha with ABC 

Ltd. Is not a valid one. 

D. Sujatha is a Director of ABC Ltd. 

Q72. AJि?,? ABC Ltd. �O  �ि� �?/ �1,I BP �1 �A�? ??�@थ� ?O,) Rs. 6 ि?� BP �1 �� +)I �O  ि?. /O 8% �/ि)O �ी 
�?�?1I 
BP, 0�? �� +)I �? ि?. 15 ि?� ��, ?@थ BK,? BP| AJि?,? �� +)I �O  ��A +? +1 BP? 

 

A. AI�?$? ABC Ltd. �I A?�O&?1 BP B. AI�?$? ABC Ltd. �I A?�O&?1 (BI� BP 

C. AI�?$? �? ABC Ltd. �O  A?% (L�1I 
(I-�' ?P' (BI� BP| D. AI�?$? ABC Ltd. �I }(&O?� BP| 
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Q73. While defining basic requirements for a valid contract, the parties to the contract must 
have completed __________ years of age to be competent to contract. 

 

A. 18 B. 21 

C. 24 D. 25 

Q73. � ?P? 
)J-�? �O  �ि� -J�)0??I �?�0�,?� � �K +र1.?�@, �1,O Bु�, 
)J-�? �O  �ि� +?��थ0K �K 
)J-�? �O  A�/ BK)O �O  �ि� 
__________ ?@थ �ी �0J +K1I �1)I �?�B�। 

 

A. 18 B. 21 

C. 24 D. 25 

 

Q74. Among 20 investment options, your option, which is Scheme A, is the fourth best 
investment option according to a survey. That means your investment option Scheme A is 
at the _________. 

 

A. 20th percentile B. 25th percentile 

C. 80th percentile D. 96th percentile 

Q74. 20 �)?O? �?�ल㉍+K /O �+�? �?�ल㉍+ }�ी/ A BP, िK �� A?O�+ �O  
)JA?1 �� +)I �? �L-? A?K?/ �?�ल㉍+ BP| ,K �A�? /,ि- BP 
�� �+�? �?�ल㉍+ }�ी/ A _________BP| 

 

A. 20th ्䵚}$?$� B. 25th ्䵚}$?$� 

C. 80th ्䵚}$?$� D. 96th ्䵚}$?$� 

 

Q75. The number of trees in each avenue is: 
9, 12, 9, 4, 8, 6, 12, 5, 5, 10 
Calculate the Standard Deviation. 

 

A. 2.75 B. 3.08 

C. 6.02 D. 9.56 

Q75. B1 �िI /O +O!K �ी A�_0? BP: 
9, 12, 9, 4, 8, 6, 12, 5, 5, 10 

/?)� �?�ि) ��)O| 
 

A. 2.75 B. 3.08 

C. 6.02 D. 9.56 
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Q76. What is Statutory Liquidity Ratio (SLR)? 
 

A. It is the mandatory fraction of the banks' total 

demand and time deposits to be maintained in the 

form of specified liquid assets. 

B. It is the ratio of money held by the public in 

currency to that they hold in bank deposits. 

C. It is the deposits that banks must maintain 

with the RBI. 

D. It is the proportion of the total deposits 

commercial banks keeps as reserves. 

Q76. }�Pचᩍ0J�1I �ि�]?�!�I 1O?K (?P??�)� ,1ि,? 
)J+?,) ]0? BP? 
 

A. 0B }(/&/�� $1ल A�+=्䵈 �O  z+ /े䜂 -(?ए 1�(O �O  -लए -ै䠂�ो䬂 
�I �I ल /?�� �1 A/0 �/? �? 
}(??0/ 
�? BP। 

B. 0B /I्䵖? /े䜂 �($? द♍??1? 1�O �ए '( �? 
(I+?$ BP �K ?O 
-ै䠂� �/? /े䜂 1�$O Bै䠂। 

C. 0B �/? 1?-? BP �K -ै䠂�ो䬂 �K RBI �O  +?A 1�(I �?/Bए| D. 0B =0?+?1I -ै䠂�ो䬂 (O �I ल )!+L��� �K 91�?/ �O  $L1 +1 1�(O 
�? 
(I+?$ BP| 

 

Q77. The rate at which the Reserve Bank of India (RBI) borrows money from commercial 
banks is called _______. 

 

A. Repo Rate B. Reverse repo Rate 

C. Marginal Standing Facility Rate D. Bank Rate 

Q77. .?1,I0 र1ि?थ -ै䠂� (RBI) �िA ?1 AO }0?+?1I -ै䠂�K AO +PA? िO,I BP �AO ______ �B,O BP | 
 

A. 1O+K &1 B. 91?A/ 1O+K &1 

C. /?��/(ल }�?)! �� ,P -A-ल�I 1O� (AI/?�$ }%?0I AI=?'? &1) D. -ै䠂� &1 
 

Q78. The repayment of the loan by instalment to cover principal amount with interest is known 
as ___________. 

 

A. Adjustment Credit B. Amortization 

C. Loan Grading D. Credit Netting 

Q78. /Kि 1�/ A�B, m0?ि �O  A?- �+ �? ���,K /O .J�,?) �1)O �K _________ �B,O BP | 
 

A. ए!�}�/Om� ्䵅O !I� (A/?0K�( A?�) B. �#/I�]$ 

C. �# ्䵦O#I�1# D. ्䵅O !I� (O/��� 
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Q79. ABC Ltd., has obtained a copyright and a patent based on their research. Copyrights and 
patents come under which part of a company's balance sheet? 

 

A. Tangible assets B. Intangible assets 

C. Amortization revenues D. Does not appear in the balance sheet 

Q79. ABC Ltd. )O �)�O  
)JA�??) �? �?+I1?�� (A??थ�?�?1) �1 +O�m� �ि0? BP| ,K �� +)I �O  ,Jि) +} /O �?+I1?�� (A??थ�?�?1) �1 
+O�m� �L)AO �B}AO �O  ,B, ���?? 

 

A. /द$/ A�+=्䵈 B. 
/द$/ A�+=्䵈 

C. ए/L/�/�O?( 1O?Om0द� (+91?K'( 1?�}?) D. 0B $Iल( +्䵔 /े䜂 (BI� �ए�?| 
 

Q80. A company CANNOT issue fully paid up bonus shares from _________. 
 

A. Securities premium account B. Reserves created by revaluation of fixed assets 

C. Free reserves accumulated out of genuine 

profits 

D. Capital redemption reserves 

Q80. �� +)I ,J ल㉍िI +O! -K)A ?O0Aथ ______ /O AO )Bी䀂 ?O A�,I BP| 
 

A. -A]0I91�I� =्䵚-/0/ �?$? B. 
�ल A�+=्䵈 �O  +I(/द/ल㉍0?��( AO }(/?/# 91�?/ 

C. ??}$=?� ल?? AO �/? +�ए /I]$ 91�?/A D. �P =+�ल 91!म⹍+?( 91�=A/ 
 

Q81. ABC Ltd., a manufacturer of soaps, had shown Work-in-Progress (WIP) of Rs. 5 lakhs as 
part of the inventory asset account on its balance sheet of 2016-2017. These costs were 
subsequently transferred to __________when they were sold. 

 

A. Cost of sales B. Production Cost 

C. Reversal account D. Redemption account 

Q81. ABC �ि. A?-K) �O  �त⑍+??� BP, �िmBK)O �?िK �?/ (WIP) �O  Rs. 5 ि?� �K �m?Om�1I (?},JAK�I) A�+�? �?,O �O  �B}AO �O  ,L1 
+1 �)�O  2016-2017 ,Jि)+} /O ???थ0?| �) ि?�,K �K -?? /O __________ /O }-?)?�,र1, �1 �?0? �0?, ि- �mBO -O�? �0?| 

 

A. -I्䵅I �I ल?�$ B. �्䵔+?&( ल?�$ 

C. 91?A/ल �?$? D. 91!म⹍+?( �?$? 
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Q82. Which of the following are considered to be primary objectives of financial management? 
A. Take steps to reduce cost of finance 
B. Ensure sufficient availability of funds 
C. Deal with financial activities such as procurement and utilization of funds. 

 

A. Only A and B B. Only A and C 

C. Only B and C D. A, B, and C 

Q82. �)म⹍) /O AO �L)A? �??I0 �-�?) �? /J_0 िቌ䲚0 /?)? ि?,? BP? 

A. �?? ि?�, �/ �1)O �O  �ि� �?/ � ?)? 
B. +0?थ्䵎 �?? �+िm?,? �ी AJ�)�ि,I �1)? 
C. �?? �?�्䵎 �1 �0K� िPAO �?? ��,�?�? �)+�)? 

 

A. -A,/  A �1 B B. -A,/  A �1 C 

C. -A,/  B �1 C D. A, B, �1 C 

 

Q83. Identify the correct sequence of the capital budgeting process. 
A. Assess risk 
B. Identify and evaluate potential opportunities 
C. Estimate cash flow or benefit 
D. Estimate operating and implementation costs 
E. Implement 
F. Review performance 

 

A. D, A, C, B, E, F B. B, D, C, A, E, F 

C. A, D, C, B, E, F D. C, D, B, A, F, E 

Q83. �P �+�ि -िO���� ��्䵅0? �? ABI ्䵅/ -,?�?| 
A. A�+�? िK��/ 

B. A�.?�?, 
?A1K �K +B�?))? �1 /Kल㉍0?��) �1)? 
C. �P ? oिK 0? ि?. �? 
)J/?) ि�?)? 
D. A��ि) �1 �?0?थm?0) ि?�, �? 
)J/?) ि�?)? 
E. �?0?थm?0) �1)? 
F. �??थ) A/I�? �1)? 

 

A. D, A, C, B, E, F B. B, D, C, A, E, F 

C. A, D, C, B, E, F D. C, D, B, A, F, E 
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Q84. Which of the following is a short-term source of finance? 
 

A. Debenture/Bonds B. Trade Credit 

C. Preference shares D. Venture Funding 

Q84. �)म⹍) /O AO �L)A? �?? �? 
ल㉍+??�? ኚ验K, BP? 
 

A. )!-Om�1 / -??!A B. =0?+?1 ्䵅O !I� 

C. =्䵚,1mA ?O0A/ D. ?Om�1 =?्䵈+K@# 

 

Q85. Which of the following memo states a policy or procedure that a co-worker must follow? 
 

A. Trip Report memo B. Directive memo 

C. Response memo D. Report memo 

Q85. �)म⹍) /O AO �L)A? _?+) )I�, 0? ��्䵅0? �K -,?,? BP �िA�? +?ि) AB�?र10K )O �1)? �?�B�? 
 

A. 0?्䵔? =??1# _?+( B. }(&े?� _?+( 

C. ्䵚}$+्䵅0? _?+( D. =??1# _?+( 

 

Q86. Identify the most important reason about why you should eliminate assumptions in any 
business communication. 

 

A. Assumptions often cause misunderstandings, 

which can escalate into troublesome situations. 

B. Assumptions makes one party feel distracted, 

making communication difficult. 

C. Assumptions create interruptions while 

communicating. 

D. Assumptions make communication very rude 

and unprofessional. 

Q86. ��AI .I }0?A?0 A�+�थ  /O �+)O B/O?? /?m0,?� � �K �त⑍/ �1)? �?�B�, �A�? A-AO /Bत⑍?+K+थ �?1+ +B�?�)�| 
 

A. /?m0$?�� �O  �?1# �ल$,B/I BK$I BP �K -"�1 A/}0? 
-( A�$I BP 

B. /?m0$?�� �O  �?1# ए� +� �K =?�-ल$ /BAदA BK$? BP 
��AAO +� A�+�/  /े䜂 �/ (?� BK$I BP| 

C. /?m0$?ए? A�+�/  �O  -I� y�??� !?ल$I BP| D. /?m0$?ए? �O  �?1# A�+�/  -BK$ 
-?�� �1 
=0?A?}0� 

BK �?$? BP| 
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Q87. Match the types of business communication and their examples. 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 

Q87. }0?A?0 A�+�थ  ��?1K �K �)�O  �??B1+ �O  A?- �/ि?�?| 

 
 

A. 1-D, 2-C, 3-A, 4-D B. 1-C, 2-D. 3-B, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-D, 2-B, 3-A, 4-C 

 

Q88. Jagdeep singh runs a hosiery manufacturing unit in Ludhiana. If his investment in plant 
and machinery is 2.75 crores, then, the unit is classified under: 

 

A. Micro Enterprise B. Small Enterprise 

C. Medium Enterprise D. Large Enterprise 

 

 

www.mseducationtv.com



 

Adv. No. 11/2019, Cat No. 04, Lower Division Clerk, 

DHBVN, UHBVN & HVPNL DEPARTMENT, HARYANA 

Morning Session 
 

February 27, 2020  Page 30 of 30 

 

Q88. ि�?I+ �A�� िJ�?0?)? /O BK=1I �)/?थ+ ��?� �ि?,O BP| 0�? �?1�?)? �1 0�}K /O �A�? �)?O? 2.75 �K�I BP ,K ��?� �? श㙍O+I�1+ 

_____- �O  ,B, ��0? ि?��?| 
 

A. Aदቌ䲚/ �द♍0/ B. �K�? �द♍0/ 

C. /o/ �द♍0/ D. -!? �द♍0/ 

 

Q89. The Union Ministry of MSME implements a scheme called _________ for technology 
upgradation of Micro and Small enterprises in the country. 

 

A. Performance Linked Capital Subsidy Scheme 

(PLCSS) 

B. Technology Linked Capital Subsidy Scheme 

(TLCSS) 

C. Credit Linked Capital Subsidy Scheme (CLCSS) D. Skill Enhancement Linked Capital Subsidy 

Scheme (SLCSS) 

Q89. MSME �? �O �I0 /�}?ि0 )O AKቌ䲚/ �1 �K�O �o/K �O  ,��)�ी 
o,) �O  �ि� _____ )?/ �ी 0Kि)? ि?�K �ी BP| 
 

A. +,ौ//mA -ल�]! �P =+�ल A--A!I }�I/ (्䵚&?/( AO �I!I +द?�I 

(I?्ृ䵈I 0K�(?) (PLCSS) 

B. �O](LलL�� -ल�]! �P =+�ल A--A!I }�I/ ($�(I�I AO �I!I 
+द?�I 
(I?्ृ䵈I 0K�(?) (TLCSS) 

C. ्䵅O !I� -ल�]! �P =+�ल A--A!I }�I/ (्䵅O !I� AO �I!I +द?�I 

(I?्ृ䵈I 0K�(?) (CLCSS) 

D. �}�ल ए(B?mA/Om� -ल�]! �P =+�ल A--A!I }�I/ (�L?ल 

?'/( AO �I!I +द?�I 
(I?्ृ䵈I 0K�(?) (SLCSS) 

 

Q90. The market system where there are a handful of producers that make up a dominant 
majority of the production in the market system is called as __________. 

 

A. Monopoly B. Perfect Competition 

C. Oligopoly D. Monopsony 

Q90. -?ि?1 �+?िI �िA/O �J � BI �त⑍+??� BK,O BP िK -?ि?1 �O  �J ि �त⑍+??) /O �/J� -Bु/, -)?,O BP, �AO ______ �B,O BP| 
 

A. ए�?�'�?1 B. ���$ ्䵚}$}+'?/ 

C. 
ल㉍+?�'�?1 D. ्䵅O $? ए�?�'�?1 
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Q1. 

 

 

A.  B.  

C.  D.  

 

Q2. 

 

 

A.  
B.  

C.  D.  

 

Q3. 
 

 

A.  B.  

C.  D.  

 

Q4. 
 

 

A.  B.  

C.  
D.  

 

Q5. 
 

 

A.  B.  

C.  D.  
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Q6. ______ is the synonym of "COMPEL". 
 

A. Force B. Obstruct 

C. Relax D. Surrender 

 

Q7. ________ is the antonym of "INFERENCE". 
 

A. Consequence B. Statement 

C. Conclusion D. Corollary 

 

Q8. Identify the meaning of the phrase, "Marked with Superiority". 
 

A. Outstanding B. Egoistic 

C. Inferiority D. Pending 

 

Q9. The sentence has an incorrect phrase, which is shown in bold and underlined. Select the 
option that is the correct phrase to be replaced so that the statement is grammatically 
correct. 
 
 
It always drizzled when I left home. 

 

A. is to drizzle B. was drizzling 

C. is always drizzling D. started drizzle 

 

Q10. Complete the sentence using the correct form of the given verb. 
He _______ (to eat) fish for lunch. 

 

A. ate B. was eat 

C. eating D. would be eat 

 

Q11. Kalpana Chawla died in the year ________. 
 

A. 2005 B. 2001 

C. 2003 D. 2002 
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Q11. �ल㉍+0? �?=ल? �? =}ष ________ /O )0/0 :K �0?। 
 

A. 2005 B. 2001 

C. 2003 D. 2002 

 

Q12. Recently (2019) President's Rule was imposed in Maharashtra. This was the ______ that 
the President rule has been imposed in that state. 

 

A. First time B. Second time 

C. Third time D. Fourth time 

Q12. :?ल :I /O (2019) /:?1?�र /O 1?�र+)? >?90 ल�?0? �0? -?। 0: /:?1?�र /O ______ 1?�र+)? >?90 ल�?0? �0? :P। 
 

A. +AलI -?1 B. .@ू1I -?1 

C. ,I@1I -?1 D. �L-I -?1 
 

Q13. ILR Program of Government of India is about __________. 
 

A. Interlinking of metro rail tracks B. Interlinking of Rivers 

C. Interlining of Roads of all villages of India D. Interlinking of National Highways 

Q13. .?1? 91�?1 �? ILR �?0ष्䵅/ __________ �O  -?1O /O :P। 
 

A. /O्䵏K 1Oल +�910ो䬂 �I ���1;ल���� � B. 0/.0ो䬂 �I ���1;ल���� � 

C. .?1, �O  @.I �??=ो䬂 �I @=�ो䬂 �I ���1;ल���� � D. 1?�्䵏I0 1?�/?�ो䬂 �I ���1;ल���� � 

 

Q14. As on 1-January-2020, ________ is the Union Minister of Women and Child 
Development. 

 

A. Shrimati Maneka Gandhi B. Shrimati Smriti Zubin Irani 

C. Shrimati Nirmala Seetharaman D. Shrimati Harsimrat kaur Badal 

Q14. 1-�0=1I-2020 ?�, ________ /):ल? �1 -?ल )=�?9 �ी �O �I0 /
}I :ै䠂। 
 

A. ्䵦I/,I /O0�? �?�/I B. ्䵦I/,I }/-ृ, �I--0 �1?0I 

C. ्䵦I/-, -0//ल? @I,?1/+ D. ्䵦I/-, A1;@/1, �L1 -?.ल 
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Q15. Which of the following agencies is responsible to assess the poverty in India? 
 

A. Planning commission B. Ministry of Home Affairs 

C. HRD Ministry D. Department of Health 

Q15. .?1? /O �1I-I �? ��ल0 �10O �O  )लए )0म⹍0)ल)?? /O 9O �L0 9I ए�O9I �m1.?0I :P? 
 

A. 0K�0? �0K� B. �Aृ /�्䵔?ल0 

C. /?0= @�@?/0 ==�?@ /�्䵔?ल0 D. }=?}M0 ==.?� 

 

Q16. Which freedom fighter later became the CM of Haryana? 
 

A. Shri Rao Birender Singh B. Chowdhary Bansi Lal 

C. Chowdhary Devilal D. Shri Manohar Lal Khattar 

Q16. �L0 9O }=?
}?? 9O0?0I -?. /O :र10?#? �O  9Iए/ -0O? 
 

A. ्䵦I 1?= -I1े䜂्䵖 ;@�A B. �L/1I -�@Iल?ल 

C. �L/1I .O=Iल?ल D. ्䵦I /0KA1 ल?ल �टὍ�1 
 

Q17. When the state of Haryana was formed in 1966, the state had _____ number of districts. 
 

A. Ten B. Eleven 

C. Six D. Seven 

Q17. 1966 /O �- :र10?#? 1?जᱍ0 �? � 0 :ु� -?, �9 9/0 1?जᱍ0 /O )�लो䬂 �ी 9
_0? _____ -I। 
 

A. .@ B. गᝍ0?1A 

C. �A D. @?, 

 

Q18. Which is the largest city in the state of Haryana? 
 

A. Faridabad B. Gurugram 

C. Bhiwani D. Ambala 
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Q18. :र10?#? 1?जᱍ0 �? 9-9O -)? >:1 �L0 9? :P? 
 

A. ,1I.?-?. B. �Iy्䵇?/ 

C. ;.=?0I D. 
�-?ल? 
 

Q19. Which district in Haryana is known as the Rice bowl of Haryana? 
 

A. Kurukshetra B. Ambala 

C. Karnal D. Bhiwani 

Q19. :र10?#? �O  )�9 )�लO �K :र10?#? �? /ा0 का कटोरा �:? �??? :P? 
 

A. �I y्䵌O्䵔 B. 
�-?ल? 

C. �10?ल D. ;.=?0I 
 

Q20. India's biggest Ashoka Chakra was recently unveiled in ____________ district of 
Haryana. 

 

A. Gurugram B. Yamunanagar 

C. Jind D. Faridabad 

Q20. .?1? �O  9-9O -)O 
>K� �्䵅 �? :?ल :I /O :र10?#? �O  ____________ )�लO /O 
0?=1# )�0? �0? -?। 
 

A. �Iy्䵇?/ B. 0/I0?0�1 

C. �I�. D. ,1I.?-?. 

 

Q21. One of the five newly announced RAF (Rapid Action Forces) battalion will be stationed in 
the _____________district of Haryana. 

 

A. Ambala B. Nuh 

C. Faridabad D. Jind 

Q21. +?
� 0= K)}? RAF (1P)+! ए]>0 ,K9O�) -�?)ल00 /O 9O ए� :र10?#? �O  _____________ )�लO /O ?P0?? �ी �?ए�I। 
 

A. 
�-?ल? B. 0ूA 

C. ,1I.?-?. D. �I�. 
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Q22. As per Haryana annual budget FY2019-20, the total expenditure of the state is planned to 
be INR _____Crores. 

 

A. 89,447 B. 7,84,910 

C. 1,32,166 D. 12,022 

Q22. )=m =}ष 2019-20 �O  :र10?#? �O  
0J9?1, 1?जᱍ0 �? �J ल ?�ष _____ �1K) z+ए �10O �ी 0K�0? :P। 
 

A. 89,447 B. 7,84,910 

C. 1,32,166 D. 12,022 

 

Q23. Who among the following poets is famous as a "humorous poet" and is from Haryana 
state? 

 

A. Surender Sharma B. Dr Kumar Vishwas 

C. Dr Vishnu Saxena D. Vinod Pal 

Q23. )0म⹍0)ल)?? �)=0ो䬂 /O 9O �L0 ":?}0 �)=" �O  z+ /O �)9p :ै䠂 �1 :र10?#? 1?जᱍ0 9O :ै䠂? 
 

A. @I1े䜂्䵖 >/?/ B. )I �I /?1 ==�=?@ 

C. )I ==�+I @कᕍ@O0? D. ==0K. +?ल 

 

Q24. ________ was recognized as state poet of Haryana, at the time of state formation. 
 

A. Sajida Zaidi B. Uday Bhanu 

C. Baje Bhagat D. Gulam Bhik Nairang 

Q24. ________ �K 1?जᱍ0 � 0 �O  9/0 :र10?#? �O  1?जᱍ0 �)= �O  z+ /O /?m0?? .I �� -I। 
 

A. @?��.? �P.I B. �.0 .?0I 

C. -?�O .�, D. �Iल?/ .I� 0?01�� 

 

Q25. Sandesh Weekly Magazine was launched by _____ in Haryana. 
 

A. Kirti Sharma B. Nekiram Sharma 

C. Mohan Bhagvat D. Baje Bhagat 
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Q25. 89m.O>9 9?्䵎?):� +)}�? :र10?#? /O _____ �?1? >Jz �ी �� -I। 
 

A. �I-,/ >/?/ B. 0O�I1?/ >/?/ 

C. /KA0 .?�=, D. -?�O .�, 

 

Q26. Which of the following lakes is present in Gurugram? 
 

A. Badkhal Lake B. Karn Lake 

C. Damdama Lake D. Dhauj Lake 

Q26. )0म⹍0)ल)?? /O 9O �L0 9I �Iल �Jy्䵇?/ /O )}-? :P? 
 

A. -)�ल �Iल B. �+/ �Iल 

C. ././? �Iल D. /L� �Iल 

 

Q27. Which of the following dam is in Haryana? 
 

A. Kaushalya Dam B. Bisalpur Dam 

C. Maithon Dam D. Indira Sagar Dam 

Q27. :र10?#? /O )0म⹍0)ल)?? /O 9O �L0 9? -?
/ :P? 
 

A. �L>ल㉍0? -?�/ B. -I@ल+I1 -?�/ 

C. /P-0 -?�/ D. ��/.1? @?�1 -?�/ 

 

Q28. Which of the following hill ranges is not in Haryana? 
 

A. Aravalli Range B. Morni Hills 

C. Shivalik Hills D. Satpura Range 

Q28. )0म⹍0)ल)?? /O 9O �L0 9I +=ष? श㙍र
?ल? :र10?#? /O 0:K :P? 
 

A. 
1?=लI ्䵦O+I B. /K10I /Aल㉍@ 

C. ;>=?;ल� �I +A?)=0?? D. @,+I=? ्䵦O+I 
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Q29. Which of the following schemes aims to address the issues of child marriage in Haryana? 
 

A. Apni Beti Paraya Dhan B. Apni Beti Apna Dhan 

C. Indira Saheli Yojna D. Parayi Beti Apna Dhan 

Q29. )0म⹍0)ल)?? /O 9O �L0 9I 0K�0? :र10?#? /O -?ल )==?: �O  /Joो䬂 �K 9
-K)/? �10O �? लቌ䲚0 1??I :P? 
 

A. 
+0I -O�I +1?0? /0 B. 
+0I -O�I 
+0? /0 

C. ��/.1? @AOलI 0K�0? D. +1?� -O�I 
+0? /0 

 

Q30. __________ was launched under Digital Haryana Initiate. 
 

A. Atal App B. Saral App 

C. Sewa App D. Good governance app 

Q30. __________ �K )!)��ल :र10?#? +:ल �O  ?:? लQm� )�0? �0? -?। 
 

A. 
�ल �+ B. @1ल �+ 

C. @O=? �+ D. �I) �=0े䜂@ �+ 

 

Q31. Which of the following months is the hottest in Haryana? 
 

A. July B. May 

C. March D. April 

Q31. )0म⹍0 /O 9O �L0 9? /:I0? :र10?#? �? 9-9O �/ष /:I0? :P? 
 

A. �Iल?� B. /� 

C. /?�/ D. 
�Pल 

 

Q32. World Herbal Forest Project has been inaugurated at______. 
 

A. Panchkula B. Ambala 

C. Mahendragarh D. Yamunanagar 
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Q32. )=� :-षल =0 +र10K�0? �? ��?�0 ______ /O )�0? �0? :P। 
 

A. +���I ल? B. 
�-?ल? 

C. /Aे䜂्䵖�? D. 0/I0?0�1 
 

Q33. Stubble burning down in Haryana and adjoining Punjab is a serious threat to air pollution 
during ____ months. 

 

A. March-April B. June-July 

C. October-November D. January-February 

Q33. :र10?#? �1 +
�?- /O __________ �O  .L1?0 �ल0O =?लI ?K�I =?0J �.K}# �O  )लए ए� �
.I1 ??1? :P। 
 

A. /?�/ -
�Pल B. �ू0 -�Iल?� 

C. 
कᕍ�ू-1 - 0=�-1 D. �0=1I- ,1=1I 
 

Q34. ______ university of Haryana was declared the cleanest university in the country for the 
year 2018. 

 

A. Chaudhary Devi Lal University, Sirsa B. Maharshi Dayanand University, Rohtak 

C. Central University of Haryana, Mahendragarh D. Chaudhary Bansi Lal University, Bhiwani 

Q34. _________ :र10?#? �? ए� )=�)=o?ल0 :P, )�9�K =}ष 2018 �O  )लए .O> �? 9-9O }=चᩍ� )=�)=o?ल0  K)}? )�0? �0? :P। 
 

A. �L/1I .O=I ल?ल ==�===द♍0?ल0, ;@1@? B. /A=?/ .0?0�. ==�===द♍0?ल0, 1KA,� 

C. �े䜂 ्䵖I0 ==�===द♍0?ल0 A910?+?, /Aे䜂्䵖�? D. �L/1I -�@Iल?ल ==�===द♍0?ल0, ;.=?0I 
 

Q35. Who among the following poets from Haryana took part in the Bhoodan Movement? 
 

A. Chand Bardai B. Surdas 

C. Banwari Dass D. Bhai Parmanand 

Q35. :र10?#? �O  )0म⹍0)ल)?? �)=0ो䬂 /O 9O )�90O .K.?0 �
.Kल0 /O .?� )ल0?? 
 

A. ��. -1.?� B. @1ू.?@ 

C. -0=?1I .?@ D. .?� +1/?0�. 
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Q36. Criminal/ Illegal transactions in computer or internet world is broadly termed 
as____________. 

 

A. Internet Crime B. Cyber Crime 

C. Computer Aided Crime D. Computer Applied Crime 

Q36. �
 प⩍0K�1 0? �
�10O� �ी .J)00? /O �+1?)/� / 
=P/ लO0.O0 �K /K�O ?L1 +1 _____________ �:? �??? :P| 
 

A. ���10O� ्䵅?�/ B. @?�-1 ्䵅?�/ 

C. �� o0�ू1 �))) ्䵅?�/ D. �� o0�ू1 �oल?�) ्䵅?�/ 

 

Q37. CAD is the acronym for __________. 
 

A. Computer Aided Design B. Computer Analog Design 

C. Computer Applied Design D. Computer Allied Design 

Q37. CAD __________ �O  )लए 9
)?्䵎 0?/ :P। 
 

A. �� o0�ू1 �))) ))ज़?�0 B. �� o0�ू1 �0?लI� ))ज़?�0 

C. �� o0�ू1 �oल?�) ))ज़?�0 D. �� o0�ू1 
ल?�) ))ज़?�0 

 

Q38. Which of the following devices acts as both an Input and an Output device? 
 

A. Mouse B. Joystick 

C. Touchscreen D. Trackball 

Q38. )0म⹍0)ल)?? /O 9O �L0 9? �+�1# �0+J� �1 ���+J� )!=?�9 .K0ो䬂 �O  z+ /O �?0ष �1?? :P? 
 

A. /?�@ B. �I0�}�� 

C. ��}्䵅I0 D. ्䵏P�-Iल 

 

Q39. Which of the following can be an optional part of an email address? 
 

A. Local-part or name of the mailbox/recipient B. Suffix or the last name of the recipient 

C. @ D. Domain Name 
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Q39. )0म⹍0)ल)?? /O 9O ]0? �/Oल +?O �? ए� =P�)ल㉍+� ):}9? :K 9�?? :P? 
 

A. /Oल-Iकᕍ@ / �?o,�,?/ �? }-?0I0-.?� (लK�ल-+?�/) 0? 
0?/ 

B. �m00 0? �?o,�,?/ �? 
�-,/ 0?/ 

C. @ D. )K/O0 �? 0?/ 

 

Q40. Pick the odd one out. 
 

A. Ear B. Leg 

C. Hand D. Tongue 

Q40. ).m0 �K �J0O: 
 

A. �?0 B. �?�� 

C. A?- D. ��m.? 
 

Q41. Bird is to Sky, similarly, Whale is to _________ 
 

A. Lake B. Pond 

C. Ocean D. River 

Q41. )�9 ��?1 +?I ��?> 9O 9-
)/? :P, �9I ��?1 }:Oल ________ 9O 9म⹍-
)/? :P| 
 

A. �Iल B. ,?ल?- 

C. @?�1 D. 0.I 
 

Q42. Complete the series given below. 
243, 228, 213, 198, 183, 168, ___, 138, 123 

 

A. 156 B. 153 

C. 135 D. 165 

Q42. 0I�O .I �� श㙍र
?ल? �K +K1? �1O| 
243, 228, 213, 198, 183, 168, ___, 138, 123 

 

A. 156 B. 153 

C. 135 D. 165 
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Q43. If PROFIT is coded as CEBSVG, how will INTEREST be coded? 
 

A. VZEOAOE B. VAGRERFG 

C. VBHSFSH D. WBHSFGH 

Q43. )�9I 9?
�O )?� .?}? /O 0). PROFIT 9O CEBSVG -0?? :K ?K, INTEREST 9O ]0? -0O�?? 
 

A. VZEOAOE B. VAGRERFG 

C. VBHSFSH D. WBHSFGH 

 

Q44. A number is divided by 7 and the remainder is found to be 5 with 3 as a quotient. The 
number is: 

 

A. 14 B. 26 

C. 32 D. 22 

Q44. ए� 9
_0? �K 7 9O )=.?)�? )�0? �??? :P )�9�? .?�,ल 3 ए=
 
0J}/?1� 5 +?0? �0?। =: 9
_0? ____ :P। 
 

A. 14 B. 26 

C. 32 D. 22 

 

Q45. The cost of 11 books is equal to the selling price of 10 books. At what price was one book 
sold? 

 

A. 13 B. 10 

C. 11 D. 12 

Q45. 11 +J}?�ो䬂 �ी ल?�? 10 +J}?�ो䬂 �O  )=्䵅0 /Kल㉍0 �O  -1?-1 :P। ए� )�??- )�9 /Kल㉍0 +1 -O�I �� :P? 
 

A. 13 B. 10 

C. 11 D. 12 

 

Q46. Find the fourth proportion to the numbers 0.8, 1.6 and 1.6. 
 

A. 3.4 B. 2.6 

C. 2.8 D. 3.2 
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Q46. 9
_0? 0.8, 1.6 �1 1.6 �O  �L-O 
0J+?? �K _?? �1O। 
 

A. 3.4 B. 2.6 

C. 2.8 D. 3.2 

 

Q47. The ratio of two numbers is 25 and the square of their product is 81, then the numbers are: 
 

A. 5/3 and 15 B. 5/9 and 15 

C. 3/5 and 15 D. 9/5 and 15 

Q47. .K 9
_0?� 
 �? 
0J+?? 25 :P �1 �0�O  �J#0 �? =�ष 81 :P। .K0ो䬂 9
_0?ए	 :ै䠂: 
 

A. 5/3 �=� 15 B. 5/9 �=� 15 

C. 3/5 �=� 15 D. 9/5 �=� 15 

 

Q48. Which law states that charge can neither be created nor destroyed, only transferred from 1 
part of a system to another, such that the total amount of charge in the system is constant? 

 

A. Einstein's law B. Coulomb's law 

C. Kirchhoff's law D. Law of conservation of electric charge 

Q48. �L0 9O )00/ /O �:? �0? :P )� �?�ष 0 ?K -0?0? �? 9�?? :P �1 0 :I 0� )�0? �? 9�?? :P, �O =ल )9}�/ �O  ए� ):}9O 9O .K91O /O 
�9 ��?1 }-?0?
?र1? )�0? �? 9�?? :P )� )9}�/ /O �J ल �?�ष �ी 1?)> )}-1 1:O? 

 

A. ���}�I0 �? -00/ B. �ूलम⹍- �? -00/ 

C. ��1�I, �? -00/ D. ==द♍0I, �=O> �O  @�1्䵌+ �? -00/ 

 

Q49. Which of the following statements about the nucleus of an atom and the components is 
INCORRECT? 

 

A. Nucleus is present inside the atom. B. Nucleus is surrounded by cloud of electrons. 

C. Nucleus generally contains both protons and 

neutrons. 

D. Proton carries negative charge and Neutron 

carries positive charge. 
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Q49. +1/?#J �O  0?).� (m0K)]ल09)�1  ��ो䬂 �O  -?1O /O )0म⹍0)ल)?? /O 9O �L0 9? �-0 �ल? :P? 
 

A. +1/?+I �O  
�.1 0?;.� AK,? AP। B. 0?;.� �लOकᕍ्䵏I0ो䬂 �O  -?.ल @O -ि1? AI� AP। 

C. 0?;.� /े䜂 �/ ,L1 +1 �K�I0 �1 m0्ू䵏I0 .K0ो䬂 AK,O Aै䠂। D. �K�I0 �O  +?@ 0�?1?m/� �?�/ AP �1 m0्ू䵏I0 �O  +?@ 

@�?1?m/� �?�/ AP। 
 

Q50. Which of the following is NOT a main part of the neuron? 
 

A. Carcoplasm B. Axon 

C. Dendrites D. Soma 

Q50. )0म⹍0)ल)?? /O 9O �L0 9? m0K1Q0 �? ए� /J_0 ):}9? 0:K :P? 
 

A. �?1�Koल?}/ B. �कᕍ@K0 

C. )Omर?�� D. @K/? 
 

Q51. SWOT analysis shows a person's or organisation's ____, _______, ____ and ________. 
 

A. Success, Wins, Oppositions, Trials B. Strengths, Weaknesses, Opportunities, Threats 

C. Strengths, Weaknesses, Obstructions, Tests D. Succeeds, Worries, Ordeals, Triumph 

Q51. SWOT )=�O}# )�9I }0)ि 0? 9
� 0 �? ____, _______, ____ �1 ________ ).???? :P| 
 

A. @,ल,?, �I,, ==1K/, +1I्䵌+ B. ,?�,, �/ज़K910?�, 
=@1, खᘼ,1O 

C. ,?�,, �/�K1I, y�?=�े䜂, �O}� D. @,ल,?��, ���,?��, �/?0?�0??, ==�0 

 

Q52. ABC Ltd., has created a blueprint that describes the principle of how the company creates, 
delivers, makes money and also defines the how it delivers value to the customer. This 
blueprint is called the company's ________. 

 

A. Business Model B. Business Policies 

C. Business Process D. Business Plan 
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Q52. ABC )ल)/�O!, 0O ए� बⱍलK)�
� ?P0?1 )�0? :P, �K �
 +0I �O  )9p?
? �? =#ष0 �1?? :P )�, �
 +0I �P 9O -0??I :P, )=?र1? �1?I :P, +P9? 
�/??I :P �1 0: .I -???I :P )� 0: ्䵇?:� �K �P 9O /Kल㉍0 �.?0 �1?? :P। �9 बⱍलK)�
� �K �
 +0I �? ________ �:? �??? :P। 

 

A. }0?+?1 /I)ल B. }0?+?1 0I-,0?� 

C. }0?+?1 ��्䵅0? D. }0?+?1 �I 0K�0? 
 

Q53. Match the types of economy to the examples. 

 
 

A. 1-B, 2-C, 3-A, 4-D B. 1-D, 2-B, 3-C, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-A, 2-D, 3-B, 4-C 

Q53. 
-ष}0=}-? �O  ��?1ो䬂 �K �.?:1#ो䬂 9O )/ल?�0O| 

 
 

A. 1-B, 2-C, 3-A, 4-D B. 1-D, 2-B, 3-C, 4-A 

C. 1-C, 2-A, 3-D, 4-B D. 1-A, 2-D, 3-B, 4-C 

 

Q54. Which of the following is NOT a type of Goods and Services Tax (GST)? 
 

A. SGST B. RGST 

C. CGST D. IGST 

Q54. )0म⹍0)ल)?? /O 9O �L0 9?, =}?J �1 9O=? �1(GST) �? ए� ��?1, 0:K :P? 
 

A. SGST B. RGST 

C. CGST D. IGST 
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Q55. Who is the current (as on 1-January-2020) Minister of State for Labour and Employment 
in the Indian Government? 

 

A. Shri Santosh Kumar Gangwar B. Shrimati Smriti Z Irani 

C. Shri Ram Vilas Paswan D. Shri Nitin Gadkari 

Q55. .?1? 91�?1 /O, =?ष/?0 (1-�0=1I-2020 ) 9O, श㙍/ �1 1K��?1 1?जᱍ0 /
}I �L0 :P? 
 

A. ्䵦I @�,K? �I /?1 ���=?1 B. ्䵦I/,I }/-ृ, Z �1?0I 

C. ्䵦I 1?/ ==ल?@ +?@=?0 D. ्䵦I -0-,0 �)�1I 
 

Q56. What are "Masala Bonds"? 
 

A. Indian corporates issue Masala Bonds to raise 

funds from foreign investors. 

B. Indian spice companies issue masala Bonds to 

raise funds from exporters/importers of spices. 

C. Indian investors who reside outside the country 

can invest in spice trading companies in India, 

through Masala Bonds. 

D. Foreign investors who wish to invest in spice 

commodities can invest through Masala Bonds. 

Q56. "/9?ल? -?
!" ]0? :ै䠂? 
 

A. .?1,I0 �I+ो1O�, ==.O>I -0=O>�ो䬂 @O /0 �I�?0O �O  ;ल�, 

/@?ल? -Im) �?1I �1,O Aै䠂। 
B. .?1,I0 /@?ल? �� +-00??, /@?लो䬂 �O  -00?/,�ो䬂 / �0?,�ो䬂 
@O /0 �I�?0O �O  ;ल�, /@?ल? -Im) �?1I �1,I Aै䠂। 

C. .O> �O  -?A1 1A0O =?लO .?1,I0 -0=O>�, /@?ल? -Im) �O  
/?o0/ @O, .?1, /े䜂 /@?ल? ्䵏O)) �� �� +-00ो䬂 /े䜂 -0=O> �1 @�,O 
Aै䠂। 

D. /@?ल? =},I�� �O  /?o0/ @O, -0=O> �10O �I �चᩍ�? 1�0O 
=?लO ==.O>I -0=O>�, /@?ल? -Im) �O  /?o0/ @O -0=O> �1 
@�,O Aै䠂। 

 

Q57. XYZ is a huge Indian infrastructure company. The external auditors appointed to audit the 
financial records of the company are responsible to the ______________. 

 

A. Founders of the company B. Senior Management of the company 

C. Finance Head or the CFO of the company D. Shareholders of the company 

Q57. XYZ ए� )=>?ल .?1?I0 -J)00?.I "?
�? �
 +0I :P। �
 +0I �O  )=mI0 
).लO?ो䬂 �O  ऑ)!� �O  )लए )00Jि -?:1I लO?? +1I?� 

______________ �O  )लए )�म⹍/O.?1 :K?O :ै䠂। 
 

A. �� +0I �O  @�}-?+� B. �� +0I �O  =91�? �-�/� 
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C. �� +0I �? ==्䵈 �/I� 0? CFO D. �� +0I �O  >O01/?1� 

 
 
 
 
 

Q58. In which type of audit sampling, the auditor selects a consecutive series of items for 
review? 

 

A. Haphazard Sampling B. Block Sampling 

C. Random Sampling D. Stratified Sampling 

Q58. )�9 ��?1 �O  ऑ)!� 9ै䠂+)ल
� /O, ऑ)!�1 9/I?? �O  )लए, ���म⹍9 �ी ए� )01
?1 श㙍र
?ल? �? �00 �1?? :P? 
 

A. -O,1,I- @Pम⹍+;ल�� B. mलI� @Pम⹍+;ल�� 

C. 0?द♃�चᩍ�� @Pम⹍+;ल�� D. },1I�ृ, @Pम⹍+;ल�� 

 

Q59. Under the New/Revised Standards (Auditing, Review and Others), which of the following 
segments specifies about "Risk Assessment and Response to Assessed Risks"? 

 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

Q59. 0ए / 9
>K)/? /?0�ो䬂 (ऑ)!)�
�, र1}0K �1 
m0) �O  ?:?, )0म⹍0)ल)?? /O 9O �L0 9? 9O�/O�, "र1}� 
9O9/O� ए
! र1}+Qm9 �K 

}9O}9! र1}�" �O  -?1O /O )0).ष� �1?? :P? 

 

A. 200-299 B. 300-499 

C. 500-599 D. 600-699 

 

Q60. The cost of printing the price list and catalogue is classified as: 
 

A. Administration Overhead B. Selling Overhead 

C. Manufacturing Overhead D. Distribution Overhead 

Q60. /Kल㉍0 9K�I �1 �P �OलQ� �K /J)�? �10O �ी ल?�? �K =�I�र ? )�0? �0? :P: 
 

A. �>?@0 �=1AO) B. @O�ल㉍ल�� �=1AO) 

C. -0/?/+ �=1AO) D. ==,1+ �=1AO) 
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Q61. Shreyas runs a solar panel manufacturing unit. Which of the following will be considered 
as indirect cost to the company? 

 

A. Cost of raw materials used in production B. CAD software to design the panel 

C. Salary of Material Handling Staff D. Salary of the assembly-line engineer 

Q61. श㙍O09 ए� 9Kल?1 +P0ल )0/?ष# 0K)0� �ल??? :P। )0म⹍0)ल)?? /O 9O �L0 9?, �
 +0I �O  )लए, 
�m0? ल?�? /?0? �?ए�?? 
 

A. �m+?.0 /े䜂 �0Iकᕍ, �चᩍ�O /?ल �I ल?�, B. +P0ल �K ))�?�0 �10O �O  ;ल� CAD @Io�=O01 

C. @?/्䵇I Aै䠂);ल�� }�?, �? =O,0 D. 
@े䜂-लI-ल?�0 ���I-001 �? =O,0 

 

Q62. The revenue of XYZ Company during 2019-2020 is Rs. 50 lakhs. The cost of goods sold 
was Rs. 20 lakhs. What is the gross profit margin of the company? 

 

A. 166% B. 140% 

C. 95% D. 60% 

Q62. 2019-2020 �O  .L1?0 XYZ �
 +0I �? 1?�}= y 50 ल?? :P। -O�O �ए 9?/?0 �ी �ी/? y 20 ल?? :P | �
 +0I �? 9�ल ल?. 

/?)�ष0 ]0? :P? 
 

A. 166% B. 140% 

C. 95% D. 60% 

 

Q63. Which of these is an example of "direct marketing"? 
 

A. Telemarketing B. Placing an update about the brand in a 

newspaper 

C. Giving away free / discount coupons D. Creating blogs about the product 

Q63. �0/O 9O �L0 9? "!?01O]� /?�O )�
� " �? ए� �.?:1# :P? 
 

A. �OलI/?�े/��� B. �� 
�-?1 /े䜂 m?�) �O  -?1O /े䜂 �� 
द♍0,0 1�0? 

C. /Io, / �ू� �ू+0 .O0? D. �m+?. �O  -?1O /े䜂 mलI� ;ल�0? 
 

Q64. Which of the following factors influences consumer behaviour? 
A. Marketing factors such as design of the product and price 
B. Personal factor such as education, income level 
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C. Social factors such as family members and friends 
 

A. A and B B. B and C 

C. A and C D. A, B and C 

 

 

Q64. )0म⹍0)ल)?? /O 9O �L0 9? �?1� �+.Kि? }0=:?1 �K �.?)=? �1?? :P? 

A. /?�O )�
� �?1� �P9O �m+?. �? )!�?�0 �1 �ी/? 
B. }0)ि�? �?1� �P9O )>??, �0 }?1 
C. 9?/?)�� �?1� �P9O +र1=?1 �O  9.}0 �1 )/} 

 

A. A �1 B B. B �1 C 

C. A �1 C D. A, B �1 C 

 

Q65. In the new Product Development cycle, after developing the concept, what should you do? 
 

A. Develop the business strategy B. Analyse the market share 

C. Develop the product D. Develop the Concept 

Q65. 0ए �m+?. )=�?9 �्䵅 /O, 
=/?1#? )=�)9? �10O �O  -?., �+�K ]0? �10? �?):ए? 
 

A. }0?+?1 1+0I-, ==�;@, �1े䜂 B. -?�?1 /A}@O.?1I �? ==�लO?+ �1े䜂 

C. �m+?. ==�;@, �1े䜂 D. 
=/?1+? ==�;@, �1े䜂 
 

Q66. A salaried employee can claim exemption on leave travel allowance (LTA) under the 
Income Tax Act, 1961. The individual can claim LTA ________. 

 

A. Twice in a block of four years B. Once in a year 

C. Twice in a block of three years D. Thrice in a block of four years 

Q66. ए� =O?0.K�I �/ष�?1I, �0�1 
)/)00/ 1961 �O  ?:?, �J ्䴾I 0?}? .m? (LTA) +1 �K � �? .?=?�1 9�?? :P। }0)ि 

एल.�I.ए(LTA) ________ �? .?=? �1 9�?? :P। 
 

A. �?1 @?ल �O  mलI� /े䜂 .K -?1 B. @?ल /े䜂 �� -?1 

C. ,I0 @?ल �O  mलI� /े䜂 .K -?1 D. �?1 @?ल �O  mलI� /े䜂 ,I0 -?1 
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Q67. Arun took an education loan from a bank for pursuing higher studies. He would avail a 
deduction for interest on education loan under ______ section of Income Tax Act. 

 

A. 80C B. 80E 

C. 87D D. 87A 

 

Q67. �चᩍ� 
o000 �O  )लए 
y# 0O ए� -ै䠂� 9O )>?? ऋ# )ल0?। =: �0�1 
)/)00/ �ी /?1? ______ �O  ?:? )>?? ऋ# +1 बⱍ0?� 

/O ��L?I �? ल?. � ?ए�?| 
 

A. 80C B. 80E 

C. 87D D. 87A 

 

Q68. Ravi owns a house in Faridabad and his family resides in this house. How much 
deductions can Ravi claim on his home loan interest? 

 

A. Up to Rs 2.5 lakhs B. Up to Rs 1.5 lakhs 

C. Up to Rs 2 lakhs D. Up to Rs 1 lakh 

Q68. 1)= ,1I.?-?. /O ए�  1 �? /?)ल� :P �1 �9�? +र1=?1 �9  1 /O 1:?? :P। 1)= 
+0O :K/ लK0 �O  बⱍ0?� +1 )�?0I ��L?I +? 9�?? 
:P? 

 

A. y 2.5 lakhs ,� B. y 1.5 lakhs ,� 

C. y 2 lakhs ,� D. y 1 lakh ,� 

 

Q69. The mean of 10 observations is 20. If one of the observations, which was 25, is replaced 
by 50, then what is the resulting mean? 

 

A. 25 B. 20 

C. 22.5 D. 21.5 

Q69. 10 )�प⩍+)#0ो䬂 �? �9? /Kल㉍0 20 :P। 0). )�प⩍+)#0ो䬂 /O 9O ए�, �K 25 -I, 50 �K -.ल ).0? �??? :P, ?K �9�O  +र1#?/}=z+ 
�9? /Kल㉍0 ]0? :K?? :P? 

 

A. 25 B. 20 

C. 22.5 D. 21.5 

 

Q70. Which of the preference shares does not have any maturity date and is very similar to 
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equity? 
 

A. Irredeemable Preference Shares B. Convertible Preference Shares 

C. Accumulating Preference Shares D. Participating Preference Shares 

 

 

 

Q70. =1I0?? >O09ष /O 9O )�9�ी �K� +र1+]=?? )?)- 0:K :P �1 0: �)]=�I �O  9/?0 :P? 
 

A. �11O)I/O-ल �O,1m@ >O01 B. �0=/�/-ल �O,1m@ >O01 

C. �कᕍ0ू/?लO/��� �O,1m@ >O01 D. +?/�/;@+O/��� �O,1m@ >O01 
 

Q71. A garment manufacturer must package the garment before shipping out the products. 
Packaging cost of the garment will be considered as which type of cost in cost accounting? 

 

A. Fixed cost B. Variable cost 

C. Operating cost D. Opportunity cost 

Q71. ए� �+)? )0/?ष?? �K �m+?.ो䬂 �ी )>)+
� 9O +:लO +र1/?0 �K +P�O � �10? �?):ए। +र1/?0 �ी +P�O )�
� ल?�? �K ल?�? लO??
�0 /O, 
)�9 ��?1 �ी ल?�? /?0? �?ए�? :P? 

 

A. -0���, ल?�, B. +91=,/0I0 ल?�, 

C. +91�?ल0 ल?�, D. 
=@1 ल?�, 

 

Q72. Rishi, Dharmit, Samarth, and Advita are having a conversation. Rishi tells Dharmit that he 
owns the scooter parked nearby which actually belongs to Advita. However, Advita 
remains silent. Subsequently, Rishi sells the scooter to Dharmit. Who will get good title to 
the scooter here according to the Sales of Goods Act, 1930? 

 

A. Advita B. Dharmit 

C. Rishi D. Samarth 

Q72. ऋ)}, /)/ष?, 9/-ष �1 
�P? /O -??�I? :K 1:I :P। ऋ)} /)/ष? �K -???? :P )� =: +?9 /O ?)I }�K �1 �? /?)ल� :P, �K =?}?= /O 

�P?�ी :P। :?ल?
)�, 
�P? �J+ :P । �9�O  -?., ऋ)} /)/ष? �K }�K �1 -O�?? :P। 0:?	, 9Oल㉍9 ऑ, �J!M9 ए]�, 1930 �O  
0J9?1 , 9-9O 

चᩍ�? }�K �1 �? >I}ष�, )�9O )/लO�?? 

 

A. 
द♍=P, B. /;//, 
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C. ऋ=? D. @/-/ 
 
 
 
 
 

Q73. You pick up a parcel on behalf of your neighbour and agree to hold on to it for her. Which 
type of delivery is this? 

 

A. Dependent delivery B. Symbolic delivery 

C. Actual delivery D. Constructive delivery 

Q73. �+ 
+0O +)K9I �ी �1 9O ए� +?9षल � ??O :ै䠂 �1 �9�O  )लए �9O /?1# �10O �O  )लए 9:/? :K?O :ै䠂। 0: )�9 ��?1 �ी )!लI=1I 
:P? 

 

A. ��्䵦, ))लI=1I B. �,I�?m/� ))लI=1I 

C. =?},==� ))लI=1I D. 1�0?m/� ))लI=1I 
 

Q74. The marks of 10 students in mathematics are 56, 78, 30, 89, 96, 54, 77, 63, 44 and 81. 
What is the median for the given data? 

 

A. 63 B. 70 

C. 77 D. 78 

Q74. �)#? /O 10 �?}ो䬂 �O  

� 56, 78, 30, 89, 96, 54, 77, 63, 44 �1 81 :ै䠂। ).ए �ए �
�)ो䬂 �O  )लए /?)o0�? ]0? :P? 
 

A. 63 B. 70 

C. 77 D. 78 

 

Q75. In a cricket team, the number of wickets taken by 5 bowlers in a series is 9, 5, 11, 7 and 8. 
Calculate the Standard deviation for the given data. 

 

A. 5 B. 4 

C. 3 D. 2 

Q75. ए� )्䵅�O � �I/ /O, ए� श㙍र
?ल? /O 5 �O.-?�ो䬂 �?1? )लए �ए )=�O �ो䬂 �ी 9
_0? 9, 5, 11, 7 �1 8 :P। ).ए �ए �
�)ो䬂 �O  )लए /?0� 
)=�ल0 �ी �#0? �1O। 

 

A. 5 B. 4 
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C. 3 D. 2 

 

 

 

 

 

Q76. What is "Bank Rate"? 
 

A. Percentage of funds that banks have to 

maintain with the Reserve Bank of India at all 

times. 

B. Percentage of funds that a commercial bank 

needs to preserve in the form of cash, or gold or 

government authorized securities before providing 

credit to their own customers. 

C. Percentage charged by the Reserve bank of 

India for lending funds to commercial banks. 

D. Percentage at which banks borrow money from 

the RBI by selling their surplus government 

securities to RBI. 

Q76. "-ै䠂� .1" ]0? :P? 
 

A. /0 �? �-,>,, �K -ै䠂�ो䬂 �K A1 @/0 .?1,I0 91�=/ -ै䠂� �O  
+?@, -0?� 1�0? AK,? AP। 

B. �0 ,� ड⅍@ �? �-,>,, �K �� =?++�य0� -ै䠂� �K 
+0O 
}=0� �O  ्䵇?A�ो䬂 �K ऋ+ �.?0 �10O @O +AलO 0�.I, 0? @K0? 0? 
@1�?1 द♍=?1? 
�/�ृ, �-,.-ू,0ो䬂 �O  z+ /े䜂, @�1्䵌्䵌, �10O �I 
�=�0�,? AK,I AP। 

C. =?++�य0� -ै䠂�ो䬂 �K /0 .O0O �O  ;ल� .?1,I0 91ज़=/ -ै䠂� 

द♍=?1? ल�?0? �0? �-,>,। 
D. �-,>,, ��@ +1 -ै䠂� 
+0I 
�/>O? @1�?1I �-,.-ू,0ो䬂 
�K RBI �K -O��1, RBI @O /0 लO,O Aै䠂। 

 

Q77. The rate at which Reserve bank of India borrows money from commercial banks is called: 
 

A. Repo Rate B. Reverse repo Rate 

C. Marginal Standing Facility Rate D. Bank Rate 

Q77. .?1?I0 र1�=ष -ै䠂� )�9 .1 +1 =?)#)जᱍ0� -ै䠂�ो䬂 9O +P9? �/?1 लO?? :P �9O �:? �??? :P: 
 

A. 1O+K .1 B. 91=@/ 1O+K 1O� 

C. @I/?�, }-?0I @I==/? .1 D. -ै䠂� .1 
 

Q78. Total expenditure minus Total receipts excluding borrowings is: 
 

A. Fiscal Deficit B. Revenue Deficit 

C. Primary Deficit D. Budget Deficit 
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Q78. �J ल }00 9Jo0? 9O �J ल �?)्䵎0?
, ऋ# ऋ#ो䬂 �K �K)�1________ :P| 
 

A. �,}�ल )O�,;@� B. 1O=Om0ू )O�,;@� 

C. �?�/1I )O�,;@� D. -�� )O�,;@� 

 

Q79. Which of the following information is shown in a single-column cash book? 
1. Information about purchase or sales discounts 
2. Cash receipts 
3. Payments of cash 
4. Details about bank transaction 

 

A. 1, 3 B. 2, 3 

C. 1, 2 D. 3, 4 

Q79. )0म⹍0)ल)?? /O 9O �L0 9I �?0�?1I ए�ल-}?
. 0�. +J}?� /O ).??� �� :P? 

1. ?1I. 0? )-्䵅ी �K � �O  -?1O /O �?0�?1I 
2. 0�. �?)्䵎 
3. 0�. .J�??0 
4. -ै䠂� लO0.O0 �O  -?1O /O )==1# 

 

A. 1, 3 B. 2, 3 

C. 1, 2 D. 3, 4 

 

Q80. Which of the following is an incorrect statement according to the golden rule of 
accounting? 

 

A. Asset accounts are debited when they are 

increasing. 

B. Expenses accounts are credited when they are 

increasing. 

C. Liability accounts are credited when they are 

increasing. 

D. Income accounts are credited when they are 

increasing. 

Q80. लO??
�0 �O  9J0:1O )00/ �O  
0J9?1 )0म⹍0)ल)?? /O 9O �L0 9? ए� गल- क.0 :P? 
 

A. �- =O -? 1AO Aै䠂, ,K �@O� �?,ो䬂 �K. )O--� ��0? �?,? AP। B. �- =O -? 1AO Aै䠂, ,K }00 �?,ो䬂 �K �/? ��0? �?,? AP। 

C. �- =O -? 1AO Aै䠂 ,K .O0,? �?,ो䬂 �K �/? /.0? �?,? AP। D. �- =O -? 1AO Aै䠂 ,K �0 �?,ो䬂 �K �/? ��0? �?,? AP। 
 

Q81. Which amongst the following is NOT true for equity shares? 
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A. Equity shares receive dividend after preference 

shares. 

B. Equity shareholders have voting rights in all the 

circumstances. 

C. Rate of dividend is proposed by the board of 

directors every year. 

D. Equity shares are convertible. 

 

 

 

Q81. �)]=�I >O09ष �O  )लए )0म⹍0)ल)?? /O 9O �L0 9? 9:I 0:K :P? 
 

A. =1I0,? >O0@/ �O  -?. ��कᕍ=�I >O0@/ �K ल?.?�> �?o, AK,? 
AP। 

B. ��कᕍ=�I >O01/?1�ो䬂 �K @.I +91�}--,0ो䬂 /े䜂 /,.?0 �? 

�/�?1 Aै䠂। 

C. �-, =?/ -0.O>� /�)ल द♍=?1? ल?.?�> �I .1 �},?==, �I 
�?,I AP। 

D. ��कᕍ=�I >O0@/ +91=,/0I0 Aै䠂। 

 

Q82. Which type of bonds has a fixed coupon and a defined maturity and is usually issued and 
redeemed at the face value? 

 

A. Floating rate bonds B. Plain vanilla bonds 

C. Zero coupon bonds D. Deferred coupon bonds 

Q82. )�9 ��?1 �O  -Qm! /O ए� )0)ि? �K +0 �1 ए� +र1.?)}? +र1+]=?? :K?I :P �1 �9O �/ ?L1 +1 

)�? /Kल㉍0 +1 �?1I )�0? �??? 
:P �1 .J0?0? �??? :P? 

 

A. oलK/��� 1O� -Im) B. @?.? =O-0ल? -?�) 

C. >mू0 �ू+0 -?�) D. �}-��, �ू+0 -?�) 
 

Q83. Which type of proposals may be accepted or rejected on the basis of a minimum return on 
investment required? 

 

A. Dependent proposals B. Independent proposals 

C. Contingent proposals D. Mutually exclusive proposals 

Q83. �=�0� )0=O> +1 m0K0?/ र1�0ष �O  �/?1 +1 )�9 ��?1 �O  �}??=ो䬂 �K }=I�?1 0? 
}=I�?1 )�0? �? 9�?? :P? 
 

A. ��्䵦, �},?= B. }=,�्䵔 �},?= 

C. ���}/� �},?= D. +?1}+91� z+ @O 
0m0 �},?= 

 

Q84. Which of the following is NOT a source of owned capital? 
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A. Convertible debentures B. Financial institutions 

C. Venture fund D. Retained earnings 

 

 

Q84. )0म⹍0)ल)?? /O 9O �L0 }=?)/m= =?लI +K
�I �? ्䵨K? 0:K :P? 
 

A. +91=,/0I0 ))-े䜂�1 B. ==्䵈I0 @�}-?� 

C. =े䜂�1 ,� ) D. �-,/?91, �/?� 
 

Q85. What type of information is communicated through "grapevine channel"? 
 

A. Very important information that cannot be 

written down 

B. Opinions, sometimes false information and 

rumours 

C. Secretive information about factory strikes and 

job cuts 

D. Performance related information that is passed 

down the line of communication 

Q85. "्䵇O+}:?�0 �P0ल" �O  /?o0/ 9O )�9 ��?1 �ी 9K�0? �? 9
�?1 )�0? �??? :P? 
 

A. -AI, /Am=++ू/ �?0�?1I �K 0AI� ;ल�I �? @�,I B. 1?0, �.I-�.I �ल, @�ू0? �1 
,=?Aे䜂 

C. ,P कᕍ�1I A/लो䬂 �1 0L�1I /े䜂 ��L,I �O  -?1O /े䜂 �Io, �?0�?1I D. �.>/0 @�-�/I �?0�?1I �K @��?1 �I 1O�? @O 0I�O +?91, �I 
�?,I AP 

 

Q86. A sales executive interacts with its team leader as well as with the manager. This is 
_______ type of formal communication network. 

 

A. chain B. free flow 

C. wheel D. inverted V 

Q86. ए� 9Oल㉍9 ए_�I]0K)�= 
+0O �I/ लI!1 �O  9?--9?- /P0O�1 9O .I -??�I? �1?? :P। 0: �+�?र1� 9
�?1 0O�=�ष  �? _______ 

��?1 :P| 
 

A. �P0 B. �I oलK 

C. }AIल D. �0=�े) V 

 

Q87. Which of the following is NOT an advantage of using video conferencing facility in 
business organisations? 
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A. Reduces travel time and expenses of 

employees 

B. Improves the possibility for maximum 

participants to attend 

C. Provides maximum personal connection D. Improves communication and hence increases 

productivity 

Q87. )0म⹍0)ल)?? /O 9O �L0, }0?=9?)0� 9
� 0ो䬂 /O =I)!0K �QmरO )9
� 9J)=/? �? �+0K� �10O �? ल?. 0:K :P? 
 

A. �//�?910ो䬂 �? 0?्䵔? @/0 �1 ��/ �/ �1,? AP B. 
�/�,/ �-,.?��0ो䬂 �O  .?� लO0O �I @�.?=0? /े䜂 @I/?1 
�1,? AP 

C. 
�/�,/ }0�कᕍ,�, �0Oकᕍ>0 �.?0 �1,? AP D. @��?1 /े䜂 @I/?1 �1,? AP �1 �@;ल� �m+?.�,? -??,? AP 
 

Q88. Which of the following policy is laid by Reserve Bank of India (RBI)? 
 

A. Monetary policy B. Fiscal policy 

C. Industrial policy D. Supply side policy 

Q88. )0म⹍0)ल)?? /O 9O �L0 9I 0I)? .?1?I0 र1==ष -ै䠂� (RBI) �?1? 1?I �� :P? 
 

A. /L/्䵖� 0I-, B. 1?��K?I0 0I-, 

C. �द♍0K��� 0I-, D. �+-ू,/ +्䵌 �I 0I-, 

 

Q89. A consumer claims 95 lakh rupees, under Consumer Protection Act, 1986. This dispute 
will be filed under _____________. 

 

A. District consumer dispute redressal forum B. Civil consumer dispute redressal commission 

C. State consumer dispute redressal commission D. National consumer dispute redressal 

commission 

Q89. �+.Kि? 9
1?# 
)/)00/, 1986 �O  ?:? ए� �+.Kि? 95 ल?? y+0O �? .?=? �1?? :P। 0: )==?. _____________ �O  
?:? .?01 )�0? �?ए�?। 

 

A. ��ल? �+.Kकᕍ,? ===?. -0=?1+ ,K1/ B. 0?�91� �+.Kकᕍ,? ===?. -0=?1+ �0K� 

C. 1?य0 �+.Kकᕍ,? ===?. -0=?1+ �0K� D. 1?�्䵏I0 �+.Kकᕍ,? ===?. -0=?1+ �0K� 

 

Q90. Aviation industry is the example of which pricing method? 
 

A. Markup pricing method B. Value pricing method 

C. Demand based pricing method D. Competition based pricing method 
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Q90. )=/?00 �oK� )�9 /Kल㉍0 +p)? �? �.?:1# :P? 
 

A. /?�/ 
+ /लू㉍0 -0/?/1+ ==�/ B. /लू㉍0 /लू㉍0 -0/?/1+ ==�/ 

C. /?�� �/?91, /लू㉍0 -0/?/1+ ==�/ D. �-,0K��,? �/?91, /लू㉍0 -0/?/1+ ==�/ 
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